EEEEESSEEEESE

ACTUATORS

B OOOO0OOOODO (i, 6070 0 O
B OOOOD (i, 6710 00O
B OOOOD e 6710 00O

605




gooooooo goooocooo

cBYy14000000onoonog

ooooao

DANFOSSOOO00000000

RNOOOO

goooocooon

606 goooooo




Qoooooo omoomog | 9990000 00000000000 00000 00O
MPa mm ooao

35 320 400 500 630 800J 1000] 1250 160 611

7 320 400 500 630 800] 1000] 12507 1400 1500 160

noooooon 14 18001 20001 22007 250 621

21 4001 500 630 800J 1000 1250 14000 160 643

000000 o ol 35 320 400 500 6300 80 s

oooooooo ‘ ‘ 70 14 3200 400 5000 6301 800J 10001 125
ceyu0ooooooooo | [ H-FE- 14 3201 400 5001 6307 8001 100 660
ooooooooooog | [ EH-BES- 3507 200 250 30 670

gobooboo

607



odogooobobooobo

= 000 » JO0O00O0OOobDLAODOODOOoDon

e OO LAO0ODDDOO0O0320100000000000000®00
goooooooobooobooooboooo 0O0000000000000000D0000000000
gooooooooooooooooooooooOooooon ooooooooooooooood
gooo gooodboooooooooobooobooooooobooon

oooooo IsovG320 00460 00000000000
gobooooooooooboboooboooobooo

f
0ooo0oooo ‘@2 }4@»DDD / ,0ooo
R¢ a"0000OPT a" O
000O0D0°| 00000000000000000000 - ] e a

000MO00000M0O000000000 Eiﬂglffﬁg”’

0ooo

@ ed O

000000 FIO0DODDOO0OO0ODODOOOO 2\ | <
= I\ | P To o
00000000000W/000000000 b i o
0ooooon : ® :
00000000 /// Sonhd
0035MPa0 0000000000000 00O0O0O0DO0O0 /?Qggm”mnf
OooooooO0o0oon
« CJT 35
e O00OODO
0000000200400 mm%/s00 0010006000000 0 oooooo a o ‘ . h ;
000000000000000
32 174 ] 20 | 30 | 16 | 27 | M8
. ooooooooooo 40 3/8 | 25 | 30 | 18 | 31 | m10
0000000000000000000000000000 50 3/8 | 25 | 30 | 22 | 37 | MIO
0000000000000 00NAS 16381120 00000 0 63 3/8 | 26 | 30 | 22 | 38 | MIO
000025y mO0000000000000000000 80 /2 | 28 | 40 | 25 | 47 | MI2
100 172 | 34 | 40 | 34 | 57 [ mi6
e CJT 70/140
s 0000
«00000000000000 pooooo a e f g h j
« 000000000000 00D00D0OO0 2 78 | 2% | 30 | 22 | 3 | Mo
00000000000000000000 40 a8 | 27 | 30 | 2a | 375] m10
vooooooooonoooo 50 1/2 | 33 40 29 45 | M12
ooooooooo 63 172 | 36 40 35 50 | M16
uooooooood 80 3/4 | 40 42 41 60 | M16
oodo 100 3/4 | 46 42 47 71 | M20
ooo
e CJT 210
= 0000 oooooo a e f g h j
i I ——— 40 3/8 | 26 | 30 | 25 | 42 | M10
50 172 | 30 | 40 | 32 | 55 | M2
oo ooo ooo oooo 63 172 | 38 40 4 63 | M16
. boovosy |l eale s s
o oooooooo
00000000 000000000000000000000000000000
FE
Fy oooooooo gooooooo
oooooo0o
0ooo
FB 0000oooo
D 0ooooo00o
0ooooo0o
FF 0ooo0ooo

LA
LB

CA

CB oboogiocommiOO0O0000000000000000O0

608 gooooooon




googoon

= 0000

Do0ooooo0ooOooo0ooooooolomm/s0O0O0
g0@mooooobooOooooooDio200000o000on
goooooooooboobooobObOOO0O0oO0oooooooboboo

g 4
=9

goooooooooooOooooOoOoOoOOOOOOOO

gooocooooo

goooooooooooooooooOooOoOooOOooOooOoOoon
\DI:IEIEIEIEIEI

g 4
E)

o0ooo0ooO0oOO0o0OCcO0OOO0oO0OOO0O0OCcOOOoO0oOOaon

ooo

goooooooooooooooooOooOoOooOOooOooOoOoon
\DEIEIEIEIEIEI

/

gooooooobooOooooooooooooOoOooooo
gboooooooooooboooooo

e CJT 35

oooooo
3.40 3.8 Nm
o CJT 70/1400000000 320100
e CJT 210
oooooo
305Nm

e CJT 70/1400000000 12500

oooooo
305Nm

= OJ0O0O0Og

goooooooooOoOoooooOoOoOoooooOoOobOoOooobo
gooooooooooobooooooboooo

oooooooooooooooodosmmbooooooon
gooobooOooooOoOooOooOoOoOoboOoO0OoObOOooon

ooo

goobooooooo0o0o0oobooO0O000oO¢0b00ODbOo
gooooooooooooooooooooon

e CIJT 35000

oooooooo

=
7L
0ooooO mm 00000000000 L mm
320 63 16
800 125 20
160 23
e CJT 70/140000
L
oooooooo ¢
=
L
oooooo opooog 00000000
mm ooooooL oooooée
32,40 23 13
50,63 25 13
800 220 30 13
250 35 8 J
e CJT 210000 O
L i
oooooooad
£ 0
O
<= 0
1}217_, O
O
=

Oooooon nooog | |000o000o0o -
mm 0oooooL ooooao g

400 63 20 10

80 00160 25 10

gooooooon

L oooooo* 40

goooooooooooooooooo

609



= JO0O00oOoogoon s JO0O00O00OOooo
gimoooooooooboooooooobooboooboo goooooooooOoOoooooOoOoOo0ooooOobOoOooobo
goooooooo gooo
0200000000000000000000001/400000 e OJODODO......... 0oooooooooooooooooo
gobooooooooOoooboOoOooboOoOoOooOobOoOooon goooooooo
gobooooooooooooboOoooobooOoOooObOoOooo 0oo0ooooooooooooooooo
goooooooooooOoO0oOooOooobooooooo goooooooooooooOoooooo
Oo3mooooooooooooooooooo ooooooooooooooooooo

gboodobomooobooooobooOoooo
o O0OOOOO..00000O0O0O0O0O0O0O0O0O0O0O0O0OO

f = ~ 00000000000000000
000000000 000000000000000000 e 000 ... 0000000000000000000
0ooooooooooo 0000000000000000000

ooooo

goooooooooooooooooooOoooboooooo
\DDI:II:IEIEIEI

a2 4
=89

O000O0000000000005 mm/s0O000O00O0O
gooooooooooooooo

goooOoocO0OO0oOOCcOoOO0OOOOcOOOOOOoOOooOon
oooooooo0o0ooO0ooooooooooooooan

ooo
\ )
e CJT 35
0oooooooo oooooo
i 130000
0oooo e |
;L_J 0Q
|
e CJT 70/140
Doooooooo oooooo
ooooo oooooo

oo

e CJT 210

0000000

oooooao
sfsfsfsfsfsfsfs]s; ?77 40000
goooOoad N1
_ [ _J_ﬂ

'

610 gooooooon



googoon

3.5MPal O0OUOOOOONO

"CJT 3.5 MPa" Series Hydraulic Cylinders

YUREND 35 MPaO 000000000000 000000000000000
gooooooooooboboOooooooobOoOoOoooooooDooo
gooooooooooooooobObObOO0ob0Oo0ooooboobOOoOoOoooooooo
gobooooooooooooboboboooooobooo0oo0omoboooes3tonn
ooooooom

e JOOOOOODODDO
e JOOOOOODODDOOOOOOOO

35MPallO0O0O0OOOOOOOOOOOOOOO0O0

3sMpPalOOOOOO0O0O0O0OOOOOOOOOOOODOODOOODOODBDOO
gobolo-200000000000OO0OOOOOOOOOOOOOOOOOOOO
goooooOoOoOoOoOoOoOoOoooooooooOoOooo

m O0O00
OO0O0O0aDo CIT3500 00000000020
oooooam | momes
Jisoooono
ODO0DQoOOoOaD SDOLAOLBOFAOFBOCACOCBOTAOTC
ooooooao@t 3.5 MPa
oooooaot 4.5 MPa
o o o o ot 5.0 MPa
O 0O0OOOGOOD 0.1 MPa
O 0OO0OOOGOD 300 mm/s
O 0O 0O 0 0O O 8 mm/s
32 800
» 00O0COOOOTCOO
7 40 1000 DO000000000O
ooooooo ZDDDDDD 5000 63 1200
o % 1600 EIIZIFmEIIEIEI DDDrEmEIEIEI
100 1600 3200 400 50 2
1250 160 1800 63 4
EEEEEELE nooo 80 6
100 11
OO0O0oO0O0ooooon JIS B 021106g 20 O 1250 160 8 J
O0O0OOOOD O 100 O 8001
e 1000000000000 DD0O0O0 . ooooooooo |\3/”:)5
ooooo a
EJI][I[IEIDDDDDDDDDDDDDDlOOmmEIDDDD[IEIxT JoooO 000 0
mm mm
000000000000000100mmO0000000000000000000 — 0
00D000000000000000000000000000 10000 0 0
1000 00 2500 O nLo
01000000000000060000000000000 — O
02000000000000000000000000000 250000 63000 0 O
O00000000000613000000000000 6300 0 O 10000 O S E
100001 0 0 160001 O 08 0
160001 0 [0 20000 O e 0

35 MPall OOOO00OO0OOO0

611



612

= JOoOoooooon

CJT35 0LB 32 S 1100 B OA B D 0K 020
] ] | 0 ] | L 01 02 ]
0
O O 0 0 O O o g O o 0
O 0 0 oo O O
O 0 | 0 oOd O |
O o O ot o
0 o !0 0 a u]
O O O U go O
0 0 0 o0 0 oig g a 0
0O 0 mm 0 mm O O 0O 0O [} 0
B BOO DO000000000 egooooon
g 0000 0000000000000
0 Oooo AOO BOO DOO oosooon
B oooo 0 O O
0 00000000 mo0mOoopeooonoon
B 000000000000 1300
0 BOO AOD! ADQ ooog
U rROO 0 o |
SD,LA O
' 32, 40 HOOOODOO
CJT350 LB,FA ‘ so | o (0000
3.5 MPall FB.CA 50, 63 0 B 0OooooOo | con con eon UOOO0O0O0O0OOO0OOO?2500 20
' ’ 80,100 | O 0 0 0 oooQ
0oooooon B,TA O
?C' 125160 | O |
0
0 |HOD bod pool cokB0a00000
0 0o . o .
B oooooo
0 L0 1000000
§ NO O
0 Inog 0ooo
O oo
0 00000 MO2000000
0 igg nooo
O
1. 0000000000000000000000000000
00000000000 @EEEILOO0NOD00000nn
0000000000 0@O000000000ono®ooono @ oooo oooo
0O00ooo@eOOoooo 06100 TE————— T
0000000000000000000000000000 @ 4-— e ® ,,@ ,,,,,,,,,,,, @,
0000000000000000000 oo T0e T Ee=——== 1,3
(2. 0000000000000000000000000000 ©
0000000000000000000000000000
OOFKL
m 0000
ooo ooooo gooooooooo ooo ooooo oooooooooo
sb |oooono ca | BBHOO
010000000
LA | 00000 cg | BOOODOO
oooog 020000000
LB |DO0O0ODDOOO Ta | BHOOOC
0ooooooo
ooooooo oooo
FA
ooooo T I gooooo
rg |00000O0
ooooo

35MPall OOOO0O0O0OO0




googoon

= JOo0oo0oooobooobooooooon

o0 0o oo oo
« 00DDDDODDOODD oo DEICE 00 oo oooo 00

10000000000 n00O0OO0O0000O0O

EEE%ZQ ===}
000000000000000000000000000 s| |io H, s LLO ‘ B,

0000000000 0000L000000000 LAD L
3000000000000000 L0000SOLOLed00 &&= —n
(NN (- 3
00000000S000000000 sl o 2 |FBO S%C}EL’ZEE 2
000000000 50mm00000 2mm00000 TAD - [
LBO E HT T [
00000000000000000000000000 FTEHE—H ]
35MPal0000000000000000000 A 4 i,_;.%.‘ 4
= 00000nO1 SE*JEELSEEF b |rac SCC%[@EEL
00000L0930 —° C ol
00000000000000 P e
LolTJ 4401 6411 108 FAn | &8 Lij@:EL 2 |reo |SFERDRLD|
|
000 00S0LOLod 9300 108 n L
0O0000sO82mm ==,==== A CADO S(j @K
| S |Lo Lo
=] CBO L
sOLOLo

oosooo0oo0oOoddmm

goLoooooooO0dmm
O0Le0O0O0O0DO0OO0O0mMmM
O0oO0O000000O00O0COOOOOOOOOOO0000O

0ooo40
5000 —|
é nlzlﬂ
3000 —} Py
= 100 A
2000— 85 T g0 o no 1
3 163 L~ -
—_ 56 // :
= - 45
1000 —] - n0 4
— R 28
500% 227~ o - A
é A*18 \‘~~ A
E 16 14 ‘~_.__....___<./<.__._____,{/ i /
— L1
300 é 0 p% / )l//
200 — : L // ' L
3 0
- o 4 dl . l
100 — - LA i
L I
] > 1 35
0 |
0 ATl L] podonl LT RN MPa
o 05 1 2 5 1 10 20 50 100 200 0
1
L ! 0000 kN g
mm 1 o [ B T R 1 0
1
\\\N\ \\\ 0
3, NN NN N -
5k NN N\ 0
0 3 !
———————— »—-\__\\__\ \ \ \ \ 0
wea NN A AN
ANERANEAN N\
7 NN NN NN NN
5 § 8 8 8 § § 8

oooo0oO0n0 mm

35 MPall OOOO00OO0OOO0 613



m 000
Oooono oooo oooo oooo O00O0O0D0O0O0OOKN 0010 L/min | 00O 10 mm/s
ogoogo ooo oOoooo ooooo
oooo mm mm cm? 1 MPa 3.5 MPa mm/s L/min
oo 8.0 0.8 2.81 208 0.5
32 16
oo 6.0 0.6 2.11 277 0.4
oo 12.6 1.26 4.40 132 0.8
40 16
oo 10.6 1.06 3.69 157 0.6
oo 19.6 1.96 6.87 85 1.2
50 22
oo 15.8 1.58 5.54 105 0.9
oo 31.2 3.12 10.91 53 1.9
63 22
S oo 27.4 2.74 9.58 61 1.6
oo 50.3 5.03 17.59 33 3.0
80 28
oo 44.1 441 15.44 38 2.6
oo 78.5 7.85 27.49 21 4.7
100 36
oo 68.4 6.84 23.93 24 4.1
oo 122.7 12.27 42.95 14 7.4
125 45
oo 106.8 10.68 37.38 16 6.4
oo 201.0 20.10 70.37 8.3 12.1
160 56
oo 176.4 17.64 61.75 9.4 10.6
sboogo
® 0000000 MO0000®D
‘ Q T c E, L MOOOOOO N, oooooo
‘ R 20000M00000&0 ‘ ooooooo
gL ] L Rt SUOOOPTO 1
N R HE
©) lfJ: — 14 @ ******************** *'@’
- S — SEg
 miEep” o o
© - HilE"D” Fl_ G HOOOOOOo J
4 Uho KoOooooo P
ooooo ‘
000000000 0@I®IEI@eD4I0DN0NC0ON0N0N0N0NONNDNDNOONnO
00000000000 00C0000020MO0000000@ICOOOO0O
00000@EOD0O00O0D0DNEUOND@®U200M0000000
000 kg
oooo ooooo
oooo A B CIDIE|F|IGIH|J|K|LIM|N|IP|Q|R|S|T U KK LL EIZIIZ]DD L00mmO 00
00 | gooo
32 16|M12x 1.25(24|13|15(10(38|30(25|103/34(58|11| 7| 44| 33 ]r]4 8 |M6x 1 36 3 50 15 0.6
40 16|M12x 1.25(24|13|15|10(38|30(25|103/34(58|11| 7| 50| 39 \’tt; 8 |M6x 1 40 0000 50 1.9 0.6
50 22|M18x 1.5 |36(19|15(10|38|30|25(103|34|58|11| 7| 62| 50 ﬁ; 8|M6x 1 45 Too 55| 3.0 0.9
63 22|M18x 15 [36(19|15|10(38|33|25(106/34|61|11| 9| 76| 60 \’t@ 10| M8x 1 45 55 4.1 1.1
80 |28|M24x 2 |48|24(19|16|45|31|32|124/43|67|14|10| 94| 73|, |10|M10x 1.25| 60 U 65| 8.3 1.7
100 36 |M30x 2 60(30(23|16|45(31(32|124|43|67|14|12|114| 89 tlz 12| M12x 1.25| 71 o000 65| 12.6 2.7
125 45| M42x 2 84141|25|20(45|37|32(134/47|73]14]16 138|110 :"]2 12|M16x 1.5 | 80 Too 65| 20.1 3.7
160 56 |M48x 2 96(50|29|25(50|42|38(155/54|84|17[19|178|142 :ﬂ; 12|M20x 1.5 |100 70| 38.3 5.8

614 35MPall OD0O0OOOOOO



googoon

LADODOOO0oOooog

[clcafafafalsls
c_E L MOOOOO0O
R 2000000 obooon
Rt smOoooPTO ooooodo
e —— -
: X _—
<
peo 4 L P © ¥ ]
8 L L
8 —IfilE“D N
w|_x < W —
HefE y vooooog N

o01mooo000oo00o0000000000000000

2DDDDDDD32D100DDDDDDDDDDDDDD@DDD mm
00000000000000000000000000O0O0 000000 |32(40(50
000000000000000000000003205000
00000000MMOOO00000000060800000 MM 5|66
goooooooooooono

000 kg
oooo ooooo
0 ol|A| B |C|D|E|L|MIN|Q|S|T|U|V|W|X|AABBICC| DD [EE|FFIGGKK| LL | 00| oo -
U0 goooo

32 |16|M12x 1.25(24|13|15(34|58|17| 44|ty | 8|35|7310(18| 69| 84| 8| 22030 | 44| 9(142| 36 s |50 18] 06

40 |16|M12x 1.25|24|13|15|34|58|17| 50| ¥ | 8(35/73|10|24| 80|100| 8| 252 33% | 50|12(142| 40 Conpo (%0 21 0s

50 |22|M18x 15 (36]19|15(34|58|17| 62| 3| 8(35|73|10(24| 92[112(12| 3113550 | 62|12(154| 45 Lop 5 %3] o8

63 |22|M18x 15 |36|19|15(34|61|19| 76|35|10|35|76|10|24|108|128(12| 380 3320 | 7612|157| 45 55| 44| 11

80 |28|M24x 2 |48|24|19(43|67|23| 94| 1}, |10|48|82|13(32|128]150( 19| 471 0550 | 94|14(191| 60 R 2

100 [36|M30x 2 |60|30(23|43|67|30|114| 5, |12(57|72|18|27|154(182| 24| 577 3 %e0 |114(18[207| 71 ]

125 |45\Md2x 2 |84|41|25|47|73|38|138| 1 |12|67|70|22(23(189|224| 29 | 691 330 138|22|243| 80 oo 68l2L8] 87

160 |56{M48x 2 |96|50|29|54|84|43(178| 31, |12|78|82|24(26(236(278| 42 | 89 ooy |178(26(280/100 70|416| 58

LBOOODOO4OOoOo
pboOogoogd
® B C E_L MOOOoooo
Q T - 2100000 pooood
Rt ST 0 00 PTO poooooo
: » \ S e = =
N2 I
o stPe @ T
0 \ > ®
g | O o =
= e O
\% 1 1 \% LL
‘W uoooooo w‘ 3.5
‘ ‘ MPa
0
000 kg g
oooon ooooo
o g|A| B |C|D|E[LM[Q|S|T|U|VWX|Y|Z| AA |BB|CCIDD|KK| LL | 00 - - 0
U0lgoooo 0

32 |16|M12x 125|24|13(15(34(58| 44|, | 8149(23|10| 33| 54| 4.5 33+ 0.15| 55| 9[142| 36 s S0 16 06 0

40 |16|M12x 1.25(24|13|15(34|58| 50| ¥} | 8|153|2512| 37| 60| 4.5| 35+ 0.15| 60|12 |142| 40 Cnogll 2t os g

50 |22|M18x 15 |36(19(15(34|58| 62| ¥} | 8|155(26(12| 47| 70| 5.5 41+ 0.15| 72|12 |154| 45 5833 o9 0

63 |22|M18x 15 [36(19|15(34|61| 76| ¥} |10|162|28|12| 56| 80| 5.5/ 48+ 0.15 86|12 |157| 45 55| 46| 11

80 |28|M24x 2 |48|24|19|43|67| 94|, [10(192(34(14| 70| 97| 7.5| 59+ 0.25/106| 14 |191| 60 e 188192 17 E

100 [36|M30x 2 |60|30|23|43|67|114| 5, |12|204|40|18| 89|120| 8.5| 70+ 0.25(127|18|207| 71 oL 88 0] 27

125 |45\M42x 2 |84|41|25|47|73|138| 15, |12|228|47|22| 95|138| 9.5| 86+ 0.25|155| 22|243| 80 o 88223 87

160 |56|M48x 2 |96|50|29|54|84|178| 31, |12|271|58|26|128|178|14.5| 111+ 0.25|200| 26 | 280|100 70|437| 58

35 MPall OOOO00OO0OOO0 615



616

YUREN

FADODODOOOOooDooooo

®
BB FFOODOOOO
“ . cC_,E,_L MOODOOOD
B"hal
5 2000000 gooooa
Rt ST OOOPTO oooooon
1T . ! ik i
— > N|(B) 2 <¢ — @ ———————————————————— — X
offt \ =
| B e L F
B ~TilE“D” s o
© W L L |
419 cC Xoooooo
000 kg
ooon ooooo
o o A B C/ID|IE[{LIM|Q|S|T|W|X|Y|Z|AABB|CCIDD|FF |KK LL HAE 0o 100 MmO O
00 |goooo
32 16|M12x 1.25(24 |13 |15|34 |58 | 44 ]r]4 8110|110| 33| 47| 58| 72| 7|30 (142| 36 /3 50 1.6 0.6
40 16|M12x 1.25(24 |13 |15|34 |58 | 50 ﬂ; 8110|110| 36| 52| 70| 84| 7|30 (142| 40 0000 50 2.0 0.6
50 22|M18x 15 | 36|19 (15|34 |58 | 62 ﬂ; 8110|110| 47| 65| 86/104| 9|34 |154| 45 Too 55 3.2 0.9
63 |22|M18x 1.5 |36 |19 |15|34 |61 | 76|35 |10 |10|115| 56| 76| 98/116| 9|34 |157| 45 55| 4.3 1.1
80 28| M24x 2 48 124119|43|67| 94 tb 10|16 |134| 70| 95/119(143|12|42|191| 60 /4 65 8.9 1.7
100 36 |M30x 2 60|30 (23|43 |67 (114 ]Elz 12 (16 |136| 84|115(140|166| 14 |50 |207| 71 0000 65| 13.3 2.7
125 |45|Md2x 2 |84 |41|25|47|73(138| %}, |12|20|150|110(138|176|212| 18 | 60 |243| 80 — 65| 21.7 3.7
160 |56|M48x 2 |96 |50 | 29|54 |84 [178| %y |12 | 25|174|142|178|225|270| 22 | 72 | 280|100 70| 415 5.8
FBOOOOOOOOOOOOO
®
BB FFOOOOOO
AA C _E, L MOODOOOO
-9 T “B"a L 2000000 W gooooo
\ ‘ \ Rt SUOD0PTO 0000000
» » \ sEEm—— =
o OBl O ] CIEE
- ‘ ‘ N I
S R —
SR T T
—HfilE"D” Xoooooo LL
© 4 CC
000 kg
oooo ooooo
0 o A B CIDIE|LIM|Q|S|TW|X|Y|Z|AABB|CC|FF|KK LL T oo 100 mmO 0O
oo oooo
32 16|M12x 1.25(24|13|15(34|58| 44 ]r:l4 8(10|128| 33| 47| 58| 72| 7 |152| 36 /3 50 17 0.6
40 16|M12x 1.25(24|13|15(34|58| 50 ﬁg 8(10|128| 36| 52| 70| 84| 7 (152| 40 e 50 2.2 0.6
50 22|M18x 15 |36(19(15|34|58| 62 ﬁg 8(10(|128| 47| 65| 86(104| 9 (164| 45 Too 55 &35 0.9
63 22|M18x 1.5 [36]19|15(34|61| 76 ﬂg 10({10|131| 56| 76| 98|116| 9 |167| 45 55 4.7 1.1
80 28| M24x 2 4824|1943 |67| 94 ]ﬂz 10(16|159| 70| 95/119(143]| 12 |207| 60 4 65 10.0 1.7
100 36| M30x 2 60(30(23(43|67|114 th 12|16/163| 84(115/140(166| 14 |223| 71 0000 65 15.0 2.7
125 |45|M42x 2 |84|41|25|47|73|138| 5, |12|20(179|110(138|176|212| 18 [263| 80 S 65| 24.7 3.7
160 56| M48x 2 96/50(29(54|84|178 :ltl4 12(25|209|142|178|225(270| 22 {305({100 70 47.7 5.8

35MPall OD0O0OOOOOO




googoon

CAOO0OO0OOO01000000o0
gooooo
AADDDOOOO DDDDDDD
cC ,E, L MOOOOOO
2000000 E
“B"AL 7 Rt SUO0OOPTO
= R e
s pH e
c
R
~ filED” uoooooo
0000001000 160
000 kg
oooo ooooo
0 EIA B CIDIE|[LIM|Q| S |T|U|VIW X Z | AA|BB|KK LL bod oo 100mmO 0 O
oo oooo
32 |16|/M12x 1.25|24|13|15|34|58| 44|}y | 8]137|17|14| 16 DWO 12/161|12| 36 3 50 1.6 0.6
40  |16|/M12x 1.25|24|13|15|34|58| 50| ¥ | 8]137|17|16] 20 DOOM 14/161|14| 40 R 50 2.1 0.6
50 |22|M18x 1.5 |36/19|15(34(58| 62| ¥ | 8[137|19(16| 20 O, |14|173|14] 45 R 0.9
63 |22|M18x 15 |36|19|15/34|61| 76| ¥} |10/140(19(16| 20 04, |14]176|14| 45 55| 44 11
80 |28(M24x 2 |48|24(19|43|67| 94| 5, (10|175|26(22| 32 0,0, |20[223|20] 60 P L 17
100 |36/M30x 2 |60|30(23|43|67|114| 3, [12]200|32(30| 40 ;... |25|260(25| 71 Cooon L8] 156 27
125 45/ M42x 2 84(41(25(47|73|138 ]Elz 12(226|42|36| 45 DgAlOO 32|310|32| 80 Too 65 25.3 3.7
160 |56|M48x 2 |96|50|29(54|84|178| 3 |12(261|45|42| 50 0., |36]357|36|100 70| 482 5.8
cBOOOOOOOOO200000000
® oooooo
T ., Q oooooo D
c E, L MOODOOOO v x3y "
2000000 RV < -
"Bt Rt smOOOPTO R W ‘ s E
S I N s N
d e —————— O8) © €] {ro0
Al e 4T I
. R T @218 ussiy
_—HHilE"D” uoooooo
©
ICRS)
0000001000 160 MPa
O
000 kg 0
oooo ooooo 0
EII]A B CIDIE|ILIM|Q|S|T|U|V|W|X|Y|Z]|KK LL EJDEDD100mmDDD 0
oo 0ooo
O
32 16 ([M12x 1.25|24 |13 | 15|34 |58 | 44 ]r]4 81137/ 18 | 15|16 | 8| 12| 36 /3 50 1.6 0.6 0
40 16 (M12x 1.25|24 | 13| 15|34 |58 | 50 :tkg 81137/ 18 | 15| 20|12 |14 | 40 Qoooo 50 2.1 0.6 |
50 22 |(M18x 1.5 [ 36|19 | 15|34 |58 | 62 :tb 8(137(19 |17 |20 |16 | 14 | 45 Too 55 3.4 0.9 O
63 22 |M18x 15 [36|19|15|34 |61 | 76 % 10 {1401 19|17 | 20| 16| 14| 45 55 4.7 1.1 0
80 28 |(M24x 2 48 |24 |19 |43 |67 | 94 tlz 10 {175/ 32|23 |32|16| 20| 60 4 65 8.9 1.7 E
100 36 |[M30x 2 60 |30 |23 |43 |67 (114 ]rIIg 12 {200{ 32 |30|40| 20| 25| 71 Qo000 65 13.6 2.7
125 45 |M42x 2 84 |41 |25 |47 |73 (138 ]rIIZ 12 [226] 42 | 36 | 45 |22.5| 32| 80 Too 65 21.8 3.7
160 56 |M48x 2 96 |50 |29 |54 |84 (178 ﬂ; 12 (261] 45|42 |50 | 25| 36 {100 70 40.8 5.8

35 MPall OOOO00OO0OOO0 617



TAUDODODOOOOooDOooooo

® AAD D OO0 0o0oooo
Y “grnL cC_E._L MOODOOOO 0oo0oooo
X_, w X R 7 2000000
\ |, Re sUOOOPTO
B T 0 | ————— il
2] N4
] [ I < . e , L x|
@ >; O ﬁt ! @ s EH
© (eane g = —digo”/ | e o '
|-/y-HQX u NOOODOOO | LL ‘
coooono/ ©

0ooooooon
0000000000000 000000000000000000
00000000000000
s l000ID@IUDDDDUDODODD@IOUDODOODO®©
0000000000000 @oeoou@uoonoooonono

000 kg
oooo Doooo
0 oo | A B C|D|/E|L|M|{N|Q|S|T|U|W|X|Y]|Z]|AA|IKK Ll 40d 99 leommooo
U0 | pooo
32 |16|M12x 1.25|24 [13|15|34|58| 81| 44|}, | 8|44| 44|16 76| 1 |142| 36 U 50| 15 0.6
40 |16 |M12x 1.25| 24 |13 |15|34|58| 81| 50| ¥ | 8|44 | 50|25(100| 1.6 |142| 40 LoLoo 50| 2.1 0.6
50 22 |/M18x 15 [36(19|15|34|58| 81| 62 ﬂ; 844 | 63|25|113|1.6 |154| 45 oo 55| 3.1 0.9
63 22|M18x 15 |36(19|15|34|61| 86| 76 ﬁg 10|44 | 76|25|126| 1.6 |157| 45 b5| 4.2 1.1
80 28 |(M24x 2 48 124119|43|67| 96| 94 \1]2 10|57| 95|25|145|1.6 191| 60 /4 65| 8.4 1.7
100 36 [M30x 2 6030|2343 |67| 98|114 Ez 12161|114|32|178|25(207| 71 J0o0o0o 65| 13.0 2.7
125 45 |M42x 2 84 |41|25|47|73|108|138 Ez 12 |67 (144|136 |216| 2.5(243| 80 Too 65| 20.6 3.7
160 56 |M48x 2 96 |50(29|54|84|124|178 ﬂ 1279|184 |45|274|3 |280|100 70| 39.4 5.8
TCOOOoOoooOooo
®
Y AADDODOO
X w X cC_E. L MOOOOOO oooogo
“B"l 2000000 ooooooo

~~ Rt SUOOOPTO
i

i 2
e 7 © x| \\ R =——— ‘*;li ******* R
X
of B Hlegesi @ (O ® % =]
o | o/ g1 | == SER= . |
S D" s ) o N
0 T R 7 U0 1/200000 ! NO1/200000
©
D000 0kg
oooo
o |Al B [CD|E[LIM| N |Q|S|T| U |v|W|X|Y|Z|AA|BB|KK| LL []D[Eglgﬁrﬁg;’u
Dooo
32 |16|M12x 1.25|24(13(15(34|58| 47 | 44|ty | 8| 78 [30| 55(16] 87[1 [142] 52| 36 50| 1.9 0.6
40 |16|M12x 1.25(24(13(15(34[58| 47 | 50|35 | 8| 78 |30| 63(25/1131.6|142| 59| 40 3Tl 2s 0.6
50 |22|M18x 15 |36(19|1534|58| 47 | 62| %5 | 8| 78 |30| 76|25/126]1.6|154| 71| 45 T 0.9
63 ﬂmwmsmmmwlm5mﬂuom5wswmmmm7%45mDD% 5.1 11
80 |28/M24x 2 |48(24(19(43|67| 57.5 | 94| 5, 10| 95.5 |35(114|25164] 1.6|191|104| 60 65| 10.0 17
100 |36|M30x 2 [60(30|23]43|67| 50.5 |114| 5, |12| 995 |40[140(32|204| 2.5 |207|132| 71 SRR 2.7
125 |45\Ma2x 2 |84|41]25]47|73| 665 |138| Fp 12| 1085 |53 166]36|238| 25 |243]160] 80| | 65| 245 3.7
160 |56|M48x 2 |96|50|29|54|84| 78 |178| ¥ |12| 125 |58|214]45|304| 3 |280|208]100] | 70| 487 5.8

618 35MPall OD0O0OOOOOO



googoon

= JO0O00go

CJT 35

®
T

000000125, 160 I:IEIDDEID‘SODlGO

R —
ﬁk%
G T |

e €
e =

T

imm |

0ooo00 0 0 0 0 0 0 0 0
00000 |ooooo IEHEEE D
oooo 000 | 000 |oooo |oooo| onoo | oooo [Doooloooo
S 000 |[Dooo|ooon EIIZIIZID( JIS B ( JsB nl ooo | gpp (BHBOOOO
000 2401118 { 2401018 Nm
0 U |goooo o 1 1 2 2 1 1 2 4
32 | KSOCJT357 325020 |SDR116| SKY116 | SKY024 |GRS132| 0O s12 | DTI178| wis 73
40 | KSTCJT350 405020 | SDR116| SKY116 | SKYZ30 |GRS140| O s12 | DpTiwns| wis 73
50 | KSOCJT350 50S020 |SDR122| sky122 | skyo4o |GRsis0| O P18 | DTI108| wis 7.3
63 | KSICJT350 635020 |SDR122| SKY122 | SKY053 |GRs163| O P18  |DTO1010] WO10 18
80 | KSICJT350 80S020 |SDR128| SKY128 | sKyo71 | No 80 0 P24 |DTO1010] Wo10 35
100 | KSOCJT3501005020 | SDRI36 | SKYD36 | SKY19001| N1100 0 P28  |DTO1012] WO12 62
125 | KSICJT3501255020 | SDR045 |SKYD45A| SKYD112A| NI125 | G50 P38 |DTO1012] wWo12 150
160 | KS1CJT351160S020 | SDR156 | SKYI56 | SKY1145 | NI160 |  G60 P46  |DTI1012] WO12 300
1. 0000000000000 ooOooooooooooooo 3 000o00oooo® GRS"OOooooooo
000000000000 T4 0000DO0O0DOD NOOOOoOOO0O000
N2 DODOOO0O0O000O0OOOOOOO0O0O00 15 0000O0ODOD SO000000000

goooooooooooooboooooooo

3.5

MPa
O
O
O
O
O
O
O
O
O

35 MPall OOOO00OO0OOO0 619




= 00000
oooogao

00D000000K e 5 KK H| B | cC Dng

‘ ‘ Mi2x 125| 7 | 19 | 219 | 002

| Mi8x 15 | 11 | 27 | 312 | 0.03

5 . M24x 2 | 14 | 36 | 416 | 0.1

M30x 2 | 18 | 46 | 531 | 03

] Ma2x2 | 25 | 65 | 75 | 05

KK L Mdgx 2 | 20 | 75 | 865 | 1.1
oo oooo 00
100000000000000L JEnEl Kk F|cAajcc|cp|cF|ErR|FW| 3 | L | "o
_a 32 |Mi2x 125 25 | 55| 20 | 12 | 24 | 12 | 16 | 6 | 35| 0.2
HERE 40 |Mi2x125| 25 | 60| 20 | 14 | 28 | 12 | 20 | 6 | 40| 0.2
50 |M18x15 | 37 | 64| 18 | 14 | 28 | 14 | 20 | 7 | 46| 02
fen b 63 |Mi8x 15 | 37 | 64| 18 | 14 | 28 | 14 | 20 | 7 | 46| 02
QCDHI R CA 80 |M24x2 | 49 | 100 | 30 | 20 | 38 | 19 | 32| 9| 70| 07
. ke 100 |M30x2 | 61 | 110 | 37 | 25 | 48 | 24 | 40 | 12 | 73| 12
" wf&% - /00 125 |Ma2x2 | 67 | 132 | 40 | 32 | 68 | 32 | 45 | 15 | 92| 31
= 45( 160 |M48x2 | 78 | 150 | 45 | 36 | 78 | 36 | 50 | 19 | 105 | 45

J F

200000000000000O0M

e JODOOD32063 e JODOODS80O 160
ecbfe @CD f8
:
& | | N\—— o [ .
ol = | T w ol 28 ‘ |
&l =g e ] al &g | et
E | R A— E | I
3 2 !
© | =] R — - %—'
3 cC L 5 £C L
0000001250600 0
¢ CD H10 CA J) F |
“ KK’ OO \ e — “« KK 00O
. 45° an s
ER F @CD H10 ER CA ‘

1
gooo oad
oooo KK F CA|CC|CD|CF|ER|CW|FW| CV|CP J L kg

32 M12x 1.25| 25 55 | 20 12 24 | R12 8 16 7 46 0 35 0.2
40 M12x 1.25| 25 60 | 20 14 24 | R12 | 12 20 7 58 0O 40 0.4
50 M18x 1.5 37 64 | 18 14 28 | R14 | 12 20 7 58 [} 46 0.5
63 M18x 1.5 37 64 | 18 14 28 | R14 | 12 20 7 58 0O 46 0.5
80 M24x 2 49 | 100 | 28 20 38 19 | 16 32 7 78 9 72 1.7
100 M30x 2 61 | 110 | 35 25 48 24 | 20 40 7 94 | 12 75 2.9
125 M42x 2 75 | 132 | 40 32 65 351225 45 10 | 105 | 15 92 5.1
160 M48x 2 86 | 150 | 45 36 70 40 | 25 50 10 | 115 | 15 | 105 7.4

620 35MPall OOOO0O0O0OO0




googoon

7/14 MPall 00000 goodg

"CJT 7/14 MPa" Series Hydraulic Cylinders

YURENO OOOOOODOOOOO0O000000000000000000000
gooooooooooobooooooboobooooo
gooooooooooooobooOobObOO0o0OoooooOooObOOOOoOoOooooboo
goooooooooon
gooooooooooooooboooOoobobOOobOOoOoOoboboobOOoOoOoOoOoboOoooboo
goooooooooooobooooooobobooOooooooooooooomao
goe3OopoODOOOOOOm

e JOOOODOODDDO
e JO0OOCOODODDDOOOOOOO
e JOOOOCOOODODOOOOOOOO

7/14aMPaOlOOOOOOOOOOOOOOOOOOO

7/i4MPaD OOOO0O0O0O0OOO0O0O0O0O0OOOO0O0O0O11-2000000
ooooooooooOoOoOoooo

oooooooo
e0OO0O0O0O0OOOOOOOOOOOOOOOOOOOOOO
e00OO0O0O0OO0OOOOOOOODOOCOOOOOOOOOOOOOOODBO

gooooooo
afpoooOooOobooboooooobooboboooooon

Jisooooo
= 0000
ooooo
CEE CJT70 CJT140
900000 | 32014001 5000 6301 8001 1000 12501 1400 e HOOOOOOOOTCOD
15001 1600 1801 2000 22007 250 00000000000
ﬁg',';é',';g";'; SD, LA, LB, FC, 0ooooo 0ooooooo
OO00O0O0aQ00aDo S A D FD, FE, FF, FY, mm mm
FF, FY, CA, CB,
TA. TC CA,CB, TA, TC 320 400 50 15
63 20
ooooooaot MPa 7 14 80 25
Dooooo 9 18 1000125 15
oooooo ! A 15 18 1400 250 0
0000|0000
MPa B 135 18
oooojo O
c 1 14 01.00000000000061000
o oo o ottt MPa 105 21 oooooooooo
02 00000000000000000
00O OO0 0.3 MPall O 000000000
0000000000006250000
afafufsfsls 2 G 400 DOoO00000O
000000 800125 300
03000000000
it 1400 250 200
0o0ooo ooo
0 0 000D mm/s 8 i i
32 1000 —
ooooooo? coooo o 2050 1200 1000 O 0
mm 63,80 1600 1000 0 O 2500 O peo
Lt 2000 2500 00 6300 O L
03
SUSMClR I aunRage SESERES 6300 O 0 10000 O oy
0000000000 JIS B 0211766 20 [ =
0000 oo 5100 0800 10000 0 0 16000 O !
00000000000000000kg 62400 000 16000) 0 0 20000 [J 758

7/14 MPall 00000000 621




= JOoOoooooon

CJT140 OLA ! 125 | B ! 100 B OA B D OE 020
O O O O! O O 5 Dé o 1 O
0 a 0 a 0 | O
. 0 o - 0 oD{B0 0 0
O o g ol O . gi0og |0 O
0 0 0 O O 0 oip0 o O O
O O O O 0 0 0 DD o O O
0 O mm | g ! mm O O'!'Qg g O 0
A
40, 50 f
63, 80 3
SD, LA ’ ] BO
: 100, 125
LB, FA 1140, 150! H oppg  POO00OO00D0O0  ADO0OOO0O0O00O0000O0
CJT700 FB, FC |160, 180 B 000 Al N b poooooooood
7 MParl FD, FE 528' 2200 5 | g} 0000 Siaolo
000ooood  |FF,FY O B o | Hooood g g g g
i}
3 O
CA, CB B 0 QO s 000 |0
A TC O ig 0RO 0!0Op! o |E00ODOOOOOO
S O g! 0ooo 0!00 !0 |F000o0000000000000o
g B 0! 0ooooo | g A{% A OoooosoOoon| 20
32, 40/ 0 |0 B O iog |0 |600000000000000000
50, 63, 0 {0 g! HOO Oo'/'oo!' O oowooooo
SD,LA | 80,100 g E O gmo % % % HIOODODODDOOOOO000O
CJT1400] L8,FC 180160 & {0 0} 000D | SHS 1S BRI
FD,FE 1180 200! ~ |0 O 00 0 |K0ODOOOOOO0EDOOOO0
14 MPal ' c g0 g ooooooog
nooooooo  |feFY 12202500 O NED 0 0 c
CA, CB B 0oooo oo O |L01000000
TA Y TC 0 oo OO U IvMi2000000
0 NO O 0000
01l 0000000000000 00000000000000 (3 000000 40,50,630 0000 ADDDDOOO0OOOOD
00000000000000000000000000000 « B OO RODOOOOO0000
ODOEKL 4 OOODOOTAODDOOOOOOOOOOOODOODOOOOOOO

ooOoooObO0oO0O000efFOGOHOKOIO DO OOOOOOO0Oo
LomMoOOooooOoooooooo
ooooooOooowoobOOooooooLoMooooooo

oooooowoo2so00oooooon
s boO0o0oooooooooboooobooOoooooooonoo

ooooooooon 0000000000000 D0O0D0O00D000DO0ODnoOoo
02 0000000000D000OO0DO0O0OOODO0O0O0O0 O00rFI0D00O00DOOo00on
0ooDO000000@EEOIU000moOOnnooona
000000000@OID0D00000000®o0oooonn <Q oooo oooo
0ooo@oooooag EYCEGI T ;ﬂ;
boooooooooooboooooooooooDoo (D”?L jg”@ —— 7@97 777777777777 {@7
00000000000 0000000000000000 1¢7 ¢F o — 7
0ooOo0o0O0o0oO0oooono @ yﬂJ@ |
©
m 0000
ooo ooooo 00O00o0ooOoOooo ooo ooooao
sb | ooo rp | 000D
ooooooo
LA gooood CA ooooo
oooo 010000000
LB |ooooooo cg | HDOOOOO
020000000
Eé oooo TA oooooooo
Fy 0000oooo oooooo
FB oooo Te oooo
FF 0oo0ooooo ooooono
Fe oooo
ooooooo

622 7/14 MPall 00000000



googoon

= 000
e DOOOOODOODOODODO

00oo |ooo D000000000C0O00OkKN oo oo
005 | e
mm - 1 MPa 3 MPa 7 MPa 10.5 MPa 14 MPa R U
32 8.0 0.80 2.41 5.63 8.44 11.26 208 0.5
40 12.6 1.26 3.77 8.79 13.19 17.58 132 0.8
50 19.6 1.96 5.89 13.74 20.61 27.48 85 1.2
63 31.2 3.12 9.35 21.81 32.71 43.62 53 1.9
80 50.3 5.03 15.07 35.17 52.75 70.34 33 3.0
100 78.5 7.85 23.55 54.95 82.43 109.90 21 4.7
125 | 1227 12.27 36.80 85.86 128.79 171.72 14 7.4
140 | 153.9 15.39 46.16 107.70 161.55 215.40 10.8 9.2
150 | 176.7 17.67 53.01 123.70 185.55 247.40 9.4 10.6
160 | 201.0 20.10 60.29 140.67 211.01 281.34 8.3 12.1
180 | 254.3 25.43 76.30 178.04 267.06 356.08 6.6 153
200 | 314.0 31.40 94.20 219.80 329.70 439.60 5.3 18.8
220 | 379.9 37.99 113.98 265.96 398.94 531.92 4.4 22.8
250 | 490.6 49.06 147.19 343.44 515.16 686.88 3.4 29.4

e DOODODOODOOOOODOO

0000 | 000 | 000 |ODOoO 00000000000O0O000KN oo oo
900 | o | o [ssa AoUmin | omms
mm | @E | mm | e 1 MPa 3 MPa 7 MPa 10.5 MPa 14 MPa /s L/min
B 18 5.5 0.55 1.65 3.85 5.78 7.70 303 0.3
82 C 14 6.5 0.65 1.95 455 6.83 9.10 256 0.4
A 28 6.4 0.64 1.92 4.48 6.72 8.96 260.5 0.4
40 B 22 8.8 0.88 2.63 6.13 9.20 12.27 189 05
C 18 | 100 1.00 3.00 7.00 10.50 14.00 167 0.6
A 36 9.4 0.94 2.82 6.58 9.87 13.16 1773 0.6
50 B 28 | 135 1.35 4.04 9.43 14.14 18.86 123 0.8
€ 22 | 158 158 4.75 11.08 16.62 22.16 105 0.9
A 45 | 153 153 459 10.71 16.07 21.42 109 0.9
63 B 36 | 210 2.10 6.29 14.69 22.03 29.38 79 13
C 28 | 250 2.50 7.50 1750 26.25 35.00 67 1.5
A 56 | 257 2.57 771 17.99 26.99 35.98 64.9 15
80 B 45 | 343 3.43 10.30 24.04 36.06 48.08 49 2.1
C 36 | 401 4.01 12.02 28.05 42.07 56.09 42 2.4
A 70 | 400 4.00 12.00 28.00 42.00 56.00 4.7 2.4
100 B 56 | 53.9 5.39 16.17 37.72 56.58 75.44 31 3.2
C 45 | 626 6.26 18.78 43.82 65.73 87.65 27 3.8
A 90 | 59.1 591 17.73 41.37 62.06 82.74 282 35
125 B 70 | 842 8.42 25.26 58.93 88.40 117.87 20 5.1
C 56 | 98.0 9.80 29.41 68.63 102.94 137.25 17 5.9
A 100 | 754 7.54 22.62 52.78 79.17 105.56 22.1 45
140 B 80 | 103.6 10.36 31.09 72.53 108.80 145.07 16 6.2
C 63 | 1227 12.27 36.81 85.89 128.84 171.78 14 7.4
A 106 | 885 8.85 26.55 61.95 92.93 123.90 188 5.3 MPa
150 B 85 | 120.0 12.00 35.99 83.98 125.97 167.96 13.9 7.2 U
€ 67 | 1415 14.15 42.44 99.02 148.53 198.04 11.8 8.5 0
A 110 | 106.0 10.60 31.80 74.20 111.30 148.40 15.7 6.4 O
160 B 90 | 137.4 13.74 41.21 96.16 144.24 192.33 12 8.2 O
C 70 | 1625 16.25 48.75 113.75 170.62 227.49 103 9.8 0
A 125 | 1316 13.16 39.48 92.12 138.18 184.24 127 7.9 0
180 B 100 | 1758 17.58 52.75 123.09 184.63 246.18 95 105 0
C 80 | 204.1 20.41 61.23 142.87 214.31 285.74 8.2 12.2 B
A 140 | 160.1 16.01 48.03 112.07 168.11 224.12 10.4 96 0
200 B 110 | 219.0 21.90 65.70 153.31 229.97 306.62 76 13.1
€ 90 | 250.4 25.04 75.12 175.29 262.94 35058 6.7 15.0 E
A 160 | 178.9 17.89 53.67 125.23 187.85 250.46 93 10.7
220 B 125 | 2573 25.73 77.19 180.10 270.15 360.20 6.5 15.4
C 100 | 301.4 30.14 90.43 211.01 316.51 422.02 55 18.1
A 180 | 2363 23.63 70.89 165.41 248.12 330.82 71 14.2
250 B 140 | 3368 33.68 101.03 235.74 353.60 471.47 4.9 20.2
C 110 | 395.6 39.56 118.69 276.95 415.42 553.90 4.2 23.7

7/14 MPall 00000000 623



= 0Jogd
gobooooooooooooooooon

0000000000000[]00000100mmO0000nnx 2280 mmD

100
e 0000000000000 0000100mmOOO0000
00000 100mm
EDDE %DDDS O0000000000000000kg DDDDDDO%D
SD | LA | LB | FA | FB | FC | FD |FEOFY| FF | CA | CB | TA | TC kg
2 B 33| 38| 39| 35| 38| 39| 42| O 0 39| 40| 34| 38 0.8
C 32| 37| 38| 34| 37| 38 41| O 0 3.8| 39| 33| 37 0.7
A 44| 48| 49| 47| 50| 52| 54| 48| 52| 50| 51| 45| 50 1.1
40 B 42| 46| 47| 45| 48| 50| 52| 46| 50| 48| 49| 43| 48 1.0
C 41| 45| 46| 44| 47| 49| 51| 45| 49| 47| 48| 42| 47 0.9
A 73| 81| 81| 78| 84| 87| 93| 83| 89| 83| 85| 74| 83 1.7
50 B 68| 76| 76| 73| 79| 82| 88| 7.8| 84| 78| 80| 69| 7.8 1.3
C 67| 75| 75| 72| 78| 81| 87| 77| 83| 77| 79| 68| 7.7 1.2
A 10.8| 11.7| 12.4| 11.4| 125| 12.7| 13.8| 12.1| 13.1| 13.0| 13.7| 11.2| 126 2.4
63 B 10.0| 10.9| 11.6| 10.6| 11.7| 11.9| 13.0| 11.3| 12.3| 12.2| 12.9| 104 1138 1.9
C 9.9| 10.8| 11.5| 105| 11.6| 11.8| 12.9| 11.2| 12.2| 12.1| 12.8| 10.3| 11.7 1.6
A 17.0| 17.8| 19.1| 18.0| 19.8| 19.9| 21.6| 19.0| 20.7| 19.8| 20.7| 17.4| 19.2 3.6
80 B 15.6| 16.4| 17.7| 16.6| 18.4| 185| 20.2| 17.6| 19.3| 18.4| 19.3| 16.0| 17.8 2.9
C 15.2| 16.0| 17.3| 16.2| 18.0| 18.1| 19.8| 17.2| 18.9| 18.0| 18.9| 156 17.4 2.4
A 28.8| 30.0| 32.1| 30.4| 33.4| 33.3| 36.3| 32.2| 356| 34.4| 359| 29.6( 335 5.6
100 B 26.1| 27.3| 29.4| 27.7| 30.7| 30.6| 33.6| 29.5| 32.9| 31.7| 332| 26.9| 30.8 4.4
C 25.7| 26.9| 29.0| 27.3| 30.3| 30.2| 33.2| 29.1| 325| 31.3| 32.8| 26.5| 30.4 3.8
A 53.4| 555| 62.5| 55.9| 61.3| 60.7| 66.0| 59.1| 64.4| 63.4| 66.4| 54.0| 60.5 8.9
125 B 47.6| 49.7| 56.7| 50.1| 55.5| 54.9| 60.2| 53.3| 58.6| 57.6| 60.6| 48.2| 54.7 7.8
C 47.2| 49.3| 56.3| 49.7| 55.1| 54.5| 59.8| 52.9| 58.2| 57.2| 60.2| 47.8| 54.3 6.6
A 70.5| 735| 83.5| 73.6| 81.8| 80.7| 87.0| 78.4| 85.6| 85.6| 91.7| 72.4| 81.2 11.7
140 B 63.0| 66.0| 76.0| 66.1| 74.3| 73.2| 79.5| 70.9| 78.1| 78.1| 84.2| 64.9| 73.7 10.4
C 60.4| 63.4| 73.4| 63.5| 71.7| 70.6| 76.9| 68.3| 755| 755| 81.6| 62.3| 71.1 8.9
A 82.6| 89.1|101.0| 88.7| 97.4| 97.0|105.0| 94.6|103.0| 99.8(104.5| 88.9| 96.6 12.7
150 B 73.7| 80.2| 92.1| 79.8| 885| 88.1| 96.1| 85.7| 941| 90.9| 956| 80.0| 87.7 11.2
C 70.1| 76.6| 88.5| 76.2| 84.9| 845| 925| 82.1| 90.5| 87.3| 92.0| 76.4| 84.1 9.6
A 98.4102.6 | 115.2 | 103.5 [ 114.7 | 113.0 | 124.2 | 109.0 [ 120.2 | 120.9 | 129.8 | 100.7 | 114.7 13.9
160 B 89.4| 93.6|106.2| 94.5|105.7|104.0|115.2|100.0 |111.2|111.9 [120.8| 91.7 |105.7 12.5
C 86.1| 90.3|102.9| 91.2|102.4|100.7|111.9| 96.7|107.9|108.6 |117.5| 88.4|102.4 10.6
A |126.1]141.8|159.1|142.6|156.9 | 155.0 | 169.2 | 151.4 | 165.7 | 164.4|179.4| O |153.0 19.1
180 B |111.7|127.4|144.7|128.2|142.5|140.6 | 154.8| 137.0 | 151.3| 150.0 | 165.0| O |138.6 17.9
C  |106.7|122.4|139.7|123.2|137.5|135.6 | 149.8 | 132.0| 146.3 | 145.0 | 160.0| O |133.6 15.7
A |162.1(170.7|199.0 | 172.3|192.2 | 190.5 | 210.4 | 184.3 | 204.2 | 209.2 | 228.6 | O |178.0 23.3
200 B [141.5(150.1|178.4|151.7 [171.6 | 169.9 | 189.8 | 163.7 [ 183.6 | 188.6 [208.0 | O |[157.4 21.7
C  |136.4|145.0|173.3|146.6 | 166.5|164.8 | 184.7 | 158.6 | 178.5|183.5/202.9| O |152.3 19.0
A |238.0|247.2|295.0 | 252.3|279.7 | 276.4| 303.8 | 270.8 | 298.2 [ 297.7 |322.7| O |273.9 33.8
220 B |208.4|217.6|265.4|222.7 | 250.1 | 246.8 | 274.2| 241.2 | 268.6 | 268.1|293.1| 0 |244.3 26.4
C  |1985]207.7|255.5|212.8|240.2 | 236.9 | 264.3 | 231.3 | 258.7 | 258.2 | 283.2| O |234.4 23.0
A |335.7|349.1|416.2 | 353.2|390.7 | 385.6 | 422.8 | 376.9 | 415.1| 409.4 |435.0| O |373.0 40.8
250 B |291.2|304.6|371.7|308.7 | 346.2 | 341.1 | 378.3|332.4 | 370.6 | 364.9|390.5| O |328.5 32.8
C  |280.8]294.2|361.3|298.3|335.8330.7|367.9|322.0|360.2|354.5(380.1| [ |318.1 28.4

624 7/14 MPald OOOOOOOO



googoon

= JOo0oo0oooobooobooooooon

a0 00| oo oo
e 00000DDOODD 0o pooo 00|l oo oooo 00
10000000000 0000000000
2000000000000000000000000000 =- I =-
00000000000000L000000000 S| Lo oy §+J¢Tm4*‘%h
3000000000000000 LedO0O0SOLOLe0 OO LAD L FBO ) i
00000000sSI0000O0ooO G.d A
N ,,,H E 3
000000000100mmOOO0005 mmOOO00 TCO S Lﬁi g 2 || FDO ;% o 2
0000000000000000000000 8MPad L \ L
LBU FFO
0000000000000000000 ’
= H =1
S] L3 4 s Lo 4
= 00O000nO1 L R —

OO0000LD 1980

=t @A
00000000000000 . f{%;ﬂ' 1y || TAD gﬁQ%ﬁEjH
LoCT) 15601 145011 5 FAD L C
00000 SO L0 LoD 1980071 15601 14510 5 0 ] A
: Feo | e@Hl=1 &-GHEE
00 000SO1120 mm s| Tlof 2 || TCO | s Lo 1
FED = L
Fyo | | ]
CETH=| , ||cAn | @ GHEH
= CBO °
SOLO Lo
0OSODO00000mm  O0ed000000000000

ooLwoooooododdmm 0 O0000000000000OC
00000000000 mm

00004
30000 — Cemd by
E A
20000 —
= nO1
E 5001 450 A
3 400 1 nd2
10000 — a15 - 355 Py >
= 250 | 280 e A Unoa
= 204 1 rFaBP g
5000 — fgg 180 S -
— 195 |- 140 AT L~
= 1251 110 e =
E %6 1 100 P pzaly
] -85
2000 —} 80 |- I
I % --63] 22 7 1 LA
= 451 s ot e 2
1000 = ” Ak 36 A |1 Pz
= L L L~ A1
= 22 Ps
500 —2 18 P >
E 14 il
— 0 | //’
200 3 0 | LA MPa
E 0 ] 0
; mm / l llllthHHhHl l l llllthHthH l l llllthHthH l l D
100 — 3 5 10 50 1+ 100 200 500 1000 2000 5000 8000 0
[}
5 ! 0000 kN g
o 3 gt 0
O o \ O
O O N \]\
L g > 0
mm = N\, . \I AR VAVAVA VA VA VA VAV VA VA VAV VA ¥
0 7 Il
MPa 10— S 0
a
- >
Wk \ \ \ \ \ AN NN
OOOOOOOLDLDOOOOOOO
OCOONLW O0OALWO IO OM-O
H ﬁHHﬁHNNNNmmﬁ'VL{)LD@l\w

oooOoofd mm

7/14 MPall 00000000 625



sbOgdgd......... 0000 70 14 MPa
® 0000000MO0000&0
5 Q ngooon C E L MOOOOOO N
R 20000M00000&0
0ooooo . " B"00 Rt SO OO0OPTO
000000 ®0 OO / N e I e Tttt ==L
Ao s 1Bl | @ @
A EE,,,, ,,,,,,,,,,,,,,,, " H
& g g
© 0oo o Fl G HOODOOD J ‘ P
48 U'0 0 ‘
O0000O 12500000
googno
000000 oooooe N
000000000000000000080000
0000000000000000130000
0000000000000000025000 Ejoooog
R L, MODODOOOO L o
B i g I oy R R
x 7 B’ Y 1 LI <<
g el [[le-—— ) — CRlCISH
fLLx 00000 TNN /“B™h L
OO0OFEDDOODDOODOONNDOD —TiE"D
000000
0 A B co1 D KK
(W 3
EBDDEEDDEBDDEEDDE%DDSEFGHJLMNPQRSTULLNN
0
ST e e ey . v et it R s [ [ s
2200 | 18] 14| 0 MM 0 |28 10| 14| 12| 46| 46|30|11| 49| 46|35| 30| 88|14 9 | 58| 40| ¥y 12| 45
15 | 125 1 3200 2400 10 1450
a0| 28| 22| 18"t M| M| B 1301 25 | o4l 19| 14| 52| 48|30|11| 49| 46|35 39| 88|14| 11 | 65| 45| 3y 12| "V /35,
15 | 15 | 15 (14800 40000 3200 195 [M°>0 430
50| 36| 28| 22 V30| M24 | M20] 45 | 35 | 30 30| 24| 19| 59| 52(30(|13| 56| 46(40| 44| 96|15| 13 | 80| 55 :Eb 12 M2 o
15 | 15 | 1.5 [P 6000 48000 400 195 0 400
63| 45| 36| 28" | M| M4 0 | 45| 35 | ool 24| 69| 59|3515| 44| 70|34| 42|104|17|1455| 94| 65| B, [12] " %
15 | 15 | 15 7800 6011 4801 : 15 1 500
go| 56| 45| 36| "o | MM O | €045 | ool 41| 30| 81| 69|35|18| 50| 78|38| 48|118]18]16.5/110| 82| By 12| |1sa] D
% 4 25 |15 | 15 et 7e o] ° S|18| 5 5 s 0 4900
100| 70| 56| 45" MM ® | 75 | 0 | eol ol a1|100| 8140|20| 57| 74|41| 54|120|18]19.5(138]108] 3y 12| X" >
20 | 15 | 1.5 012801 96011 7800 : 15 0470
12 7 MBO| Moa|MaB| 120 | 95 | 75 118|100|45|24| 67| 78|51| 63|134|23| 23 |168125| 1 |15|"! 6
5 90| 70| 86| x| x|k uot ook g 85| 65| 50|118|100/45\24] 67| 78|51| 63|134|23| 23 |168|125 5| o
140|100| 80| 3| ™| M2 MP6| 140 | 1101 80 | ool 2el 5el109|106|50(26| 67| 86|51| 65|142|23| 25 |188]141| 1 | 15| " 6
20 | 20 | 20 0 1650 1280) 1121] 15 0 540
150|106/ 85| 67["5 0| M| M| 190 [ 115 | 85 |y0l go| 60|135|112|50(28| 67| 91|54| 67|147|26| 25 |196]148| 1 | 15| " 6
20 | 20 | 2001750 1280 12000 15 s 1540
160{110| 0| 70/M>0| M| M| 1°0 11201 95 1y el gel 65|140|118]55(31| 65| 98|50| 66(158|20|28.5(215(160] 1 | 15| 6
20 | 20 | 20 0 1750 1400) 1281 : 5 1 550
180|125(100| go|">°| M| 72| 180 | 140 | 110 | 051 o5) 75|151|120|55|33| 75|106|61| 75|172|28| 27 |235|182| 18| 15| X" o
20 | 20 | 20 M 2100 16500 1281 15 h 520
200|140| 10| 90| M M| 195 | 150 | 120 | ool o) g5|170|14055|37| 85|110|69| 85|184|32| 29 |262|200]18| 15| % ®
20 | 20 | 2002250 1750 1400 15 0510
220|160|125|100| V|20 MO | 225 | 180 | 140 | ooty o 95|183|151|60|41| 85|11069| 89|184(32| 34 |292|225/15,| 15| "X %
20 | 20 | 2.0 [ 2600 2100 1751] 15 176 P630
250{180|140| 110|050 ME%0] 295 | 195 | 180 | o el 051205 | 170| 65| 46| 105 | 110| 85| 106|200 40| 37 |325|250| 2 | 15| " %
20 | 20 | 2.0 02950 22500 175} 5 0610

ioooooooooooobobocoom moooooooo
D20l ggooooooooooooooooobooooooosmmidomooomoonononn
Usooo0O0O0OFEDOOOOONNOODD moOoOoOoOoooo

626 7/14 MPald OOOOOOOO



googoon

LAOOOOOoDooog....... 0000 7014 MPa
® CLE L MOOODOO
5 Q  nBoooo —— 200000
‘ 4lg FF ZB"hU RE SU 000 PTD
BIe | \ e S
S N T @
] o -
’L@ RS ahs - I —— —F
= [
AA 0 e w X vz
BB © u voooooo N
©
0o0ooon 125" 001000o00bo0oooboooobooooogoog
0oooo 20000000320100000000000000@®000@00000000000
obobooobooooooooobooboobOobOobOobobooooOoogoDoeos
oboooooobooboooobooog
gooon
ooooo* N EDDO0DOD
® L_,_ MOOOO0OO L Cot o
B"hL
R = T /
B I NNIn(x 1<
i@ @ s
u 1000000 uoooooo
©
0ooooo
goobooooogosbbbeze D000 OOODOoOOO

. A B cot D
E oonooooloooooo loooooo EIDI:II:II:IDE LIM|IN|Q|S|T|U|V|W|X|Y|Z|AABB|CC|DD| EE |FF|JJ
O ad B o avd Bt ot At B o A BH o
Mis|Mi2[ | 25 | 18 35
32/ 0 | 18| 14| O 1X.5 1'x25 0 2200 240 00 | 14| 12(30| 39| 88|25| 58 ﬂ; 12| 57| 98/16(33|19|16| 88]109| 14 0.t15 64 (11(112
M24 | M20 | m16| 35 | 30 | 25 375
40| 28| 22| 18 ;5 ;5 1x-5 b 4800 4000 3200 24| 19| 14|30| 39| 88|27 | 65 ﬂ; 12| 57| 98/16(33|19|16| 95/118| 14 0.115 70 |11(112
M30 | m24 | M20| 45 | 35 | 30 %
50| 36| 28| 22 1X.5 1X.5 ;5 5 6000 4800 400 30| 24| 19|30| 44| 96/30| 80 tb 12 | 60|108|17(39|23|17|115|145| 17 0%15 85 [14(124
M39 | M30 | M24 | 60 | 45 | 35 50
63| 45| 36| 28 ;5 1X.5 1x'5 b 7800 6001 4800 41| 30| 24|35| 42|104|35| 94 tlz 12| 71|106|21(23|13|21(132|165| 19 0.t15 97 |18(116
Ma8 | M39| M30| 75 | 60 | 45 60
80| 56| 45| 36 1X.5 ;5 1x-5 h 9601 7800 6001 50| 41| 30|35| 48/118|37|110 ﬁ4 12 | 74|124]21{29|17|21|155|190| 25 0.t25 115 |18(136
M64 | mag [ M39] 95 | 75 | 60 I
100| 70| 56| 45 20 1X.5 ;5[ 1280h 96011 7801 65| 50| 41(40| 54/120(44 (138 :P:I4 12 | 85|122|25(32|16|25(190(230| 27 0.225 140 (22(138 MPa
M80 | M64 | M48 | 120 | 95 | 75 8 O
125 90| 70| 56 20 £O 1x.5 t 1400 1280 9603 85| 65| 50(45| 63|134/53(168| 1 | 15| 99|136|30(37|21|30(224|272| 32 0.:25 169 |26(152 0
M5 | M72 | M56 | 140 | 110 | 80 95 O
140(100| 80| 63| x x x 95| 75| 55(50| 65/142|55(188| 1 | 15|106|144/30(37|21|30(250({300{ 35| + | 189 |26/160
2.0 | 2.0 | 2.0 1650 12800 112[] 0.25 O
M100| M76 | M60 | 150 | 115 | 85 106 0
150(106| 85| 67| x x x 100 80| 60(50| 67|147(58(196| 1 |15|111|146|33(34|21|33(270({320| 37 | + | 204 |30|159
2.0 | 2.0 | 2.0 01750 128[0 120 0.25 0
M100| M80 | m64 | 150 | 120 | 95 12
160{110| 90| 70| x x x 105| 85| 65|55| 66(158|64 |215| 1 |15(122|150/36|29|23|36|285(345| 42 | = |219.5(33|156 g
2.0 | 2.0 | 2.0 0117500 1400 128[] 0.25 0
M120] M95 | M72 180 | 140 | 110 125 0
180(125({100| 80 5o | 50 | 5002100 1650 12871 120| 95| 75|55| 75|172|62 (235 1]r:l4 15(123|172|35(40|26|35(315|375| 47 o5 242.5/33(186
M130]M100| M80 | 195 | 150 | 120 140 E
200/140{110| 90 2X.0 2><.0 2><'0[ 2250 17500 1400 135|105| 85|55| 85(184|68|262 1]r]2 15 (131]186{39(46|30|39|355|425| 52 0.125 271 |36|202
M150|M120| M95 | 225 | 180 | 140 150
220(160(125(100 2X.0 £0 2X.0 ) 2600 2100} 17501 155(120| 95(60| 89|184|73|292 1]r]2 15(140|186|39(46|30|39(395|475| 52 O.t25 296 [42(202
M170|M130|M100| 255 | 195 | 150 1o
250(180(140|110| x x x 175(135(105(65|106/200(84 |325| 2 | 15|158|206|47|58|38|47(425/515| 57 | + |332.5|45|226
2.0 | 2.0 | 2.0 2950 225[] 175[] 0.5

bipoooooooooOoooooco0om mMooooooon

7/14 MPall 00000000 627



LBOOOOOOOO......... 0000 7014 MPa
® cC__E L MOOOOOO
5 Q DOO000 40 cCc™ 2000000
‘ “ B" 00 R¢ S'OOOOPTO
5.9 R e T
- - R T o < — —@» ffffffffff — F
oo B F < ae : = @‘@
Cau’® 0oCo“ D = I N S —{—
X V_|_H H_|_V
Y w uoooooo w
© H%%DDDDDD 32001000 1 mm
00000 O 1250 2500 2 mm

oooooot 12500000

ooooooooOoOoOoOoOoOooooooooooo

gooon
goooo® N
EOOOOOO
@ V. L MoOoOOoOO0Ooa4d L C,
3 ‘L" 1 {; I S S ———— I R
© O E@F@ ffffffff 1@ HIEETS
T ;@ I-""£ — —' |
© Joooogo B"00
gooooo

goobooooogsbbbeze 00O ODO0ODOODOO

o A B cot D

0

0 loooooo|0oDooo | 0moooo |omooo = R W e G 2 ] BT 2

o4 A4 B4 ct A*4 B" ¢t A"d B"{ c{ A" B ¢’

M16 | M12 25 | 18 40

32 18 14| O |+ 2| 0 | hoe| O | 14] 1230 39] 88| 58 3|12 |205| 32| 13| 40| 63| 75 S| 69 | 11]2%0
M24 | M20 | M16 | 35 30 25 43

40| 28| 22 18| x| x|k Lok jok sor) 24 19] 14|30 | 39| 88| 65 %5 |12 |205 32|13 | 46| 69| 75 v | 755 11]230
M30 | M24 | M20 | 45 | 35 | 30 50

50| 36| 28| 22| x| x| x L oot aert son 30| 24| 19| 30| 44| 96/ 80 B,| 12 |225] 35|15 | 58| 85| 7.5 | 90 | 14254
M39 | M30 | M24 | 60 45 35 60

63| 45| 36| 28| « | x| < L oect ol e 41 30| 24| 35| 42|104| 94 by |12 |247| 42|18 | 65| 98| 115 Vs | 107 18272
M48 | M39 | M30 | 75 60 45 72

80| 56| 45| 36| x| x| x| oot oo oo | 50| 41) 30|35 48]118|110 %1, |12 |284| 50| 20| 87|118| 115 e | 12718314
M64 | M48 | M39 | 95 75 60 85

100( 70| 56| 45| x| | < d ek ook 76| 65| 50| 41|40 | 54]120/138 %1 | 12 |302| 55| 23| 109|150 12.5 15 | 154 | 22338
M80 | M64 | M48 | 120 95 75 105

125( 90| 70| 56| x '| x| x i ot gor| 85| 65| 50| 45 | 63|134|168| 1 | 15 |352| 66| 20 |130 175|145 | - " | 189 | 26 |307
M95 | M72 | M56 | 140 | 110 | 80 115

140|100| 80| 63|~ *| " x4 1 ocd el 1350 95| 75| 5550 | 65|142|188| 1 | 15|370| 70| 30 145|195 | 175 | | 209 | 26 |412
M100| M76 | M60 | 150 | 115 | 85 123

150|106 85| 67| x °| '~ "| < Jcd el 1207 100| 80| 60| 50 | 67|147|196| 1 | 15|390| 75|30 (155|210 | 17.5| - | 221 | 30 |431
M100| M80 | M64 | 150 | 120 | 95 132

160(120| 90| 70|"x "I = " <10 1000/ 105| 85| 65|55 | 66(158|215| 1 | 15 |403| 75| 35| 170 | 225|175 - |2395) 33 440
M120| M95 | M72 | 180 | 140 | 110 148

180(125/100 80| x "1 "+ *| x4 0 cert 10g:f120| 95| 75| 55 | 75|172|235 |1ty 15 |445| 85| 40| 185|243 | 195 155 |2655 33402
M130{M100| M80 | 195 | 150 | 120 165

200{140|110| 90|"x "% | e ek 1 7erh 140 135|105 85| 55 | 85 184262 15p| 15 [497| 98| 40 | 206 | 272 | 24.5 o5s | 296 | 36550
M150{M120| M95 | 225 | 180 | 140 185

220|160|125/100| x 71" 11 o orh 1750 155| 120| 95| 60 | 89| 184(292|1kp| 15 (535|115 45 | 230 | 310 205 i | 331 | 42502
M170|M130|M100| 255 | 195 | 150 208

250|180|140|110| x 1" 1 et poer) 175|175| 135105 65 | 106| 200|325| 2 | 15 |606|130| 50 | 250 | 335|345 | = _[370.5) 45 |672

Ul Ooooopoopooooooocoom moooooooo

628 7/14 MPald OOOOOOOO



googoon

FAOODODOOOQOooOoogd....... 0000 7MPa
®
BB cC__E_,_L MOODDOO
AA 800 10
Q 2000000

5 ‘ Too0ooo
‘ / Rt SUOOOPTO
s | 1z -
‘ Ki 3 B

“179Me |3 @ @
] M ; 777777 T =

XxXo0ooooad
000000 12500000 ‘
¢ DDe70 000000320 100

¢ DDg7000 00001250 250

41 CC

ogoooo
gooog* N
ECOOOOO0O
E_, i L MOOooog L C
_H e — =TT
1O |®|[pems
S
B"0 0O
ogooooo

oooooooooosboOesdI0dddOooooooOooOon

o A B cot D DD

0

0 l[oooooo|0oDo00 | 000000 |ommooo|oooooo e A L IS

04 A BY ¢t At Bt ot Al B o A B o A B o

M16 | M12 25 18

32 18 1) 0 | %0\ NE 0 LT e 0| 14| 120 | 34) 34)30| 39| 8| 58| ¥ |12{ 11 150 | 40| 63| 88109 |11
M24 | M20 | M16 | 35 30 25

40| 28] 22| 18| < || 5|k it o) 24| 19| 14| 46| 40| 36|30| 39| 88| 65| ¥y |12|11| 152 | 46| 69| 95| 118 |11
M30 | M24 | M20 | 45 35 30

50| 36[ 28| 22| || L Lo Ll 30| 24| 19] 55| 46| 40|30| 44| 96| 80| T | 12|13| 168 | 58| 85| 115|145 |14
M39 | M30 | M24 | 60 45 35

63| 45| 36| 28| ||| 2oL | a| 41| 30| 24) 65| 55| 46|35 | 42|104| 94| By |12|15|1775| 65| 98 | 132 165 |18
M48 | M39 | M30 | 75 60 45

80 56| 45| 36| | x| | o] o) Gor) 50| 41] 30| 80| 65| 55|35| 48|118|110| 3, | 12|18 |2005| 87 | 118 | 155 | 190 |18
M64 | M48 | M39 | 95 75 60

100| 70| 56( 45| x| | L ek g 65| 50| 41| 95| 80| 65|40 | 54|120|138| ¥ | 1220|2115 109 | 150 | 190 | 230 | 22
M80 | M64 | M48 | 120 | 95 75

125| 90| 70| 56 85| 65| 50|115| 95| 80| 45| 63|134|168| 1 |15|24| 243 | 130 | 175 | 224 | 272 | 26

20 | 20 | 150 14000 128000 9607
Mo5 | M72 | ms6 | 140 | 110 | 80
20 | 20 | 200 01650 12800 1121}
M100] M76 | M60 | 150 | 115 | 85
20 | 200 | 200 M 1750 12800 120(]
M100| M80 | M64 | 150 | 120 | 95
20 | 20 | 270 01750 14000 1281}

M120| M95 | M72 | 180 | 140 | 110 E4
5o | 50 | 5021000 1650 1280] 120| 95| 75|150(125|105|55| 75|172|235|1

M130|M100| M80 | 195 | 150 | 120 350105| 8 0l140 85184262 Ez
5o | 20 | 200 2250 1750 140|:1 5/105| 85|170(140|115/55| 85|184 1

M150{M120| M95 | 225 | 180 | 140

2x0 ZX.O 2X.0 t 2600 2100 17501 155(120| 95(195|150(125| 60| 89|184|292 1]r]2
M170|M130|M100| 255 | 195 | 150
20 | 20 | 2002950 22500 175(]

140{100| 80| 63 95| 75| 55|125|105| 85|50 | 65|142(188| 1 |15|26| 255 | 145 | 195 | 250 | 300 | 26

150{106| 85| 67 100| 80| 60(135/110| 90|50 | 67|147(196| 1 |15|28| 265 | 155 | 210 | 270 | 320 | 30

160{110| 90| 70 105| 85| 65[140(115| 95|55| 66|158|215| 1 |15|31|281.5| 170 | 225 | 285 | 345 | 33

180{125/100| 80 15|33 | 302 | 185 | 243 | 315 | 375 | 33

MPa
O
O
O
O
O
O
O
O
O

200(140|110| 90 15|37| 330 | 206 | 272 | 355 | 425 | 36

220|160|125|100 15|41| 339 | 230 | 310 | 395 | 475 | 42

250{180|140|110 175]135|105|215|170|140| 65| 106|200 |325| 2 | 15|46 | 383 | 250 | 335 | 425 | 515 | 45

Ul 0oooopoopooooooocoom moooooooo

7/14 MPall 00000000 629



YOUREN

FBOOOOOOOOOOOOO......... 0000 7MPa
c E L MOOODOO
TO0000 “B"AL 200000
/Rt SOOOOPTO -
\ qHT =me=salil
Javed DIBI @ 16y
:ﬁi,ﬁg“D" E: T ] ] ’7’7:7
w
4le CC x000oooo
000000 12500000
googg
ooooo* N
EDDOO0DO
E_.L MOooooo L C @ DDeD D000 D 320100
10 @ DDgO OO0 OO 1250 250
‘EE’ | LH e ——— ,,:;A,,, N
e ®{{lems
| S
[ e T \
B0 O
oooooo
0000000000sSbOOe60000000000000

g A B cot D DD

O

0 |0o0oo0o0| 000000 | 000000 |DO0000(|000000 EfLIMIQIS | T \W)X|Y]Z|AABBICC

T e ol [y S e

M16 | M12 25 18

32(0 | 18/ 14| O | x| | O Loohioan 0| 14) 12/ 0| 34 34/30| 39| 88| 58| ¥ | 12| 11|182| 40| 63| 88|109|11
M24 | M20 | M16 | 35 30 25

40| 28| 22| 18| |« <L et ot g 24| 19| 14| 46| 40| 36| 30| 39| 88| 65| Ty | 12 | 11 |162| 46| 69| 95|118|11
M30 | M24 | M20| 45 | 35 | 30

50| 36| 28 22| » | x| * | gort asct aon] 30| 24| 19| 55| 46| 40|30| 44| 6| 80| B | 12 | 13 |108| 58| 85|115|145 |14
M39 | M30 | M24| 60 | 45 | 35

63| 45| 36| 28 < | * | * | 760t sontr agn| 41 30| 24| 65| 55| 46| 35| 42104 04| &, | 12| 15|213| 65 98|132|165|18
M48 | M39 | M30 | 75 60 45

80| 56| 45| 36| x| * | * oot 7enteon 50| 41| 30| 80| 65 55/35| 48| 118|110 | ¥y | 12| 18 |237| 87|118|155 190 18
M64 | M48 | M39 | 95 75 60

100| 70| 56| 45| x| x| * 1ok gert 7ac] 65| 50| 41| 95| 80| 65|40| 54120 | 138 | ¥y | 12 | 20 |252|109|150 (190 230 22
M80 | M64 | M48 | 120 | 95 75

125| 90| 70| 56 85| 65| 50|115| 95| 80|45| 63 |134|168| 1 | 15 | 24 |289|130(175 224|272 26

20 | 20 | 150 14000 12800 9601
M5 | M72 | M56 | 140 | 110 | 80
20 | 20 | 2001650 1280 1120]
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 2001750 12800 12000
M100| M80 | M64 | 150 | 120 | 95
20 | 20 | 200 17500 14000 128(]
M120| M95 | M72 | 180 | 140 | 110

So | 50 | 502100 1650 1281] 120| 95| 75[150(125[105|55| 75| 172 | 235 | 11,

M130{M100| M80 | 195 | 150 | 120 tb
5ol 50 | 50 2250 17508 1400] 135/105| 85(170{140(115|55| 85| 184 | 262 | 1

M150/M120| M95 | 225 | 180 | 140

;0 2on ZX-O 0 26000 2100 17501 155|120| 95/195|150({125/60| 89 | 184 | 292 ltb
M170{M130{M100| 255 | 195 | 150
20 | 20 | 2029500 22500 175(]

140|100| 80| 63 95| 75| 55/125|105| 85|50 | 65|142|188| 1 | 15| 26 |306|145|195|250|300 |26

150(|106| 85| 67 100| 80| 60(135|110| 90|50 | 67 [ 147|196 | 1 | 15 | 28 |318|155/210(270|320| 30

160{110| 90| 70 105| 85| 65|140(115| 95|55| 66 | 158 | 215| 1 | 15| 31 [339|170|225|285|345|33

180|125/100| 80 15 | 33 |363|185|243|315|375| 33

200{140{110| 90 15 | 37 |393|206|272|355|425| 36

220(160{125|100 15 | 41 |406|230|310|395|475| 42

250{180|140|110 175]135]105|215|170|140| 65| 106 | 200 | 325 | 2 | 15 | 46 |457|250|335|425|515]| 45

1. oooooOoOooOoooooocoom moooooooo

630 7/14 MPald OOOOOOOO



googoon

FCOODOOOoooooooo..... 0000 7014 MPa
®
BB
AA C , E L MOOOOOoOo
Y 10,
“ B'00

2000000

] /Rt SUOO0OPTO

i P ‘
<¢ 1 g 0 i
S 7

[E—
81 CC w
5 ) X000000
© mwoooo @ DDeT0OOOO0 320100
000000 12500000 @ DDgTO 00000 1250250
00000 ED00OO0O0
Qoo00f N E. L MODDOOO L C

= allio] — fieSE
s

oooooo
oooooooooOosbOo0Oe20 000000000000

g A B cot D DD

O

0 |ooDooo | 000000 | 000000 |000000 (000000 ElLIMPQ S | T IWE XY | AAIBBICC

B e 2 G aet mRt eob el prl o) e el R el me e

M16 | M12 25 18

32(0 | 18/ 14| O | x| |0 Lophioan 0| 14) 120343430 39 | 88 | 58| ¥ |12| 11| 150 | 40 | 88 | 109 | 11
M24 | M20 | M16 | 35 30 25

40| 28| 22| 18| |« x|l ot g 24| 19| 14146 40| 36|30 | 30 | 88 | 65| ¥y |12 11| 152 | 46 | 95 | 11811
M30 | M24 | M20| 45 | 35 | 30

50| 36| 28 22| » | x| * | gort asct aor| 30| 24| 19] 55| 46 40|30 | 44 | 96 | 80| Bp |12|13| 168 | 58 | 115|145 | 14
M39 | M30 | M24 | 60 45 35

63| 45| 36| 28 | * | * | 7a0tssontr agn| 41 30| 24|65 | 55 46| 35| 42 | 104| 94| Fp |12 15| 1775 65 | 132|165 | 18
M48 | M39 | M30 | 75 60 45

80| 56| 45| 36| x| * | * | oot et eon 50| 41| 30/ 80| 65 55|35 | 48 | 118|110 ¥y |12|18|2005| 87 | 155 | 190 | 18
M64 | M48 | M39 | 95 75 60

100| 70| 56| 45| x| x| * ok gerts 7ac| 65| 50| 41 95| 80 | 65| 40| 54 | 120 | 138 | ¥y | 1220|2115 | 109 | 190 | 230 | 22
M80 | M64 | M48 | 120 | 95 75

125| 90| 70| 56 85| 65| 50|115| 95 80| 45| 63 | 134 | 168 | 1 [15|24| 243 | 130 | 224 | 272 | 26

20 | 20 | 150 1400 12800 967
M95 | M72 | M56 | 140 | 110 | 80
20 | 20 | 20016500 12800 112(]
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 200 17500 12800 12001
M100{ M80 | M64 | 150 | 120 | 95
20 | 20 | 20 M 17500 14000 1281)

M120| M95 | M72 | 180 | 140 | 110 2 9 212 by,
2o | 20 | 02100 1650 1281120| 95| 75]150| 1251105 55 | 75 | 172|235 | 1

M130{M100| M80 | 195 | 150 | 120 Ez
5o | 50 | 50t 2250 17508 1400] 135/105| 85(170{140115| 55 | 85 | 184 | 262 | 1

M150|M120| M95 | 225 | 180 | 140

20 20 2)(.0 0 2600 2100 1750 155(120| 95[195|150(125| 60 | 89 | 184 | 292 11']2
M170{M130{M100| 255 | 195 | 150
20 | 20 | 2002950 22500 175(]

140/100| 80| 63 95| 75| 55|125|105(85|50 | 65 | 142|188 | 1 |15| 26| 255 | 145|250 | 300 | 26

150|106| 85| 67 100| 80| 60(135(110|90 |50 | 67 | 147|196 | 1 |15|28| 265 | 155|270 | 320 | 30

160{110| 90| 70 105| 85| 65(140{115|/95|55| 66 | 158 | 215| 1 |15|31|281.5|170| 285|345 |33

180|125/100| 80 15|33 | 302 |185|315|375|33

MPa
O
O
O
O
O
O
O
O
O

200{140|110| 90 15| 37| 330 | 206 | 355 | 425 | 36

220|160|125|100 15| 41| 339 | 230|395 475 |42

250{180{140|110 175]135|105|215|170(140| 65 | 106 | 200 | 325 | 2 |15|46| 383 | 250 | 425| 515 | 45

1. ooooooOooOoooooocoom moooooooo

7/14 MPall 00000000 631



FDOOOOOOOOOoQgggd......... 0000 70 14 MPa
®
BB
AA Y
Y _B00 [ E L MOODOODODO W,
2000000 —
/ RE SUOOOPTO
() ﬂ;ff,i:@)f,i ,,,,,,,,,, j:FLfW
7z Z
| | <| @ < B AR Y f,
mgEe L@ ©
#-E'IIE;“D" I A
8lg CC Xx000000 N
© Toooo
goDoooD 12500000
ooooOod ED0O0000 ¢ DDeld
Oogoog* N E L MOOOGOGOOd L C DSDDEDD 320 100
¢ DDg
10 000000 1250 250
S — |
<
lol— o=
= L ———— — | L \
B"O0O
oooooo
D000000000SDOD6E0 000000000000
= A B cot D DD
O
O |oooooo| oooooo | oooooo |oooooo [oooooo SR R U A
D A g ot ad B4 ¢ ad B7d o A B o A B[ o
s2l0 | 18] 14| 0 MM 0 L2 0| 14| 12) 0 |34 |34] 30| 30 | 88 | 58| ¥ [12] 11| 182 | 40 | 88 | 109 | 11
- 15 | 125 13200 240 5
40| 28| 22| 18|"24 MO MIB| 30|30 | 2 1 o)l 19] 14) 46| 40 [3630| 39 | 88 | 65 $p [12(11] 182 | 46 | 95 | 118 | 11
15| 15 | 15 D 480040000 320
50| 36| 28| 22| 0| M2 MP0| 4| 35 | 30 | o5l o4] 10|55 | 46 (40| 30| 44 | 96 | 80 p|12|13| 198 | 58 | 115 145 | 14
05 | 15 | 15 [0 6000 48001 400
63| 45| 36| 28| "0 | MO M| 0 45 3 a0l 4l 6 635| 42 [104] 94| b, |12 213 | 65 | 132 165 | 18
e | e b7sch oo 480 4| 65| 55 | 46| 35 104 | 94 12]15| 21 5 | 132 165 | 1
80| 56| 45| 36| M| M| M| | €0 |45 gl A1) 30/ 80 65 |55 35| 48 | 118 | 110 %, (12|18 237 | 87 | 155|190 | 18
15 | 15 | 15 09600 7800 600
M64 | M48 | M39 | 95 75 60
100| 70| 56/ 45 65| 50| 41/95| 80 [65|40| 54 | 120|138 | 3 [12 (20| 252 | 109 | 190 | 230 | 22

20 | 15 | 150 12800 96000 7800
M80 | M64 | M48 | 120 | 95 75
125] 90| 701 56| x| x| *o 1 1400 1280 9601
M95 | M72 | M56 | 140 | 110 | 80
20 | 20 | 200 16500 12800 112(]
M100{ M76 | M60 | 150 | 115 | 85
20 | 20 | 2001750 12800 12001
M100| M80 | M64 | 150 | 120 | 95
20 | 20 | 20017500 1400 1280]

M20| VS| 72| 189 | 140 | 10 120| 95| 75|150(125(105| 55 | 75 | 172 | 235 | 1}y
2)(,0 zx_o zx_o [ 21000 1650 128L]

M130{M100| M80 | 195 | 150 | 120 EZ
5ol 20 | 50 22500 17508 1400] 135/105| 85(170{140115| 55| 85 | 184 | 262 | 1

M150{M120| M95 | 225 | 180 | 140

;0 ;O 2x.0 o 26000 2100 17501 155(120| 95|195|150|125| 60 | 89 | 184 | 292 1@2
M170{M130{M100| 255 | 195 | 150
20 | 20 | 2002950 22500 175(0

85| 65| 50(115| 95 |80 45| 63 | 134|168 | 1 |15| 24| 289 | 130| 224 | 272 | 26

140|100| 80| 63 95| 75| 55|125|105(85|50| 65 | 142188 | 1 |15| 26| 306 | 145| 250 | 300 | 26

150{106| 85| 67 100| 80| 60({135{110(90|50 | 67 | 147|196 | 1 |15|28| 318 | 155| 270 | 320 | 30

160|110| 90| 70 105| 85| 65|140({115|95|55| 66 | 158 |215| 1 |15|31| 339 | 170|285 | 345 |33

180{125/100| 80 15| 33| 363 | 185| 315|375 33

200{140|110| 90 15| 37| 393 | 206 | 355 | 425 | 36

220|160|125|100 15| 41| 406 | 230 | 395 | 475 | 42

250{180{140|110 175]135|105|215|170(140| 65 | 106 | 200 | 325 | 2 | 15|46 | 457 | 250 | 425| 515 | 45

U1 oooobooooobboooboocobm mooooboooo

632 7/14 MPald OOOOOOOO



googoon

FEODODOOOODODOODOODOO........ 0000 70 14 MPa

C U \% MOOOOOO

noooo “ B"0O0O EE 2000000
Rt SO OO0OPTO

i “D”

40 CC W

Xo0ooooo

000000 12500000

¢ DDe70 000000 OB20 100
¢DDg7O 000000125
gooobo0ouo0O000oobooOO0ob00booboOoOo0oobboOo

ooooo
gooog* N
ECO00OO0O0
‘Ui \ MOOOOOO L C
RS N e —— ;‘JL,_,
G —— @ |[pEss
“B"
oooooo
gooooopoooosbooee0 00 000D0OODODOO0O
E A B CO1 D DD
EDDDDDDDDDDDDDDDDDDDDELMQSTUVWXYZAABBCCEE
0 0000 |00000D0 |ODOO00DoDO (D000 (oooa
0« A% B*l c* A1 B"% C"t A’ B”t C™ A®| BY c"| A®| B C”
M16 | M12 25 18
32|00 | 18] 14| O x x 0 0| 14| 12/ 0O | 34| 34{30| 39| 88| 58 12128| 41|13| 152 | 40| 63| 88|109| 11 | 8
15 | 1.25 [0 32000 240
M24 | M20 | M16 | 35 30 25
40| 28| 22| 18 x 24| 19| 14| 46| 40| 36/30| 39| 88| 65 12 (28| 41|13| 154 | 46| 69| 95(118| 11 | 8

15 | 15 | 15 D 4800 4000 320

M30 | M24 | M20 | 45 35 30
50| 36| 28| 22| ~_ 15 | 15 060004800 4000
M39 | M30 | M24 | 60 45 35
15 | 15 | 15 {17800 6000 4800
M48 | M39| M30| 75 | 60 | 45
80| 56| 45| 36 1x.5 1X.5 ;5 1 96011 78001 600 50| 41| 30| 80| 65| 55|35| 48|118|110
M64 | M48 | M39 | 95 75 60
20 | 15 | 150 12800 96011 7800

M80 | M64 | M48 | 120 | 95 75
125) 90| 70| 56 20 | 20 | 150014000 12800 9601
M5 | M72 | M56 | 140 | 110 | 80
20 | 20 | 200 16500 1280 1120]
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 20 0 1750 1280 1200}
M100| M80 | M64 | 150 | 120 | 95
20 | 20 | 20017500 1400 128(]

M20| M35 | 72 | 180 | 140 | 110 120| 95| 75/0 | O | O |55| 75(172|235 ljr]4
20 | 20 | 200 2100 1650 128(]

My30|M100] M0 | 195 | 150 | 120 135|105 85/ 0 | O | O |55| 85(184|262 l‘hz
20 | 20 | 200 022500 17500 1400]

M150{M120| M95 | 225 | 180 | 140

ZX.O ZX.O 20[ 26000 2100 175[155 120/ 95/ 0 |O |O |60| 89184292 ljr:h
M170{M130{M100| 255 | 195 | 150
20 | 20 | 200029500 22500 17501

30| 24| 19| 55| 46| 40/30| 44| 96| 80 12|25| 49|18| 173 | 58| 85/115|145| 14 | 5

63| 45| 36| 28 41| 30| 24| 65| 55| 46|35| 42|104| 94 12 |30| 47|20|182.5| 65| 98/132|165| 18 | 5

12 |29| 54|24|206.5| 87|118/155|190| 18 | 4

gede | ses

100| 70| 56| 45 65| 50| 41| 95| 80| 65|40 54(120|138 12 32| 62|28|219.5|109|150{190|230| 22 | 2

85| 65| 50[115| 95| 80(45| 63|134(168| 1 |15 36| 72|33| 252 |130|175|224|272| 26 | 1

140(100| 80| 63 95| 75| 55| 0 |0 |0 |50| 65]142(188| 1 |15 |39| 76|37 266 |145/195|250|300| 26 |

150(106| 85| 67 100 80| 60/ 0 (O |O |50| 67 (147|196 1 | 15|39| 78|39| 276 [155|210|270|320| 30 (O

160|110| 90| 70 105| 85| 65/ [0 | O |55| 66|158|215| 1 | 15|45| 76|41|291.5|170|225|285|345| 33 |[J

180|125(100| 80 15 |42| 88|46 315 |185/243|315|375| 33 |0

MPa
O
O
O
O
O
O
O
O
O

200(140{110| 90 15 (41| 99|51| 344 |206/272(355|425| 36 |

220(160(125|100 15 |43|106|58| 356 |230/310(395|475| 42 |0

250(180(140|110 175/135|105/ 0 |0 | O |65]106|200|325| 2 | 15|46|125|65| 402 [250|335|425|515| 45 O

1. 0booooooO0ooOo0bcO0bom moooooooo

7/14 MPall 00000000 633



FyOoOoooooooobooo..... 0000 70 14 MPa

‘ C E \" MOOOOO0O )

Tooon « 00 EE_ 2000000

/ Rt SO OOOPTO
™ R s — ]
i Y |

— :ﬁ'ﬁg“D" W
\4Je CC X000000

000000 12500000

¢ DDe70 0000003320 100
¢ DDg70 0000001250 250

gooon
goooo® N
EDO0O0O0O0O0
E _V MoOoooooo L C
4t ";
o e lo{ENs
.| [ s —— 77777'»
“gr
oooooo

oooooobooooosboOde2sd000OOOoOOOOOO

E A B Col D DD

EDDDDDDDDDDDDDDDDDDDDELMQSTVWXYZAABBCCEE

g|0ooojbooob0|0bo0|ooobooof

Y AY B* C'f A1 B"1 C"t A" B"] C™ A" B’ C"|A*| B" C"

M16 | M12 25 18

32| 0 | 18| 14| O 55 115 a b 3200 240 O | 14| 12/ O | 34| 34/30| 39| 88| 58|%,|12| 41/13| 152 | 40| 63| 88|109| 11 | 8
M24|M20 | M16| 35 | 30 | 25

40| 28| 22| 18 25 |15 | s bason400n 320 24| 19| 14| 46| 40| 36/30| 39| 88| 65|%%|12| 41|13| 154 | 46| 69| 95|118| 11| 8
M30 | M24|M20| 45 | 35 | 30

50| 36| 28| 22 25 | 15 | 25 b0 s 400 30| 24| 19| 55| 46| 40/30| 44| 96| 80 ]r:lg 12| 49/18| 173 | 58| 85/115|145| 14 |10
M39 | M30 | M24 | 60 45 35

63| 45| 36| 28 S5 | 15 | s 0780 eonp 480 41| 30| 24| 65| 55| 46|35| 42|104| 94| 5, |12 47/20| 182.5 | 65| 98132|165| 18 | 10
M48 | M39 | M30| 75 | 60 | 45

80| 56| 45| 36 55 115 | s besnh 7800 600 50| 41| 30| 80| 65| 55|35| 48|118(110|%} |12 | 54|24| 206.5 | 87(118|155|190| 18 | 10
M64 | M48 | M39| 95 | 75 | 60

100| 70| 56| 45 So | 2% | 150 1280h 9601 780 65| 50| 41| 95| 80| 65/40| 54|120|138| %y |12 | 62|28| 219.5 [109]150 190|230 22 | 10

M80 | M64 | M48 | 120 | 95 | 75
125/ 90| 70} 56| "1 x| st 1400) 12801 9600
M95 | M72 | M56 | 140 | 110 | 80
20 | 20 | 200 16500 12800 1120]
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 200 1750 1280 12001
M100| M80 | M64 | 150 | 120 | 95
20 | 20 | 200 17500 14000 1280
M120| M95 | M72 | 180 | 140 | 110

5o | 20 | 502100 1650 128[120 95| 75/150(125/105(55| 75|172|235|1ky

M130{M100| M80 | 195 | 150 | 120 13511 170l140l11 184|262 11
5o | 50 | 50 0 2250 1750 1401 35(105| 85(170|140(115|55| 85|184 |26

M150{M120| M95 | 225 | 180 | 140

20 ZX.O ZX.O i 2600 2100 175[155 120| 95(195|150|125|60| 89 |184 |292 1@2
M170{M130/M100| 255 | 195 | 150
20 | 20 | 2.0 02950 22500 1750

85| 65| 50{115| 95| 80(45| 63|134|168| 1 |15| 72|33| 252 |(130|175|224|272| 26 |10

140{100| 80| 63 95| 75| 55/125|105| 8550 65|142|188| 1 |15| 76|37| 266 [145/195|250|300| 26 |10

150|106| 85| 67 100/ 80| 60|135/110| 90|50| 67[147|196| 1 |15| 78(39| 276 |[155/210/270(320| 30 | 10

160|110| 90| 70 105| 85| 65[140(115| 95|55| 66 |158|215| 1 | 15| 76|41 291.5 |170|225|285|345| 33 | 10

180{125/100| 80 15| 88|46| 315 [185]243|315|375| 33 |10

200(140|110| 90 15| 99/51| 344 |206(272|355(425| 36 | 10

220|160|125|100 15 |106|58| 356 (230(310|395|475| 42 |10

250(180{140|110 175|135|105(215|170|140/65| 106 | 200 | 325| 2 |15 |125|65| 402 |250|335/425|515| 45 |10

U1 oooooooooooooocoom moooooooo

634 7/14 MPald OOOOOOOO



googoon

gooo 7014 MPa

®
BB ‘
AA ‘ c E L MOOOOOD w
5 Q noooo B'00 2000000
‘ Rt SO O0O0OPTO n
O -0 © \ I S
ol OB |-dxe SCBI @] @
d@—elo - =1
~ } 1 —IfifE“D” —
Xoooooo
© 419 CC
000000 125°00000
ooooo
gooog* N
uoooooo
Eo L MOOooog v C @ DDe70000000B20 100
EE @ DDg70000000125
00000001400 000MMO0
77777777 1] 0000000000000
ffffffff BONIESE
77777777 ¥ | U 1
“B"hL
gooooo
goooooboooosbooee0 D0 O0O0DOOOOOOO
E A B CO1 D DD
E oooo oooo oooo oooo EIDIZIIZIE Lim|ol|s |T|ulv|w|x|y]|z|salBsleclee
0 oooo Ooooo ogooo opooo |(0DoOoad
0 A" B™ C"t A"t B"1 C"{ A"l B"{ C" A B* C*| B* C”
M16 | M12 25 18
32|00 | 18| 14| O ;5 1‘x25 O b 3200 240 0| 14| 12|34 |34|30| 39| 88| 58 % 12|28 | 41]13|184| 40| 63| 88/109| 11| 8
M24 | M20 | M16 | 35 30 25
40| 28| 22| 18 1x.5 £5 1x.5 b 48000 400h 3200 24| 19| 1414036 (30| 39| 88| 65 ﬂg 12|28 | 41|13 |184| 46| 69| 95118/ 11| 8
M30 | M24 | M20 | 45 35 30
50| 36| 28| 22 s s | 5 [ eonh 480 4000 30| 24| 19|46 (40 (30| 44| 96| 80 ]r:|2 12| 25| 49|18 |203| 58| 85[115(145| 14| 5
M39 | M30 | M24 | 60 45 35
63| 45| 36| 28 ;5 ;5 1x‘5 b 78000 6001h 480 41| 30| 24| 55|46 |35| 42|104| 94 Ez 12|30 | 47|20 |218| 65| 98/132|165|18| 5
M48 | M39 | M30| 75 60 45
80| 56| 45| 36 1X.5 £5 1X.5 0 9600 78010 6001 50| 41| 30{65|55(35| 48(118|110 :ﬂl 12|29 | 54|24 |243| 87(118|155/190| 18| 4
M64 | M48 | M39 | 95 75 60
100| 70| 56| 45 20 £5 ;5[ 128011 96011 7800 65| 50| 41|80 |65|40| 54|120(138 :D4 12|32 | 62|28 |260{109(150|190(230( 22 | 2 MPa
M80 | M64 | M48 | 120 | 95 | 75 O
125| 90| 70| 56 50 20 1x-5 t 14000 12800 960 85| 65| 50| 95|80 |45| 63|134(168| 1 |15|36| 72|33 (298|130(175(224|272| 26 | 1 0
M5 | M72 | M56 | 140 | 110 | 80 O
140|100| 80| 63 20 £O ZX.OD 16500 12800 11201 95| 75| 55| 0 | O |50| 65(142(188| 1 |15|39| 76|37 [317|145|195(250|300| 26 | (I 0
M100| M76 | M60 | 150 | 115 | 85 ]
150(106| 85| 67| x x x 100 80 60| O | O (50| 67(147|196| 1 |15|39| 78|39 |329|155(210{270(320| 30 | [0
2.0 | 2.0 | 2.0 017500 1280 1200 0
M100| M80 | M64 | 150 | 120 | 95 O
160{110| 90| 70| x * x 105| 85| 65| 0 | O |55| 66(158(215| 1 |15|45| 76|41 |349|170|225(285|345| 33 | O
20 | 2.0 | 2.0 0 17500 1400} 1280 0
M120| M95 | M72 | 180 | 140 | 110 0
180|125(100| 80 leo 2X.0 2)(.0 0 21000 1650 12811 120| 95| 75| 0 | O |55] 75|172|235 13r]4 15|42 | 88|46 |376(185(243|315(375| 33 | I
M130/M100| M80 | 195 | 150 | 120 E
200{140(110| 90 20 £0 zx.of 29500 17500 1400 135(105( 85| 0 |0 55| 85(184|262 11£b 15|41 | 99|51 |407|206(272|355[425| 36 | [
M150{M120| M95 | 225 | 180 | 140
220/160{125|100 50 £O zx.o t 2600 2100 17501 1551120 95| 00 | O | 60| 89|184 292 llrjz 1543|106 | 58 |423(230(310|395(475| 42 | O
M170|M130|M100| 255 | 195 | 150
250(180{140(110 ;0 ;0 2)(.0 0 20500 22500 17501 175(135(105| 0 | O [65]106(200|325| 2 |15|46|125]| 65 |476|250(335[425/515| 45 | O

U1 oooooooooooooocoom moooooooo

7/14 MPall 00000000

635



cAUOO0OOO0OO0........ 0000 70 14 MPa
010000000

®
C | E L MODOODOOO | LV ToOooo o 5
2000000 ‘ X
« B 0D L Re¢ SUOOOPTD ]
L\ Hr— e — i R W Q‘I ©
s LIpl| @ @ - oo
- : ©Z H9
i - SHEAN
boop* b~ uoooooo ©
000000 125° 00000
gogogog
oooooa

poooooboooosboOe2s000OOooOoOOOOO

o A B cot D

0

0 |000000| 000000 | 000000 000000 EfL I MIQ| S | T|U VI W X z

Bl adptot abetbotatet ot ad gt e

s200 | 18] 14| o MM 0 B8 0| 14 12] 30| 39| e8| 8 12 |209| 20| 16| 25891 | 16
15 | 1.25 [ 3200 240 00.4

M24 | M20 | M16 | 35 30 25
40| 28| 22| 18| «x x x

15 | 1.5 | 1.5 P48004000 320
M30 | M24 | M20 | 45 85} 30
X X x

15 | 1.5 | 1.5 060004800 400

M39 | M30 | M24 | 60 | 45 | 35
63| 45| 36| 28| x x x 41) 30| 24| 35| 42]104| 94

15 | 15 | 1.5 0780060000 480
M48 | M39 | M30 75 60 45
5 | 15 | 15 [ 9600 7800 600
M64 | 48 | M39 | 95 | 75 | 60
20 | 15 | 15 012800 9600 7800
M80 | M64 | M48 | 120 95 75
20 | 20 | 15 1 140 128070 9601
M95 | M72 | M56 | 140 | 110 80

0ol
140(100| 80| 63 So | 50 | o0 01650 1280 1120] 95| 75| 55| 50 | 65| 142|188 | 1 15 |400| 79| 65| 80,5 | 63

ML00| N6 | 0| 150 | 115 | 85 |00l go| 60| 50 | 67 |147|196| 1 | 15 |412| 82| 65| 80201 | 63
2.0 | 2.0 | 2.0 [J 17500 128( 120(] 00.6

M00| 80| M4 | 150 1120 | 95 | oe | ac| 65| 55 | 66| 158 |215| 1 | 15 |445| 89| 75| 80201 | 71
2.0 | 2.0 | 2.0 [J 17500 14000 1280] 006

M120| M95 | M72 | 180 | 140 | 110
;0 50 2x.0 t 2100 16500 12871 120| 95| 75| 55 | 75172 235 154

M130{M100| M80 | 195 | 150 | 120
5o | 20 | 20 h2250h 1750 1400 135(105| 85| 55 | 85| 184|262 | 11,

M150|M120| M95 | 225 | 180 | 140
5o | 20 | 20 12600 220 1750 155[120| 95| 60 | 89 | 184|292 | 1y

M170|M130|M100| 255 | 195 | 150
2.0 | 2.0 | 2.0 (129500 2251 17501

24| 19| 14|30 | 39| 88| 65 12 |209| 20| 16| 25507 | 16

50| 36| 28| 22 30| 24| 19| 30 | 44| 9| 80 12 [230| 25| 20 |31.5552 | 20

12 | 261 | 40|315| 405033 | 315

80| 56| 45| 36 50| 41| 30| 35 | 48118110 12 [2091| 40|315| 40551 | 315

PSS I IR R g IS

100| 70| 56| 45 65| 50| 41| 40 | 54120 | 138 12 [316| 50| 40 | 50504 | 40

125| 90| 70| 56 85| 65| 50| 45 | 63[134168| 1 | 15 |365| 62| 55| 63507 | 50

150|106 | 85| 67

160(110| 90| 70

180| 125|100 80 15 | 480 (100 | 80 | 10053% | 80

200140110 90 15 | 526 [115| 90 | 12553% | 90

220|160 | 125 | 100 15 | 550 | 125 | 100 | 125554 | 100

250/ 180 | 140 | 110 175(135|105| 65 | 106 |200|325| 2 | 15 |596 | 125 | 110 | 125004 | 100

pioooooooooooobobcobom moooooooo

636 7/14 MPall 00000000



googoon

cBOOOoOOoOOO......... 0000 7014 MPa
020000000
®
c E L MOOOooo VW, 00000 Q 5
2000000 Y X Y
“ B'00 ,~ Rt SOOOOPTO |
] [ \'7}”;
N - © G
; - - _
3L @(ﬁgz FFH 0@
r=i & |- \
ooo D iz @ | @
uoooooo ¢ Zf8 ©
000000 12500000
ooooOod
oooooo
0000000000SbOOee0 000000000000

o A B cot D
O
0 |0000D0 | 000000 | 000000 (000000 ElL M Q| S| TlU IV W X Y|z
Dl ptgdctatetotatelotaletco
M16 | M12 25 18 0.4
32(0 | 18 14| 0 | = | 0| 0 Loohoa| O | 4| 12/30| 39| 88| 58| | 12 |209| 20| 16| 25577125 16
M24 | M20 | M16 | 35 30 25 0.4
40| 28| 22| 18| x| x| x aenl sl | 24| 19| 14| 30| 39| 88| 65| ¥y | 12 |209| 20| 16| 2551 (125] 16
M30 | M24 | M20 | 45 35 30 0.4
50| 36| 28| 22| x| x| x Leonbeh | 30| 24| 19/30| 44| 96| 80| Bp | 12 |230| 25| 20[315537| 16| 20
M39 | M30 | M24 60 45 35 00.4
63| 45| 36| 28| x| x| o h7snlaqopesn 41| 30| 24[ 35| 42|104| 94| By | 12 (261 40| 30| 40{51 |20 315
M48 | M39 | M30 | 75 60 45 J0.4
80| 56| 45| 36| x| *. | . boenlsenpagn 50| 41| 30[ 35 | 48[118|110| #y | 12 [201| 40| 30| 40{f1 |20 315
M64 | M48 | M39 | 95 75 60 0o0.4
100| 70| 56| 45| <" | x| =L ool ok ool 65| 50| 41|40 | 54|120|138| ¥y | 12 |316| 50| 40| 50507 25| 40
125 90| 70| 56| M| M| ME | 120 95 | TS | ool 6ol 50| 45| 63 |134|168| 1 | 15 |365| 62| 50| 63294 |315| 50
2.0 | 2.0 | 1.5 {11400 12817 9601 001 :
140/ 100| 80| 63| M| M2 MO | MO | 10| 80 | oot ool 55|50 | 65 142|188 1 | 15 |400| 79| 65| 80206 40 | 63
20 | 20 | 20 116500 12800 11201 0o.1
150|106 | 85| 67 |"5 | M| M| 0| 15 | 8 1001 go| 60|50 67 147|196 1 | 15 |412| 82| 65| 80206 40 | 63
2.0 | 2.0 | 2.0 [J17500 128(11 120(] 001 Y [=FY
160|110 90| 70|Vio0| MEO | Mo#| 350 | 120 | 95 |\t ool ool 55 | 66| 158 |215| 1 | 15 |445| 89| 75| 80006 |40 | 71 | =
20 | 20 | 2.0 [ 17501 140 128] 001 0
M120| M95 | M72 | 180 | 140 | 110 006 |
180|125 100 | 80| x| x|l ol e | | 120| 95| 75|85 | 75| 172|235 | 1ty | 15 |480|1200| 80| 100507 50 | 80 =
M130(M100| M80 | 195 | 150 | 120 00.6 O
200{ 140 120 | 00| x T x Tl x T e ek 1aor] 135|105 | 8585 | 85184 | 262 | 1ty | 15 (526 | 115 | 90| 125(0% | 63 | 90 :
220|160 | 125 | 100 | V0| M0 M | 225 | 180 | 140 |y 100 | 05| 60 | 89 | 184 | 292 | 1F, | 15 | 550 | 125 | 100| 125096 | 63 [100 | M
2.0 | 2.0 | 2.0 [J2600 21000 1750 0o.1 0
250|180 | 140 | 110 | M0 MO ME00| 295 | 195 | 150 | ooty ac 105 | 65 | 106 | 200 | 325 | 2 | 15 | 596 | 125 | 110| 125296 | 63 | 100
20 | 20 | 2.0 112950 225m) 1750 001 0
11000000000000000CO0MM MOo0000o0on E

7/14 MPall 00000000 637



TAODOOOOOOOoooooooao........ 0000 7014 MPa
®
Y
X w X c_,_E L MOOOOOO
rRZ 2000000
‘ T B 00 Rt SO OOOPTO
[N H T 7 T H
@ @ ; \ JE: 1 -
o H{O) [T lee <L BIHO | @
e e S —F
00 i
Q \ - MM jooooo 125
© = u_ | NODDOOO ooooo
I:l T
oooooo 125 m
ooooo 0000000000000 000000o0o00oooOooooOoooa
000000O0ooooo
0ooooo®

00000000000
00000oooooE
0000000000000@O®@©@®O000000000

googn
ooooo® N EDO0OOO0O
_E L MOOOQOOOd L C
{; R S e — [ ] ;}
o |e|bEae
e By
i .
oooooo
0000000000SDbO0660000000000000
= A B cot D
O
0 loooooo|oooooo |omoooo |omooo Sl e A T N W O I
Bl e @ gl et @ ot e @) gt m @
200 | 18] 14| o MM 0 L2 0| 1a] 12) 30|30 | 88 |118| 58| % [12| 62| 58,9, | 20 | 98| 2 |49
15 | 195 1 3200 2400 003
40| 28| 22| 18"t M| M| B 130 1B | o)l 19l 14|30 | 39 | 88|120| 65| 3% [ 12| 62| 69,2, | 20 | 100 | 2 | a9
15 | 15 | 15 04800 4000 320 003
50| 36| 28| 22| "0 | M| MO 45 | 35 30 | a0l o4l 10|30 | 44 | 96 |132| 80| By | 12| 66| 85,0, | 25 | 135 | 25 | 56
05 | 15 | 15 [0 6000 48001 400 0035 -
M39 | M30 | M24 | 60 45 35 :EZ 0
63| 45| 36| 28| < | x| x Lot oo | 411 30| 24| 35 | 42 | 104 | 138 | 94 12| 74| 98,9, (315|161 | 25 | 44
go| 56| 45| 36| ™| M| MO 0| 80|95 | ool 41| 30| 35 | 48 | 118 | 153 | 110 | ¥y | 12| 82 |118,0. | 315 | 181 | 25 | 50
15 | 15 | 15 09600 7800 6000 noss | 3L :
100| 70| 56| 45| "t MM B | 75| €0 | ool col 41| a0 | 54 | 120|162 | 138 | B | 12| 89 |145.9, | 40 | 225 | 3 |57
20 | 15 | 1.5 0 12800 96011 780 004
M80 | M64 | M48 | 120 | 95 75 0
125 90| 70| 56| x| x| <l oo 85| 65| 50| 45 | 63 | 134 | 185|168 | 1 | 15| 103 |175,0, | 50 | 275 | 3 | 67

M95 | M72 | M56 | 140 | 110 | 80
20 | 20 | 200 16500 12800 112(]
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 2001750 12800 12001
M100| M80 | M4 150 | 120 | 95

20| 2.0 zx.o [ 17500 14000 128[]

140|100/ 80| 63 95| 75| 55/ 50 | 65 | 142 | 193 | 188 | 1 | 15| 112 |195.3,,| 63 [ 321 | 4 |74

150{106| 85| 67 100| 80| 60| 50 | 67 | 147 | 203 196 | 1 | 15 | 112 206D(0).46 63 [ 332 | 4 |74

160|110| 90| 70

105| 85| 65| 55 | 66 | 158 [ 210 | 215| 1 | 15| 126 218D8.46 71 | 360 | 4 |81

U1 oooooooooooooocoom moooooooo

638 7/14 MPall 00000000



googoon

TCOOOOOoOoOOoOOoooo......... 0000 70 14 MPa
cC ,E, L MODODO00
o 200000
B'00 Rt SO 00 0PTO
\ {E 7774{:;)7,f7i,4,,
< 1L T
$ L H@® O
R —— =1 °F
ooo o v
uoDH00000 [ NOB,00D00
000000 12500000
googg
ooooo* N
E0O0000
E L MODOOO00 L C
HT= ,,,72 — T T hr
e o &/ e
1O 0 (&=
uoB00000 g 1s
2 | Bl
goooono
O00O000o0oOooosbode0 D0 0O000OOO0OOO

a A B cot D

0

0 loooooo|oooooo |0moooo [omooo e T = I O I A A A (=

o4 A B ¢t At B ot Al B o A B o

M16 | M12 25 18 0

320 18] 10 |00 0 |00 14 12) 30 | 39| e8| 67| s8| ¥y |12|113] 30| 58,0, | 20| 98] 2
M24 | M20 | M16 | 35 30 25 0

20| 28| 22| 18| = || | e sonhaan) 24 19] 14/ 30| 39| 88| 69| 65 | ¥y |12 13| 30| 690, | 20109 2
M30 | M24 | M20 | 45 35 30 0

50| 36[ 28| 22| | | L Lo Ll 30| 24] 19| 30 | 44| 96| 77| 80 | By |12|121| 38| 8505 | 25(135|25
M39 | M30 | M24 | 60 45 35 0

63| 45| 36| 28| || Do | e] 41] 30| 24) 35| 42| 04| 80| 94| By [12|132| 45| 98,04 315 161 |25
M48 | M39 | M30 | 75 60 45 0

80| 56| 45| 36| x| = || ec e o] 50| 41] 30| 35 | 48| 118 89| 110 | ¥y | 12| 146 | 45| 118,04 |315| 181 |25
M64 | M48 | M39 | 95 75 60 0

100| 70| 56| 45| | T | T DL o ) 65| 50| 41/ 40 | 54| 120| 95| 138 | ¥y |12 |156| 57| 145.0, | 40| 225 3
M80 | M64 | M48 | 120 | 95 75 0

125) 90| 70| 56| x| 2| L eer| 85| 65| 50| 45| 63 |134 | 111 | 168 | 1 |15 |17 58| 17548, | 50275 3

M95 | M72 | M56 | 140 | 110 | 80
20 | 20 | 200 16500 12800 11201
M100| M76 | M60 | 150 | 115 | 85
20 | 20 | 200 1750 1280 12001
M100{ M80 | M64 | 150 | 120 | 95
20 | 20 | 200 17500 14000 1280
M120| M95 | M72 | 180 | 140 | 110

5o | 50 | 502100 1650 128[120 95| 7555 | 75|172| 141 235 | 15y

e B [ S £ 135(105| 85| 55 | 85| 184 | 153 | 262 | 1},
2)(_0 2)(_0 zx_o[ 2250 1750) 140(]

M150{M120| M95 | 225 | 180 | 140

50 ZX.O 20[]260[]]210[ 175[155 120| 95| 60 | 89 | 184 | 158 | 292 1]r]2
M170|M130[M100| 255 | 195 | 150
20 | 20 | 2.0 029500 22500 1750

140{100| 80| 63 95| 75| 55|50 | 65| 142|117 | 188 | 1 |15|188| 78 19558_46 63321 4

150|106 85| 67 100| 80| 60| 50 | 67 [147 | 121|196 | 1 |15|194| 782065, | 63|332| 4

160{110| 90| 70 105| 85| 65/ 55| 66158 |129| 215 | 1 |15 |207| 88 21858_46 71,360 | 4

180(125|100 80 15| 216 | 982435, | 80403 4

MPa
O
O
O
O
O
O
O
O
O

200|140|110| 90 15| 232 | 108 | 272,55, | 90| 452 | 5

220|160(125|100 15 | 241 | 117 | 300, 5, | 200 | 500 | 5

250|180|140(110 175(135|105| 65 | 106 | 200 | 177 | 325 | 2 | 15| 271|117 | 335,05, | 100 | 535| 5

U1 oooooooooooooocoom moooooooo

7/14 MPall 00000000 639



= 00000
gooo
10000000000000" L 20000000000000% M oooo kg
@CDf8 oooo | B 000
7 0000 |1mLg2m Mo
2 ! B[ 05| 06
& Ll ; %2 ¢l 05 | 06
= | ol B B O , B| 04| 05
40
" © | cl o5 o6
2 | | } 5 Bl 09| 10
cc L | C| 09 11
3 cc L 63 Bl 24| 34
seors c[esos
ER CA @CD H10 ER CA . .
80 Cl 24 | 3a
B| 42| 70
100
N q c| 48| 75
O
B| 84 [ 134
S8 °
%’( ‘ 125 198 | 148
‘ B| 190 | 264
J 140
c| 211 | 285
B| 168 | 242
10 cl1e7 [ 211
B[ 224 [ 321
160
C| 248 | 345
o| o ol o
Sho| Kk | Flcalcclep|cFlER| F|J (L SEB0| KK | F [CAlcC|CD|CF[ERCW Fw |cv[cP|J | L
0o|oo 0o oo
B [M16x 15 | 34 Dol B [Mi6x 15 | 33 D04
2 i 15 o7 ©0/23|16] 3920| 25007 | 8|37 32| oo lo) 60| 27| 16| 3216125 25,17 |12/ 68| 4 33
B |M20x 15 | 39 001 B |M20x 15 | 33 004
40 Taniex 15 [ agl 00/23|16(39(20| 25507 | 8 |37 40|~ o0l 60) 2716 32/ 16 {125 25007 |12 68| 4| 33
B [M24x 15 | 44 oot B |[M24x 15 | 38 Do4
50 Ty 15 |30 70|28|20| 49|25|31.500% | 10(42 50—t o oo 70| 32|20/ 40| 20|16 3150 | 12 80|10 38
B |[M30x 15 | 50 001 B |[M30x 15 | 50 004
63 1 Tvmax 15 | 4a|t15| 43[315( 6235 | 40507 15|72 63|~ 11 ", 1115 50315 60|30| 20| 40507 |12 98|12 65
B [M39x 15 | 65 ool B |[M39x 15 | 65 D04
80 1o 15 5ol 115 43 BLS| 62|35| 40507 15|72 80— - 115 50815 60|30 20| 40(17 |12/ 98|12 65
B [Masx 1. B |M48x 1.
1002 M3§x 1; gg 145/55|40| 79/40| 50007 |20(90 100 c M3gx 1'2 22 145| 60| 40 | 8040 | 25| 50537 | 18|125/15| 85
B | M64x 2.0 [100 Dol B | M64x 20 [100 D04
125 1w 15| gol180| 65| 50 [100/50 | 63157 | 25115 125~ - 1180|7050 100 50 315 63507 | 18 [150| 20 |110
B |M72x 20 [115 B |[M72x 20 [115
140 e o | gs[225| 85 | 63130/ 65 807 02 |30 (140 140 < Tsoe 2.8 g5|225| 90| 63 120/ 65 | 40 805 9% | 18 |185| 25 |135
B [M76x 20 |120 B |M76x 20 [120
150 T yene 20 | 00l225| 85 | 63130/ 65 805 04 [30 (140 150 o Twsoe 20 | 901225| 90| 63 [120/ 65| 40 805 5% | 18 [185| 25 |135
B | M80x 20 [125 B | M80x 20 [125
160 T yieax 20 1100I240| 90 | 71 [140) 70 807 02 |35[150 160 < Tsax 20 T1001240/100] 71 [140] 70 | 40 805 9% | 18 |185| 30 140

jbooobobisobooOobOOOOOOOOOOODODO

640 7/14 MPall 00000000




googoon

= OJ0O0O0Og

godddodddooooooo* K

M120 M95 M1000 M130
« KK OO “ KK"OO
2N 49DDOO Z —
7 \\ N
(@] ’*‘ > J
\ / |
7 i
B H
KK H| e | c |PHEH KK H| s | ¢ [PPED KK H| Db |op| z [PBEH
kg kg kg
Mi12x 125 | 7| 19| 219 | 002 || Ms6x2| 34| 85| 98| 16 M100x 2 | 60 | 150 | 15 | 18 4.9
M16x 15 | 10| 24 | 277 | 005 || M60x 2| 36| 90 | 104 | 1.9 M120x 2 | 72 | 180 | 15 | 18 8.9
M20x 15 |12 | 30 | 346 | 0.1 M64x 2 | 38| 95| 110 | 2.2 M130x 2 | 78 | 200 | 20 | 25 | 11.9

M24x 1.5 14| 36 | 416 0.1 M72x 2 | 43| 105 | 121 3.0
M30x 1.5 18 | 46 | 53.1 03 M76x 2 | 46 | 110 | 127 3.6
M39x 1.5 23 | 60 | 69.3 0.6 M80x 2 | 48 | 115 | 133 4.0
M48x 1.5 29 | 75 | 86.5 1.1 M95x 2 | 57 | 135 | 156 6.5

= 0J0oOoogo

70
CIT 14000 32050

0oo| o 0 0 0’| o u] o’ O 0
ooooo
00000 |00000 00000000 (0000 (000000~
UUOU |0 0o 0|0 0O O|00D0D|000C0jooooloononloonooloonnn 00000, qg
O 00 O0|0000|0000 |0Do0o JS B ]
oke) > 0JIS B 240101B0 sapin1a WO O O MPa
g 3\ 000 o™\ g Nm
oo\g\ooooo 1 1 2 2 1 1 1 2 2 g
B | KSICJT32B020 | SDRI18| SKYI18
32 o warcTaaciao |sbrite | sxyiia | SKYD24 |GRUZ2| P21 P12 S12 P14 P5 18 g
A | KSICJT40AT20 | SDRU28 | SKyn28 G30 0
40 [ B | KSICIT40BI20 | SDRO22 | SKY022 | SKYO30 |GRI40| . | P16 s16 P14 P5 35 0
C| KsS1ciT40C020 | SDRO18 | SKYI18 0
A | KSOCJT50A120 | SDRU36 | SKYD36 G40 0
50 [ B | KSOCIT50B120 | SDRO28 | SKYI28 | SKYD40 |GRISO| .| P20 520 P14 P5 62 0
c | KsociTsocn20 | sDR122 | skyn22
71 DO0DO0D0ODO0O00O00O0000O00000000000000000000000

2. ODooooooooOoOooOoOOOOOOOOOOOOOOOOOOOOOOOOOOO0O0O0O0O0O0O0O0O0O0O0O0000000000
goooooooooooooOorOD0obOb0oOooooooooo

Us. oooooooooo* GrRr OOoO0Oooooo

04 poOoooOOoOooOo+ s oooooooonono

0000o0oooooooooooooooogo

7/14 MPall 00000000 641




= O00Ogoood

T 14990 6301 250
?? %%% o
il Sl
; j | _Jl
T TS Y
oog ] O | O ] ] O ] O
0oooog
oooo 00000 |00000 [00000000|0000 (0000000|
00000 00000 | 0000joopo(o000|lo00Ooo00|0onnn a6
E g OO0 D0|0D000|0000 |[00oo0 03IS B 24010180 (2ﬂ)slu?A -
E \O\ oo o N N
O 0 (o0
oo\g\00000 1 1 2 2 1 1 1 2 2
A | KSICJT 63A020 | SDRI 45 [SKYD 45A G 50
63| B | KSICJT 63BI20 | SDRI 36 [SKYD 36 |SKYI 53 | G 55 G 40 G25 G25 P14 P5 100
C | KSICJT 63CI20 | SDRI 28 [SKYD 28
A | KSICJT 80AI20 | SDRI 56 [SKYD 56 G 60
80 | B | KSICJT 80BI20 | SDRI 45 [SKYD 45A|SKYI 71 | G 75 P31 P31 P14 P5 150
C | KSICJT 80CI20 | SDRI 36 [SKYD 36 G 50
A | KSICJT100A120 | SDRI 70 [SKYD 70 G 75
100 | B | KSOCJT100B020 | SDRI 56 |SKYD 56 |SKYI 85 | G 95 G40 G40 P14 P5 300
C | KSICJT100CI20 | SDRI 45 [SKYD 45A G 60
A | KSICJT125A020 | SDRI 90 [SKYD 90 G 95
125 | B | KSOCJT125B020 | SDRI 70 [SKYD 70 [SKYI112A| G120 G50 G50 P18 P7 550
C | KSICJT125C020 | SDRI 56 [SKYD 56 G 75
A | KSICJT140A020 | SDR1100 |SKYD100 G110
140 | B | KSICJT140B020 | SDRI 80 [SKYD 80 [SKYI125 | G135 G50 ] P18 p7 800
C | KSICJT140C120 | SDRI 63 [SKYD 63 G 85
A | KSICJT150A0120 | SDRI106 |SKYI106 G115
150 | B | KSOCJT150B020 | SDRI 85 |SKYD 85 |SKYI136 | G145 G55 O P18 P7 800
C | KSICJT150C020 | SDRI 67 [SKYD 67 © Ll
A | KSICJT160A020 | SDRI110 |SKYD110 G125
160 | B | KSOCJT160BI20 | SDRI 90 |SKYD 90 |SKYI145 | G150 G o5 G60 ] P18 P7 1100
C | KSICJT160CI20 | SDRI 70 [SKYD 70
A | KSICJT180AI20 | SDR1125 |SKYD125 G140
180 | B | KSOCJT180BI20 | SDRI100 |SKYI100 |SKYI165 | G170 G70 ] P18 P7 1100
C | KSICJT180CI20 | SDRI 80 [SKYD 80 G110
A | KSICJT200AI120 | SDR1140 |SKYD140 G155
200 | B | KSICJT200BI20 | SDRI110 [SKYI110 |SKYI180 | G190 G75 O P18 P7 1400
C | KSICJT200CI20 | SDRI 90 [SKYD 90 G125
A | KSICJT220A0120 | SDR1160 |SKYI160 G175
220 | B | KSOCJT220B020 | SDRI125 |SKYD125 [SKYI200 | G210 5140 G85 ] P18 P7 2400
C | KSICJT220C020 | SDRI100 [SKYD100
A | KSICJT250A020 | SDR1180 |SKYI180 G195
250 | B | KSOCJT250B020 | SDRI140 |SKY1140 [SKYI230 | G240 G155 G95 ] P18 P7 3000
C | KSICJT250C020 | SDRI110 [SKYD110
/1. 0000000000000 0D000D000D00OD0DOO0ODOO0DOOOononO
2. 00000000000000D000D000D000D000000000000000000000000O00O0O00O0000
0000000000000 00FIO0D00000000000
00000000000 O00000000000

642 7/14 MPald OOOOOOOO



googoon

21MPall D00 o0googn

"CJT 21 MPa" Series Hydraulic Cylinders

YURKEN( 21 MPa0 000 0000000000000000O00O00OOOOOO
goooobooooooobboooaaMPaODOOOOOOODOOOOOOCODO

= 0000

Ooooaoao

cltaioi0ooOoOoooOOoOon1o

O 0o0o0ao0a0o000mm

4001 500 630 800J 10001 12507 14001 160

0000000 SDOLAOFAOFBOCAOTC
OO0DCQOO0OQOOaO 21 MPa
. oooooo 24.5 MPa
oooooon
oooooo 26.5 MPa
Jisoooono
O oo o o 31.5 MPa
O0O0OOO O 0.3 MPa
OO0OO0OOGO O 300 mm/s
O 0O o0 0o o 8 mm/s
02 40 1500 s« 00DD0OOO0OTCOO
oooooot |\ S ogoo sfsfslsis)slsfufsfs]s
mm 500 160 2000 gooooo ooooooo
mm mm
03
OOoOooooooo oooo 4001 160 20
0000000 OOO JISB 021106§ 20 O
OO0O0OODO0OD 0100 0 800 13000000000
s 0000000000000 D0O0D0OO0 ooooo ooo
mm mm
0000000000000(]0000010mmI000000x JEEE0mmy o000 e
000000000000000100mmO0000000000000000000 100000 25000 030
000000000000000000000000000000 2500 00 6300 00 RREE
0100000000000006000000000000O0 6300 0 0 10000 O GFE
02000000000000000000000000000 =
00000000000 0646000000000000 100000 0 0 16000 O i}
16000 O 0 20000 O o8

21 MPall DOO0OO0OOOOO

U
U
g
g
g
U
U
g
g

643



644

= JOoOoooooon

CJT210 OLA 50 B ' 100 B OA B D OF 010
O O O O O O Do2| Qo2 H 2 O o1 O
0 u! n! o ! o n! O E 0 0
O O O 0 O
O O O O O
O O O DE O 0
O O O O O 0 O
O O O 0 q -
0 0 O 0 0 0 o 0 0 O
O O mm O | mm O O O O o 0
HO O
oo
0 000000
40 0 00o0O0ooooo
0 iNoO EDD00OOOOOOO
D ipoooo | ADO) BOO! DOO
00
B ];EDD;ED];EDFDDDDDDD
0 00000o0oo0oooon
0
OosoOOOO
B O BOO BOO AOO!| AODO
E E 0ooo 0 0 0
CJT2100 SD,LA 0 E g&ﬁj cuoooood
21 MPal] EAFB 0 0 codr coodl! BOO oooooooood 10
: 0 0oooog
0ooooooo CA,TC 0 0 0 O 0 oo100000
o 9 lroo
%0, 83 4 § = pDOO} DOO} cOO
125,140 0 OE: 000000000
160 g ooo
A v NO O
0 ooomo EED L0 1000000
= MO2000000
g NOO oooo
0 0ooooo
oQ
01 000000000000000000000000000 03 0000000000000000000000000000
000000000000 00000000000000000 0000000000000000000000000000
OOEKL OD00FO000000000000
02 0000000000000000000000000000
0000000000 0@®OE®IN000NO0NNOn
oo
000000000@00000000N000N®0000
00000000000
000000000000000000000000000
000000000000 000000000000000
00000000000 000
® oooon ooon

> i@cé{}j > T e=——— T

21 MPall DOO0OO0OOOOO




googoon

e 0000
ooo ooooo 0oooooooooo ooo ooooo oooooooooo
B 0oooo
sb | ooo 00000000
ooooo ooooo
LA oooo CA 110000000
Ea | 0000 7c | 0000
000ooooo oooooo
00 0O
00000000000kN 0 010 L/min | O 0 10 mm/s
0000|0000 0000 | g |B60 ooooo | ooooo
ooo |DO00 ooo 1 MPa 7 MPa 14 MPa 21 MPa )
mm mm cm? mm/s L/min
0 2 0Q 12.6 1.26 8.79 17.58 26.37 132 0.8
ooQ 8.8 0.88 6.13 12.27 18.39 189 0.5
50 28 oo 19.6 1.96 13.74 27.48 41.20 85 1.2
0oQ 135 1.35 9.43 18.86 28.28 123 0.8
63 % oo 31.2 3.12 21.81 43.62 65.41 53 1.9
oo 21.0 2.10 14.69 29.38 44.05 79 1.3
80 45 oo 50.3 5.03 35.17 70.34 105.50 33 3.0
5 0oQ 343 3.43 24.04 48.08 72.11 49 2.1
100 56 0Q 785 7.85 54.95 109.90 164.85 21 47
ooQ 53.9 5.39 37.72 75.44 113.14 31 3.2
125 -0 oo | 1227 12.27 85.86 171.72 257.46 14 7.4
oo 84.2 8.42 58.93 117.87 176.79 20 5.1
140 80 oo | 1539 15.39 107.70 215.40 322.98 10.8 9.2
OO0 | 1036 10.36 72.53 145.07 217.56 16 6.2
160 % oo | 2010 20.10 140.67 281.34 421.89 8.3 12.1
0o | 1374 13.74 96.16 192.33 288.33 12 8.2

21 MPall DOO0OO0OOOOO

U
U
g
0
g
U
U
0
g

645



646

000000000000000000 =7 e
oo oo
oooooooooong oo ovooo 00 | oo oooOo 00
100000000000 00000000
2000000000000000000000D0000O00 = - EEEE)EHE
00000000000000L000000000 iJfL"» 2 2 e ty
3000000000000000 LoOO00SOLD Lol O .
000000000S000000000 LA S{f’@fﬁ;ﬁ > | rs && 1
000000000 100mm00000 56mm0 0000 TCO ' Si o
0000000000000000000000 8MPall T —
0000000000000000000000000 e e B 4 ====|-ll 4
00000 LO0OD00000000180 mmO 000 L T \
=qp= :
O00d00nO1 s| EE+LO h4 C,CWH}
0000 0L0 1980 L TC |s Lo
L
00000000000000 -
A | F&HI=E |, .
Lo[T] 18101 180T @ s 1lo
L
00000 SO LD LoD 1980011 1810 180011 @D = CA @{m
- —- 0
00000 SO 1080 mm z LOEE;H‘ 4 L
L

SO LO Lo
gosooocoodOmm
goLoooooo0oDO0Omm
OO0 OOobOobOOOmm

O0Oo0OOD0O0000ODOODODMOOOOOoboOobooooboOn

000040
30000 P A0 B
20000 — E o no1
; 4001450 T LAnO2
10000 = gég;izg e q P /:: PP LEL
—] 224
5000 — i287 180 // ,/// P d
= 105|140 P A1~ P
R R Pt A~
200 i~ BT A A
N N 1 1~ _L_I_1l 7
1000 ::: 45136 i /',/:’/ /
= 281 A ////r/
500 — 18:22 o // A
- 14 A AT A
7; O ol il /, i
200 — . ol ,/’/, .
| '
E D */‘ HH‘HHHH‘HH ‘ ‘ : HH‘HHHH‘HH ‘ ‘ HH‘HHHH‘HH ‘ ‘
100 — mm 3 5 10 20 50 | 100 200 500 1000 2000 5000 10000
: 0000 kN
o 3 1 S N S N B S B O
] - N
0 a9 s RN
D 0 7 NN N \:\\\\\\\\\\\\\\\\\
L J e -
10 |
o wPa b \ \\ \\‘ Al
NN\ \ AR TR TR

21

AN

o o [92] o NOO0O0O0O0O0O0 O OO0 OO0 OO
< Lo © o NQ‘LDLDCDONLDCOHLDOLDOOOOHO
— AANANNNOMOM ITITW0LW0O N~

o0o0o000 mm

21 MPall OO0OOODOOO



googoon

sbO 00O
® 0000000 mooooo@o
0 T cC  E L MOOOOOO N
R N 200000 00000&D
l/'R¢ s'0000PTO
N péf,ftfi ffffffffffffffff fi:rLg}
/ \
i < I | B R7N
© i el
I ]
- I, =al:!
Fl_ G HOOOOOO J
4r U’ 00
KoDooooo P
T

Doooomooooogo

eJO0O0OOOBOOIOOOODOOOOOOODOOODOODOO
0ooooo0o00* MM” 00000 ooodd
e JODOOODO
MM
o “ B 00

@ @:\, § ¥7 *#;

a 2 —8e{———

! oo R S

= - g 0 0 LLx 00 000NN
MM MM 15 11

. 0000 kg
o0
E D g o
DA B C'|DIE|F|G|H|J|K|L|M|N|P |Q|R|S|T V] KK| LL NN*ZDEE
0 O o d
0 O 100
0 |0 mm
40|22|M20x 15|26 400)19|30|13|47| 64|32(156|43| 98|15| 13 | 70| 50| ¥ | 8|M12x 1.25| 52 a5 an 450 49| 1.2
50(28 |M24x 1.5|3001 480024|30|15|52| 68|37(172|48|106|18|14.5| 85| 62 ]rjz 8|M14x 15 | 59 . 501 450 8.1 1.7
63|36 |(M30x 1.5|361 600130(35|18|57| 75(37(187|56(113|18| 16 |100| 74 tb 8|M16x 15 | 69 60 5500 12.4 2.5
80|45 (M39x 1.5|481 780041|35|24|67| 85(42(218|69(129|20| 18 |125| 92 ﬁ4 8|/M18x 1.5 | 81| 1/4 | 58550 22.7 3.7
10056 |M48x 1,556 96[]50(40|26|67| 95(42|230|71{139|/20| 21 [160(120 ﬁ4 12|{M22x 1.5 |100 601 5500 38.5 6.6
125|70|M64x 2 |78]1 128[]65|45|33|77|105|52|267|83|159|25| 25 (190({145| 1 |[12|M27x 1.5 |118 681 65| 65.6 8.7
140|80|M72x 2 |80 128[]75|50(36|77|110|52(275|86|164|25| 27 |215|165| 1 |12|M30x 1.5 [129| 1/5 | 700650 85.9| 10.9
16090 |M80x 2 |901 140[]85|55|41|80(132(51|304|94(186|24| 29 [240(185| 1 [12|M33x 1.5 |140 701 6500| 117.9 | 14.2

Ul 000o0ooooooooooocoom moooooooo
U2 DOOOFADOONNODOODODODOOD MOFADODOODODODO

U
U
g
0
g
U
U
0
g

21 MPall DOO0OO0OOOOO 647



LAOUODDOOOoOooogn

® G, E L MOODOOODO
o T « B OQ 200000

/ R¢ sS"OO0OOPTO

©
©"

Do
e 1 oo o/| e =
- m g w_x vz
BB U vooooog N
©

ooboiboboooO0oOoOoOoOoOoOoboboboooobooooOooo
20000000400100000000000000@000@I0000000000
oooooooOoOOO0OO0OO0O0O00000000000000000000010 608
ooooooOoOoOoOoOooooooooo

eJOO0OOOOOOOOOO
goboooooooosbob0e47000000O0O0COOCOOO

- 0000 kg
oo

B 01 - o0
0 A B C DIEILIM| N |Q|S|T|U|V|W| X|Y|Z| AA|BB|CC DD EE |FF| O SH
0 0 oo
0 0 100
O |0 mm

40]22|M20x 1.5(25] 400]19|30|43| 98| 29 | 70
50(28 |M24x 1.5|301 48[]24|30/48|106|33.5| 85
63|36 |M30x 1.5(38] 60C]30(35|56|113| 35 |100
80(45|M39x 1.5|48] 78[]41|35/69|129| 39 |125
100|56 |M48x 1.5|56] 96[]50(40|71(139| 45 (160
12570 |M64x 2 |75] 128[]65(45|83|159| 54 (190
140(80 |M72x 2 {801 1280]75|50|86|164| 56 (215
160{90 |M80x 2 {901 1400]85|55|94|186| 60 (240

59|111/16|31|16|16| 98|122| 15| 42+ 0.15| 77 |11| 53| 12
63|120{18|34|18|19|118|145| 20 | 55+ 0.15| 975|14| 89| 17
71|132/18|39(18|19|140|175| 25| 63+ 0.15|113 |18| 13.8| 25
80(152|21(46|21(21|175|210| 30 | 75+ 0.25|137.5(22| 249 | 3.7
12| 89|162|23|44|23|24|215(260| 35| 85+ 0.25|165 [26| 42.7| 6.6
12(106|182| 28 [49|28(29|270|330| 45 | 105+ 0.25|200 [33| 73.7| 8.7
12|114|187|28149|28|29|280(335| 45 | 112+ 0.25|219.5|33| 91.6| 10.9
12|127|212|31149|31|31|315|375| 50 | 125+ 0.25| 245 |36|130.3 | 14.2

© |00 | 0o |0

el R P g Py feop fap g

Ul 000000o0oooooooocoo@m moooooooo

648 21 MPall DOO0OO0OOOOO




googoon

FADODODOOOOooDooooo

®
BB
AA C,E L MOOOOOO
Q T . B OO 9 2000000
\ ‘ \ //R¢ SOO0OPTO
6675 . D= B
! 2\ ! ol T
of O e garml ol of
‘ ; =
00T 0 e 2=
0oo“ D
© 419CC w
Xx00Ooooo
e JODOOOOOOOOODOO
gooooopoooosboboe4700pbDoooDoooooo
0000 kg
good 1 ooooo
0 0 A B © DIE|L| M Q S | T|W X Y Z |AA | BB |CC|DD|0O0O 100mmO 00
U0 | ggoo

40 22| M20x 1.5 | 28] 4000(/19|28 45| 98| 70
50 |28| M24x 15 | 300 480]|24|25|53|106 | 85
63 |36 M30x 1.5 | 361 6000|30|29|62| 113 | 100
80 |45| M39x 1.5 | 451 7801|41|35|69| 129 | 125
100 | 56| M48x 1.5 | 58] 9601|50|35|76| 139 | 160
125 | 70| M64x 2 78] 128[1| 65 | 41 | 87 | 159 | 190
140 |80 | M72x 2 801 128[1| 7545|911 | 164 | 215
160 | 90| M80x 2 90] 1400J| 85|50 | 99 | 186 | 240

15| 171 | 50| 73| 98| 122 | 11 | 40| 54 1.2
2011915| 60| 88|118|145| 14 | 46| 9.2 17
241 209 | 73|106 | 140|175 | 18 | 55| 14.5 24
24| 236 | 901|130 | 175|210 | 22 | 65| 24.9 3.7
1231| 256 | 115|165 |215|260 | 26 | 80| 43.8 6.6
12|37 | 296 | 145|205 | 270|330 | 33 | 95| 759 8.7
12|41} 307 | 160|218 | 280 | 335 | 33 | 105| 96.3 10.9
12 |46| 338 | 180 | 243 | 315|375 | 36 | 120 |132.2 14.2

el P g P (e Py

U1l 000000000000ooocoo@m moooooooo

FBOOOOO0OOODOOO0O0OO00

®
BB
AA Cc _E L MOOOOOO w,
Q T « B" OO 2000000
R¢ S'OO0OPTO
D \ {E,,,,L——‘,—L ,,,,,,,,,,,,,,,, R
R 1 ol|
Qi— 000" D" {E’”’*’* ’’’’’’’’’’’’’’’’ T

\ 419 CC X000000
e JOD0ODODOOOOODOO

goboooooooosbO0e47000000OooooooOOn

0000 kg
oooo 1 ooooo
oA B c D|E|L|IM|Q|S|T|w|x|Y|z]|AalBB|CC|DDO| 0000
U0 | gpon

U
g
g
0
40 22 | M20x 1.5 26] 400[19 |30 |43 | 98| 70| ¥ | 8| 15|201| 50| 73| 98| 122 11 5.9 1.2 |
50 28 | M24x 1.5 30 480 24 (30|48 |106| 85| tp | 8|20 |222| 60| 88| 118|145 | 14 | 10.0 1.7 0
63 36 | M30x 1.5 36 600]| 30 | 35|56 | 113 [ 100 | ¥, | 8| 24 [246| 73[106| 140 | 175 | 18 | 15.9 2.5 S
80 45 | M39x 1.5 48 780 41 | 35|69 | 129 |125| ¥y | 8|24 |277| 90|130| 175|210 | 22 | 27.9 3.7 0
100 56 | M48x 1.5 56 960]| 50 | 40 | 71 | 139 | 160 | ¥y | 12 | 31 |301|115|165| 215 | 260 | 26 | 49.0 6.6 E
125 70 | M64x 2 78112800 65 | 45| 83 [ 159 | 190 | 1 | 12 | 37 [349|145|205| 270 | 330 | 33 | 853 8.7
140 80 | M72x 2 801 12800 75 | 50 | 86 | 164 | 215| 1 |12 | 41 |366|160 (218|280 | 335 | 33 |109.4 10.9
160 90 | M80x 2 901 14001 85 | 55| 94 | 186 | 240 | 1 | 12 | 46 |405|180|243| 315 | 375 | 36 |150.8 14.2

/1. 00000000000000cCcO00 MOoooooogd

21 MPall DOO0OO0OOOOO 649



650

YUREN

cAUDOO0OOoobiwmoooobgn

C E L MOOOOOOd Vv @
" 0o 2000000 T, Q
R¢ s'O00O00OPTO
T T ©ZH9 .
\ - 4':7::;{7 - 4‘::\7;{7 ‘ y"{»"
! |
T
s B —————— | Ao @
\ :
B N e A ‘
goo* b R W’ ;
B vooooood X
©
e 00DDDODDOODDODO
0000000000SDOOe470000000000000
0000 kg
oooo 1 ooooo
0 o |Al B C |D|IE|L|M|Q|S|T|U|V|W| X |Z|00 | 00mmo0n
oo 0000
40 | 22| M20x 1.5 | 28] 4000/ 19 (30 (43 | 98| 70| ¥ | 8|221| 2525 | 3205, |20 | 54 12
50 | 28| M24x 1.5 | 30 480J| 24 |30 |48 | 106 | 85| 1, | 8247 | 32| 30| 36.0; | 25 9.1 17
63 | 36| M30x 1.5 | 36 6001[ 30 35|56 |113|100| £, | 8277 | 40[ 35| 4053; |315| 141 25
80 | 45| M39x 1.5 | 48 780)| 41 | 35|69 (129|125 %) | 8323 | 50|40 | 500y | 40 | 256 37
100 | 56 | Md48x 1.5 | 581 960J| 50 | 40 | 71 | 139 | 160 | 3, | 12 | 350 | 63| 50 | 6370, | 50 | 437 6.6
125 | 70| M64x 2 | 76112801 65 | 45 | 83 |159 | 190 | 1 |12 |417| 79|63 | 80305 | 63 | 76.4 8.7
140 | 80| M72x 2 | 80 1280J[ 75 |50 | 86 | 164|215 1 |12 (440 | 89| 71| 80Q9s | 71 | 99.3 10.9
160 |90 | M8Ox 2 | 91114001 85 | 55 | 94 | 186|240 | 1 | 12 | 484|100/ 80 | 10030¢ | 80 | 138.6 14.2
01 00000000000000COOM mMO0000000
TcCOoOoOOoODooooooo
®
Y C _E L MOOOoOOOo
X w x| RZ « 8" 00 2000000
X . R¢ S0O000PTD
@Hu @/ \ 1 e — — EE
o+ 1 oo & EBHte——0O— ©f
T s Bl —="=—5
o ;X 000 D
© uoB.00000 NOH.00000 |
e 00D0D0ODO0ODDOO
0000000000SDOOe470000000000000
0000 kg
0 olA| B C |D|E|LIM|N|Q| S |T|U|V| W |X|Y|Z0OO|sm-—m
00| pooo
40 | 22 |M20x 15| 28] 400/ 19| 30| 43| 98| 77 | 70| ¥ | 8|122(33| 730, | 25 |123|25| 57 12
50 |28 |M24x 15| 30 480 24 | 30 | 48 | 106 |85.5| 85| , | 8131 |33 | 887, | 25 |138| 25| 9.4 17
63 |36 |M30x 15| 38 600 30 [ 35|56 | 113 | 90 | 100 | £, | 8148 |43 |106 0, |315(169|25 | 14.7 25
80 | 45|M39x 15| 48 780 41 |35 | 69 | 129 [ 102|125 | %1, | 8169 |53 1283, | 40 |208| 3 | 27.1 37
100 | 56 |M48x 1.5| 551 9601 50 | 40 | 71 [ 139 | 110 | 160 | $y | 12 [181| 63 [170 5, | 50 |270| 3 | 47.2 6.6
125 | 70 |M64x 2 | 76112801 65 | 45 | 83 | 159 | 129 | 190 | 1 |12 |208| 78 |205 7, | 63 [331| 4 | 80.3 8.7
140 |80 [M72x 2 | 80112801 75| 50 | 86 | 164 | 134 [215| 1 |12 |218 |88 [2255,| 71 |367| 4 [107.5|  10.9
160 | 90 |M80x 2 | 90 1400| 85 | 55 | 94 | 186 | 146 | 240 | 1 |12 |242| 98 |2550,| 80 |415| 4 [146.7| 142

U1 gooobooooboboobbobocoom moooooooo

21 MPall OO0OOODOOO




= OJ0O0O0Og

googoon

godddodddooooooo* K

0ooo
“ KK’ 00O KK H B © kg
T\ I
M20x 15 | 12 | 30 | 346 | 0.1
— (/\ M24x 15 | 14 | 36 | 416 | 0.
T \J © M30x 1.5 | 18 | 46 [ 531 | 03
- \N M39x 15 | 23 | 60 [ 69.3 | 06
] ~= Mdgx 15 | 29 | 75 [ 865 | 1.1
B Me4x2 | 38 | 95 | 110 | 22
H M72x 2 | 43 | 105 | 121 | 30
M80x 2 | 48 | 115 | 133 | 4.0
ggoo
10000000000000¢ L
z
: ” 5 0ooo
- BB| KK |F|cAlcC[CD|CFER Fw |J|L -
CcC L oo
40 |M20x 1.5(39| 70| 28| 20 | 49|25/ 3157 37 |10| 42| 0.9
50 |M24x 1544|8535 25 | 55/30 35.5 07 (12| 50| 1.4
@ CDH10 ER CA o1
63 |M30x 1550|115/ 43 |315| 62(35| 40 o7 (15 72| 2.4
80 |M39x 1565(145| 55| 40 | 79|40| 50 7 |20 90| 4.8
. .
S ;;;// ! 100 |M48x 15(80|180| 65 | 50 |100/50| 63, 0, |25[115] 9.8
A ;
I
J F
0000000000000 M
©CD T8
3 |
RN
& 2 | . g Do
‘ OOl kk |F|calcc|cp|cFERCwW| Fw |cv|cP|J|L (0O
\ oo
% | | \ i oo kg
L},,,,‘,,,,I_l ' 0o.4
40 |M20x 1.5(38( 70|32 20 | 40|20| 16 |315, 07 12| 80|10 38| 1.1
3 cc L 004
50 |M24x 15(40|85 |45 | 25 | 50/25| 18 | 355 07 | 12| 88|10| 40| 2.2
0.4
ocpHi0  [~ER CA 63 |M30x 1550|115/ 50 [31.5) 60/30| 20 | 4000+ |12 | 98|12| 65 3.4
80 |M39x 15|65(145/ 60| 40 | 80[40| 25 | 50 o5 |18 |125(15 85| 7.5
. 100 |M48x 1.5(80|180| 70 | 50 |100|50|31.5| 63( 07 |18 [150|20/110| 14.8

UoooooOo12s000000000000000D0DO

21 MPall DOO0OO0OOOOO

U
U
g
0
g
U
U
0
g

651



652

m JOQO00O0O0
CJT 210
|
11 I
//l ‘ [ | AN, w— 1 T
I ,,,,$,f ,,,,,,,,,,,,, I I ST
oooo n 0 0 0 0 n 0
oooo D000 |00000 |00000 |000000
000|000 |oooo
0 ool looon |loouog |©BO00|o0DO 000D (0D OO
0 0JIS B 240101B0 0 JIS B 240101A00
oooo)| ooo o O -
0000 | 00000 1 1 2 2 1 1 2
40 | KSOCJT2100 40B010 | SDRI22 | RNYI22 | RGY140 G35 G25 P22 P4
50 | KSICJT2100 50B010 | SDRI28 | RNY[28 | RGYI50 G45 G30 G25 P4
63 | KSICJT2100 63BI10 | SDRI36 | RNYD36 | RGYI63 G55 G40 P31 P4
80 | KSICJT2100 80BT10 | SDRI45 | RNY[45A | RGYI80A | G75 G50 P38 P4
100 | KSOCJT2100100B010 | SDRI56 | RNYIS6 | RGYD100 G95 G60 P46 p7
125 | KSOCJT2100125B010 | SDRI70 | RNYI70 | RGYI125 G120 G80 P58 P7
140 | KSOCJT2107140B010 | SDRIB0 | RNYI80 | RGYN140 G135 G90 G65 P7
160 | KSICJT2107160B010 | SDRI20 | RNYI90 | RGYI160 G150 G100 G75 p7
oooo o-3 o3 ol o-e
oooooo
oooo 000 ODO|0000a0
EDDSDDDDDDDDDE 000000 | 000000 |0 000 0 SDDDDDE
Doo0O0 |o0o0ooao
0 . Nm
oooo| ooo ot
0000 | 00000 1 2 1 1
40 | KSOCJT2107 40B710 TCIRNY122 G35 G261 00 WPBI40A 62
50 | KSICJT2100 50B710 TCIRNY128 G45 G32 00 WPBI50A 100
63 | KSOICJT2100 63B0I10 TCIRNY136 G581 00 G40 WPBI63A 150
80 | KSICJT2100 80B710 TCIRNYI45A G75 G50 WPB180 200
100 | KSOCJT2100100B010 TCIRNYI56 G95 G60 WPBI100 400
125 | KSOCJT2100125B010 TCIRNYI70 G120 G80 WPB1125 800
140 | KSICJT2100140B710 TCIRNYZ80 G135 G90 WPB140 1100
160 | KSICJT2100160B710 TCIRNYZ90 G150 G100 WPB160 1400
71 000000000000000000000000000000000000000
2. 0000000000000000000000000000000000000000000000000000000000
000000000000000F 0000000000000
N3 0000000O00000000000000000000
74 00000 4°000000000000000000010000000
0000000000000000000000

21 MPall DOO0OO0OOOOO




0ooooon

gooobobbbbobobbbobobdoodaad

e J000000O0O0O0Me0OIOOIOOOOOOOOOODOOOOOODOOODOOOOOOOOODOOODOODODODOOOOOOO
gooobooooooooooboobo0oooobomoooooooooooooonoo

od

e00OO0O0O0O0O0OOOOOOOOOCOOOOOOOOOODOODOOOOOOOODOODODOOO
eDCOOOOIOOOODOOODDOOODOOOOOODDOOODOCOEEOUOOOOOOOODOOOOOODDOUOODOOODOOODOODO
gooooooooooooooo

«0000000000000000000000000000JISC 3306 VCTF0.300.75mm? 20000406 mm0000000
D0000000000000000000300.75mm000000000000000000000

ooooooooOoOoOoOoO0oObooOoOoOoO0OO0OO0oO0O000oOooooooo0o0o0ooooooovooooooonooooooooon
0D0DD0DD000D200400mm%/s0000100060000000000000000000000

gooooobooobooobooooobobobobobobobobobobobobobobooboOobObOOooOooooDbobobooo
gobooooooooooooobooooooboooo

goooooooooooooooOoOOOOOOOOOOOOOOOOOOOOOOOO0OO0OO0OO0O0O0O0O0O0OO0OOOCCOODO
poooobosommbOOOOO0OO0OOOO

goooooooooooOoOoOOoOOOOOOO0OOOO0OOO0OO0OO0OO0OO0O0O0O0O0O0O0O0O0O0O00O0COCOOOCOOOOOOOOOODOO
pooooooooooooo

goooooooooOoOOOOOOOO0OO0OOOOO0OO0O0O0O0O0O000000000000000O0O0O000O0O0OOOOO0O0O0O0
ooooooooOoOoOoOoOoO0ooOoooboooOoO0O0ONo.MSRIZOOOOOOOOOOOOOOOOOOO

gobobooooooooobooo* DbboooobbooooboboorgecgeooooboooobOoO

gobooooooboooooboooooboooooooono

goooooooooooobooooobooobooboOoOoOObOOO0OOODOOOOOOOOOOOOOOO
oooo

gooooooo
e CJT35L010-200 000
e CJT70L/140L0 11200000

oooooooo

e 0 0OCOOOODOOOOOOOOOOOOCOOOOODOO
gooooooooooooO0oO0oO0l1-15mdO0Q

e JO00DOOODOODODOOOOOOOOOOOUVUOOOODOODDO

o« 000000DOO0DODOOOOOOOOO0OOO0O0O00O0BDOCIT70L/140LT]

0 0O O O ODOOOOOCDOOOOOOOOOCOOODOOOOCOOODOOOOCIT7IOL/140LT

N

oooooooo
ofgooooOoO0oOoOoOoOOoO0oOoOoooooooOoooOoOoOO

I o o

OooOoooOooodg

i

oobooooozoo0ocoo0oooooooo 653




oo guooggn

"CJT" Series Hydraulic Cylinders with Proximity Switch

« 0000000000000 0000000000000000000000
0000000000000 000000000000000000
« 00000000 D000000D0DNO000000DN000000N00N00Dn
0000000000000000000000000
« 0000000000000 0000000000000000000000
0000000000000 00000000000L5nO00M5mO00000
oooono
= 0000
gooooooo CJT35L CJT70L CJT140L
3200400050 | 320 4001 50
Oooo0oaoaon mm gggmw 6301800100 | 6301800 100
125 125
ooooooo MPa 35 7 14
i oooooo 9 18
D00000 - 'opng (ooo o A 45 15 18
MPa B 135 18
e i 12 Jsooooo
00000 O000000mm/s 30001 O [o ] Fo e
OooOooao 0100 O 700

ooooooooooooelocoooOooOODOODOO | |
00oooooooooooooooooooossg7daMPaDO00OO0OCODOOOOOO
0000061100 MMCITISMOO062100 M CIT70/1400 00000000
gooooooooooooooooobooobooooooOooOooboOoOOOOObOOo

e JOOOOOCOOOOOOOOOOO

TCOOODOD TCOOOO
Qoo 0000000000 oooooooooo™?
Doooooo o o Dooooo
mm Dooooo afafulsfufs
10 2 po? 10 20 10 20
32 25 30 100 200 55 60
40 25 30 100 200 55 60
CIT 35L 50 25 30 100 200 55 60
63 25 30 110 205 60 65
80 25 30 120 210 60 65
32 20 30 125 240 75 80
40 20 30 125 240 75 80
50 20 30 125 240 75 80
gjllzgt 63 20 30 150 305 9 110
80 20 30 155 325 100 120
100 20 30 155 325 9 110
125 20 30 155 325 9 110

il Tcooooooooboooo22bobobobboboooboboobobobobObobOODODbOo
bz TcooooooooooooooobooboOoOoOoOoOOoOOOOODmObOODODODmOOOOOOOOOOOOOOO0OO0O0O0

654 ooooooooooooooo




googoon

= JOooooooo

CJT140L OLA 80 B 1100 B OA B 'D OE 020
o2 02 o2 |:| 01
O O O ol O O 0 0lo O
o o 0 010 o 0 o.d o 0
O O O o0
0 o0 o 81O 0
O O . O 05 i O
o 0 0 - 0 o ioPig . o
; ol inleml 5 |%iD i ;
0o 0 0 O
g%%u FOOOOOOOOOODOOODOO0O0O
hb ooooo oomosononon
0000 00000 |e00000000C000000000
SDLA s ooooon gooi1300000
CJT35L0 ’ O RO DO HOOOOOODODOODOO0O0OO0O000O
LBFA| 3240 |
3.5 MPal] FeCcAl 5063 | D 0000 A B ID 002500000 20
0oooooo ' ’ g ! g 000000 Koooooooo
CB,TA| 80 oo lo
0ooooooo | 0 B HO O 0O !0 !';0lL0oooooo
O} g i0ooo 010 {0 |Mi2000000
o (oooooo |0 400
o !0 !0
0o INOO
X00QOOoooooooo
0 00000 Bl A LA o
0 og 212 1A |yoodooooo
0 O!0 |0
0 O!0 |0
Al D 0! D0 {0
o U cic B
Al O O ''o 'O
SDLAL 40, 50 4 B E o 0o ADDDDDO0O0O0O00000
LB,FA | 63, 80 H 0 1BO o O u O
CJT70LD 0 O !0 10 000000000000
-+ MPal FBFC | 100,125 | ; | O (DEOO D! D IcC
obooooo FE EY 0 E oooo O+ 0 1o
0ooooooo CACB B+ p 1000000 u
aTe Bl g N ED0O0O0O0OOOOO
' g O RO m| FOOOOOOODOODOOOOO
0 B 0ooo 0 00oooooosooonn
Hi' g booooo g GDOO0O0O0DO0O0ODDODOOD 20
0! 0 0 001300000
32, 40 B B HO O 0 HOOOOOOOOOOOO0O0O
SD.LA | 50, 63 | ] oooo g 0ooooo2500000
CJT140L0 LBFC | 80,100 | o noooon 0 KOOODODODOOEDOOOOO
14 MPal] FD,FE | 125 0 O 0oooooo
00ooooo FF,FY ¢ g%%mm LD1000000
DO00O0O0O0O0OO |CACB 0 .= MI2000000
TATC = NOOOOOO
0 xmm%uuuuuuuuu
E voooooooo!?

Ul oooooooooooooooooooooooooon
goooooooooooooOooooooooooooonoo
OOEKLX12
gooooooo0ooOO00eEbOrFOGOHOKOOOOOOOO
ooowLwomoOoooooooooooo

s 0oooooOo00ooobooOoooOoOoboOoOoooOooobogon
oooooo

U4 0000004050630 0000 A00DODOODOOOOOOO
“BO00 RRoboooooooooo

s, goooooooobooooooooooooooooobooon
oooO0oo0o0oo0oO0ooOo0ooooOooooOoooon0o
oorOb0b0O0oOoooOoooboonoo

02 000000000000000000000O0000000
000o000ooooo®eOOIOOoOooonooono
ooo
0000000000@UOO00000oonooo@eonoo
0000000 ®UOooooon

00CcJT3sL00000000000000000ono0onononooo
0000000000000000000000000
CJT70/140L00000000000000000O0OO00OOO
000000000000 D0DO00000000o0Dnoooo
0000000000 0D0o00ooog

® oooo oooo

oe =lle—6

oobooooooooooooo

N

OooOoooOooodg
I o o

i

655



656

e JOODOODOOOOODOODOO

X12
T oooo
ooooooog 000 | hog0g oooo
1010
2020 X1 AX111 000 1.5mO
3030 X5 Ats | o] 0005m0
00000000000000 XA AX11A 000000ACOO
XB AX11B 0000D0DCOO
Y1 AX201 000 1.5m0
oooo
Y5 AX205 000 5m0

poooooooooooOo* OooOODOODOODO" DODODO

00000000000

= JOooooooo

oooo oooo oooo
000 15mO AX111 000 ooo ooo AX201 0oo
Oo|l0O0O05mO 0oo AX115 ooo 0oo 0oo AX205
O|000000AcOD 000 000 AX11A ° ooo ooo 000
0000 O0DCO O ooo 000 ooo AX11B"* ooo 0oo
oooooo ACS50120V DC5030V | AC50120V | DC5030V DC 5030V
oooooo AC5020mA DC5040mA | AC 5020 mA | DC 50 40 mA DC 50 40 mA
ooooon AC: 2 VA DC:15W 2 VA 1.5 W 000
oooooo TYPO 2\ 10mAC O 3VO 00 40mALC O 3 VO 40 mAD O
oooo 100 ADD 1mAD O
oooo 1msO O
0000 1msO O
ooooQ DC500VOOOO 100MQOMOIODOO0O00O0
ooo AC1500V 100000000000
ooo 204m/s 00000 490 m/E00000
0oo + 0.75mm0 O 0 100 55H7 10 0 010 0 0 X0Y0ZO 0 0 20 0 |+ 0.3mm0 0 0100 200HE LogD 0 010 0 IX0Y0ZO 0 O
ooooQ Dl00700 00000000000
ooooQ 03mm’20000¢4mmO0000000000
oooo P60 IECO O MIISC0920 0000000
oooooon 0o
ooo OO0O0C0O0O0moNOOOoOOoOn
ooooooQ? AC:10m DC:100 m 10m
AN A% T T T T T T T T
—K—/VW "" @ oo |
3 ‘SE oooo
o000 Dt z A
!LED ooo
1
0o0oo0o0oDo @noa | =—=—=="00n000
0ooo 000000000000000000

i pcopoooooomooooooooooOooOo0oeeoo0o0Omooooooooooooooooonon

b2 00000000000000000000000000000

U3 0000000000000 O0ONECAOOOOOOOOOOO0O0OM02FA00OOOOOMMI2x 1000

= JOOO0ooOoo
gooooo0ooo0oooo0oboooooooooooonod

oooooooag

0000000000000000000000000000 3 SUS3040 /
000000000000000000000000 \F@ﬁm}. /

o0ooooog

T

{

LT .

T ***

|-
0oo0oo0ooon

ooooooooooooooo



googoon

niooooo
0o0ooooooooooooo0o0oooNdnOnOoFrF
ooooooooOoOoOoOoOoOoOooooo

= JOoOooooooooo

oooooo
200000
i O0000000000000000000ONDODD0000
o) “!I!I= O0000000OFFOO0ODOODOOODOOOoOooooOog
‘ OO00o000oooooooooobooobooobooooo
Dooot 2
— i oo’
N 0Dooo ooo
Lo " oN 00O Doooon - .
ord |
~— CIT35L | gpoooOoo 4015 200
ON OFF CJT70L
gooo 't CJT140L goooooo 3010 100
0000000000000 00000000000000
mm
m OJO0OQOg
ooo |BH0B00 NN | Qo | ss
O00000000000000000CITO000000000000000 ooo
Oo000ooooooooooooao 32 35 30 6
goo0obooobO0oooboooboooboooboboobooobooobooooo 40 37 32 6
00 CJT35L 50 72 38 6
63 48 43 7.5
80 55 50 6.5
32 38 33 14
40 4 36 14
T70L 50 a7 45 14
NssSO000000000000000000N0N0N000N0NoNoNoonnn nglﬁOL 63 52 50 26
O0OSSO9mmO OO 80 62 60 30
100 72 73 28
Dooooo 125 85 | 8 | 30
ss ss
I [ S T i . .
N T e
@i_*wﬁ§ ,,,,,,,,,,,
R i SIS
e JO0O0O0OO0OO0O0O0O
o DOOOOAX1110AX1150 AX2010 AX205 e DJOOOOOAX11AOAX11B l
30 7. L 30 7 500 445 ‘
‘ 107‘7 oo
|
! 0o
= == 00
0oo 0 g
Qoo 10 , 10 oo
oo
o o ™ oo
e ‘f I ; J |
J_LJ S \oooooo 2 = \OOOO000
000000 L e JOOOODODOODO
AX111 1500 AX11A1ACO O AX11B1 DCO O
AX201
AX115
AX205 5000

657

ooooooooooooooo



658

= JOooOooooooo

e JOODOODOOOOODOODOO
10o00o00o0oboo0oooobooboooooooooooo

goooooooboooooooooobooOooboonoooo

goooooooo
000o0oOooOO0OO0O0O0O0OOOoOOOOOObOOOOO

020

goboooboboooboooboboOooboooboboog

ooo
gooooooooooooooooboonooo

sgjooooobooooooooooboooooooooobooosso

goboooobooooobooboooo

e JOOOOOOODODOO
1000000000000000AssyD 0000000000
ooooooooooo

00350 X1040

oooooo
gooooooooooo
oooooo
350 CJT 35L
0000CJT 70L/CJT 140L

e DOOODODDOOODODO

0000000000 000000000000000000 oooo |oooo
000000000000000000000000 ooo | ooo noaa
400000000000000000000000000000 = o — o
000000000000000000000000000 e L EEETT
000000D00000000000000000000 oooo m
0000000000000000000000000000 XA AXLIA 0ooOAChO
oooooooooo XB AX11B oooombceod
Y1 AX201 000 15m0O
« 00000000D0000O00O00O0 0ooo
Y5 AX205 000 5m0
Jgy |Dooo | ooooo | oooooooo
- R N 200000000000000000000000000000
ooooo
CJT35L | 320180 M5 L CLUooLOLOOx
CJT70L | 32040 M5
CJT140L | 5000125 M6 203
m JOQO0O0O0Og
CJT35L

AN

Ooooo 0 O O FEE O o4 O O ooooo
oooo OO0 | OO0 |000O0 |ooOoo DODDDDDDD D000 |oDoO0O DDDDD
0000 oo - D00 |0000 |0000 |0000 |gys2a0101e0| 000 | OO0 0o
0000 [ooooo - 1 1 2 2 2 2 4 Nm
32 KSOCJT35L0325120 | SDRI16 | SKYI16 | SKYI24 | GRSI32 S12 DTO108 | WI8 7.3
40 KSOCJT35L040S120 | SDR116 | SKYJI16 | SKYD30 | GRS140 S12 DTI108 | W8 7.3
50 KSOCJT35L050S120 | SDRO22 | SKY122 | SKYD40 | GRSI50 P18 DTI108 | WI8 7.3
63 KSOCJT35L0635120 | SDRI22 | SKYI22 | SKYI53 | GRSI63 P18 DT01010| W10 18
80 KSOCJT35L0805120 | SDRI28 | SKYI28 | SKYI71 | NI8O P24 DT01010| W10 35
(1. 000000000000000000000000000 (2 0000000000 GRSOOOOOD N'O00000

oooooooooooo
2. 00000000000000000000
oooooooooooooooooooooo

ooood
U4 pOopoooooOooOo ssODOoO00O00O00

ooooooooooooooo




googoon

m O0O0O0O00
CJT70L
CJT140L
ogooooo
“e3"00oog
ooo ] 0 ] goQe O ] o-t ] 0
ooood
oooo 00000|00000 (000000000000 0000000
0 00|00 0|0000 DOO0joooojo0COoDCOOloOOOlDoOOO Qooo
B = 00 D|00DO0|0000 [DoOO 031S B 24010180 (zitl)sln?A 000
2 U\ ooo o: - Nm
oo\g\ 00000 1 1 2 2 1 2 1 2 2
B |KSOCJTL 32B020| SDRO18 | SKYI18
32 C TKSIGITL 3207201 SDRI12 [SKY114 SKYl 24 | GRO32| P21 P12 S12 P14 P5 18
A | KSICJTL 40A020| SDR0I28 | SKYI28 G30
40 | B |KSOCJTL 40B020| SDRI22 |SKYI22 [SKYI 30 | GR140 P16 S16 P14 P5 35
C | KSOCJTL 40C020| SDRI18 | SKYI18 625
A | KSICJTL 50A020| SDRI36 | SKYD36 G40
50 | B |KSICJTL 50B020 | SDRI28 | SKYI28 |SKYD 40 | GRI50 P20 S20 P14 P5 62
C | KSICJTL 50C020 | SDRI22 | SKYI22 CElY
A | KSICJTL 63A020| SDR145 | SKYI45A G50
63| B |KSICJTL 63B020| SDR136 |SKYI36 |SKYI 53 | G 55 640 G25 G25 P14 P5 100
C | KSICJTL 63C020| SDRI28 | SKYI28
A | KSICJTL 80AI20| SDRI56 | SKYI56 G60
80 | B |KSICJTL 80B020| SDR145 | SKYI45A [SKYI 71 | G 75 P31 P31 P14 P5 150
C | KSOCJTL 80CI20| SDRI36 | SKYI36 G630
A | KSICJTL100AD20 | SDRI70 | SKYO70 G75
100 | B |KSICJTL100B120| SDRI56 | SKYD56 |SKYI 85 | G 95 — G40 G40 P14 P5 300
C | KSICJTL100CO20 | SDRI45 | SKYI45A
A | KSICJTL125A020 | SDRI90 | SKYO90 G95
125 | B |KSICJTL125B020| SDRI70 | SKYD70 |SKYI112A| G120 575 G50 G50 P18 p7 550
C | KSICJTL125C020 | SDRI56 | SKYI56
01 000000000000 D0O0000C0O000O00O000000O00000000O J
2 00000D0OO0O0O0ODOOO0ODOO0O0DOOODOOO0ODOO0O0ODO0000000000000000000000000000
0000000000000 00FODO00D000D000000
03 000000000 GRPOO0OODOOOO O
4. DOODOODOOD S'OOO000O0D0OOO g
00000000000 0O0O0D0O0DOO0O0O0OO S
O
O
O

OooOoooOooodg

i

ooooooooooooooo 659




CByi1400ooopobooobooonbooaon

goobooo

oooo

goboooooooooooboogoon

gooooooooooood

ooooooooooooo

oooooooooooooooo

goooooo

oooooOoooooooooboo

coobooooooooooo

goooooooooOoOooOoOo0oOoooooooooooo
oooooooooooboOooooooooobooobooooo

gooooooboooooooooboooOooobooboooooo
goooooooooooo0oooooo0ooooooooon
oooooooooOoooooOooooooOooboooonoo
oooooOoooboooobooooboooooOobooOobOOooboooobooo
ooceyM4bobOOoOoOooooOO0OO0O0ObOOOOOOCOOOOOO

ooooooooooooooooJyasBillved 00O O 10.90

ocooooooOoooooOoOoooboobooOoOoOoobosooOoboooOO
oo0ooO0o0boOoOo0oOO0Ooo0OoO0ooOss4o00000

gooooooboooooooooboooOooobooboooooo
oboooooobooooooooomooooooooo

gooooooooooooOooooooOooboooOoooo

= JOoOoOoooboooon

oooo
gooooon

gog

oooooo oooocoooo Oo0000NO
32 M6x 1 5.9
40 M 8 x 1.25 14.0
50 M10x 1.5 28.0
63 M12x 1.75 49.0
80 M14x 2 77.0
100 M16x 2 120.0

e J0000OOOO0O0OOOOOOOOOOOOOOOOODOO
oboooooooooooooOoOoOoOoooboOoOoOoboooOOonoo
ocoboooooobooOoooooOoOoOo0ooboOoOoOobobooOOonoo
pooooobooooooooobooOoobooooboboobooo

660

gooooooooooooooooooooooooooo
comoooboooooooooooooooooonoo
coooooooOoOooooOoOoOoOoooboOoOoOooboooOonoo
ocobooooooOoOo0o0oooOoOoo0oooOoOo0ooobooOoOO00o

ooo

oooooOoooooooooooooboooo

gboooooooobooooOoOobobooOoooboOoobooOoOoOooo
oooooooooooo
gooooooooooooooooooooooooooo
oooooOoooooooooooon
goooooooooooooboooboboooooboooooOOOO
ooooo0oooooooooo0oobOoooboooobo
gooooooooooooooooooooooooooo
oooooooooooooooooo

oobooooood

goooooobooooooOooooooOooooOooooo
ooooooooooooo
goo0ooooooooooooooooooooooooo
oooooooooooooooooo
ooooooooo

edO0Oa
A
Q
gooooo O O PCD
32 5 4 32
40 7 4 38
50 8 5 46
63 8 5 58
80 10 8 70
100 12 10 85

cBy14000ooooooooon




googoon

CBY1400noudoooogon

CBY14 Series Compact Type Hydraulic Cylinders

YURENO O OOOOO® CBY140000 0000000
oo00oooooo00w3oooooooooooooooo
gooooooboooooooooobooboooobooon
ooo

e JOODODOODODODO
oboooooooooooobwlMPAOOOOOOOOOO

e 00O0DOOOODOODODO
gooooooooooooooooooOoobooooooo
oooooOoooooooooooooboooboOobooooo
oooooOooooooooooOoOoooboOoOoobooOOoBboo

e 00O0DOOODODOODO
gooOoooszbloooooooooooooooonoon
oooooOoooooooobooOooooobooOobooOOoo

e JOODOOODDOOOODOOOOO
goooooooooooooboOobooOooooboboOoBo
ooooooooogo

e JOODODOODODODO
gooooooobooooooOoooooOoOooboobooOoooo
ooooooooooooobooOoOoooOoOoboOOoBboOOon

= Jogo

goooo oooo oooo
oo CBY1400000000D |cByi40000000C0OD

ooooooO0mm

32, 40, 50, 63, 80, 100

oooo SD, LD, FA, FB SD, LD, FA

00000032, 40,50
14MPE0D00D00OO25% 10°0 7

R 12MPE 0000000 L0x 100
ooooX”

00000063, 80,100
14MPEOO0O0OON0x 10°0 7
10MPEI0D00D00DOD0L0x 100

00O 20 MPa
oooooo 0.3 MPa
oooooo 801 100 mmO s

ooooooOdO0Omm

gooo* obooooooor oo

goooooooOmm

000.8

ooooooooo

JIS B 02110 601 00 60

oooooo
oooooooooo

01000700
goooooooooo

e JO00OO0O00OOOOODOOOOOOODOO

poooooooooooooooooOmmbOoOOOOO
OxO000000mmOo
ooooooooooooboooooOmmdOoooOoOODOOO
ooo0oooooo0o0ooo0o0ooooOo0oooooon0on
oooooooooooooo
i1.0oooooo0oo0o0000000O0 OO0O0O000 000
ooooo
0214MPa000ODOO0OODL0x 1000000000000
oooooooood

= JOoooood Jsooooo

ooo CBYi4

o000 CBY14L ' '

= JOO0O000

000 CBY14N 00000 CBY14LN T T
oOoooo
m JOO0000
18 —
DDDDEIEI32,40,50+7
16 /
a] 000000 |
0 44 63, 80, 100
; 7
Yo
MPa oooo
10
10 30 5060 100 500 1000

000000000000000000

= 00000

eJODOODODDOOOOODOOOOODODODOODODO
e0000O0OOOOOOOOOOODOOOODOOOODODODOO
oooooOoooooooooooooooomooooood

(@

= 0000

ooooooooooJers 1014020020 00 OOOOOOODO
ocoboomooooooooooooooOob0 oooooo
oooooooooobooooooooooooooonog
ooo

gooooooobooooooOoOoooooOoOooooOoOoooo
ooooooooboooooooooooboboooobooobooo

g o
a o
g o
U 14
g o
g o
g o
g o

= J0Oo0ogooooo

eJ000O0OOOOOOOOOOOOOOOOOOOOODOO
cooooooooo
oooooooonoo

=509
P50/0/IZIEIEIEI

e JOOOOODOODOO E
oooooooood O|oooo
oooooooooo U P=1%F{
oooo0ooooon

oooopoooo f
gooooo SINO O . P
DoO0O000000o0D 104 105 106

goooooobooo

cByl14000oooooooonono 661




= JOooooooo

CBY14L 06 SD 40 O 50 O O g1 2 ood
oo oooo 0000 '\nppoo ooooo 00ooiooog| Cooo
0oooooo oo ooon 0o oo 0 mm0O DoD0 00000 0 iag | ooo
O mm0Od
000000320800
E%Yé“ljl;g';a sbO 5,10,15,20,25,30, OO
ooo 35,40,45,50,60,
70,80,90,100 oo
CBY14L : 14 MPa LDO ooooobo10d igoooo oooo
ooooooo |30000 [ oooo 5,10,15,20,25, oooo o0 11,2 -
ooooooo”® oo 32,40, |NO 30,35,40,4550 10 Red O
_ FAO 50,63, (00000 ooooo a0
60000 02
CBY14N : 14 MPa 000 ESSSD 80,100 100 poooo ggm o | g |oooooo
Ooo0oooon 000 pooood 0
5,10,15,20,25, [DOHOD
DDDD FBF1D ) ) y ’ il DDD
30,35,40,45,50
CBY14LN : 14 MPa oooog
0oooooo 0oooo 100 11,2
gooooog®

loooorBOOO0OO0O0O0OOOODOOOOO0OO0OCBYMNOCBYIALNODOOOODOOOOOOO

Hzo00000000000000000O0000O000O000O00O000O00O0

s booobooooobooobwooooboooboooboobooboooo

U4 00000000O0O0OOO0O0OO0OCOOOOOOee8O 0 OOOOOOOOOOOOOODOIOOOOODOOOOOOOO

s goodoooboooooooooooofooooboooboooooooooooonn

oooooooooooooo* oooooO0” boooooooo0ooboooOooooooOoobooOo0o0ooooOo0o0oobooOoO0000
oooooooo

000000 (000000 oooo ooo
N1 AX101 000 15m0
N5 AX105 00 05m0
X1 AX111 000 15m0
oooo
XA AX11A ooooooacoo) CDoNOOOOOO
XB AX11B 000000DCO 0
Y1 AX201 000 15m0
Y5 AX205 00 05m0
oooo
M1 AX211 000 15m0 ooooooo
M5 AX215 00 05m0 p20uonoooo

662 cBy14000ooooooooon



googoon

= OJpoooog

ooooo oooo gooo

ooos00 AX101 | OO0 AX111 | 000 ooo ooo AX201 | 0O0OO AX211 | OO0
E ooosoo ooo AX105 | OO0 AX115 ooo ooo ooo AX205 | OO0 AX215
E OooOomAcOoO® ooo ooo ooo ooo AX11A ooo ooo ooo ooo ooo

oooombeod ooo ooo ooo ooo ooo AX11B ooo ooo ooo ooo
oooooo AC50 1200 O DC50 300 AC50 1200 | DC50 300 DC50 30V
oooooo AC50 20 mA DC50 40 mA ACS50 20 mA | DC50 40 mA DC50 40 mA
oooooo ACO2VA DCO150 2VA 15w O
oooooo TYPO20010mAO DO 3000 040mAO DO 3000040mAODO

O 00 10u AD O 10mAO O
O 00a0 OmsO 0O
o ooao Omsd 0O
o ooao DCsocovOoOOoOloomMQOOOO0OO0O0OO0OOO
ooooao AC1500V OO0OO00OO000O000000
ooooao 204mOs000000 4Q0mOss 000000
Ooooo +0.75mmO 0010055 H2010001000 + 0.3mm0 0 0 100 200 Hz

X, Y, zoooz20o0o Ologd O O100o0OXx,Y,zOOO
Ooooao gooonooooooooogoo
Ooooao 03mm* 20000¢e4mmO0O0O00OO0OOOO
Ooooao IP67T0 IECO O IJIscoob 0000000
oooooo oo oo
oobooooo ooooooo

HoHon goNOooooo 020000000
oooooot? ACO10m DCO100m 10m
Ooooano ooooooooooooooooo

blipcoooOooobooooOoboooooO0o0boo0oo0oooboO0o0o00oo0oo0oo0ob0o0000000000n
Hzo0000000000000C0O000000O0O000O000O00
3000000000000 0O0ONECAOOODODOODOOOOO00D402FA0 DO DO0ODOOO0OMIZx OOOODO

= 000000000000000 000mm = 00000000 00 0kg
oooooooo 00002000 00000150 000005m ooooo
5 10 0.05 0.13 0.04

goooooooooooooooooboooooooooooo
oooobOooooooooboobooooooboOoOoooon
goooooooboobooooooooooooooobooobo

N

0000200000000000 0o
0o
0 o
» JO000O00OOO0OOOObDOodO B]DA
ooooo g
0 o
uoooodo ooo 00000000 | 00000000 oo ood 00
ooooooo ooooooo
ooo 0oo nfuln 0oo ooo
“ 300000 ° x ° ° °
“ 6 000000000 o 0 x 0 0

O010oc0000O0xDOOODODODOOOOO
20000000000000000C0O0O00O00O00O0O0O0CO

cByl14000oooooooonono 663



00D000D00000SPO000 gg5oo0 I 00oO0eoOO00

000000CBY14-0SD A WE _ _ 0DE  EE
000000CBY14L- 0 SD KKO O c e A — ; \

P00 40y o R

AE

Joob ; ;’
2x 419 FBO KK 0 0 KL Y. PIUOOL | | PL
¢ FGHOOOBT S — T7] e00000000° 000000
T T ]
B - 00" 000000000000
. = godbDoOoOoooooooa
i e[JO1000D0O0O0DOOOOO3O00O
ooop/| e i ooooo
= i
WF LLoOoooo
LFOOOOOO
KK N | PJ | PL Y 00kg
go| A |AEBT|C|D|DE| E | EE |FB|FF | FG KL| LF LLMMRC il & Il & TV WFRc GDDDDSmDmDDDD%DDD
0oooopoooo 00|00|o0| 00 00| OB 00|00|000 |ggpop|0000

322814000 8| 6.5 7|14|17.2| 62 |Rcl/4] 6.6 [11/8/11 |M12x 1.75|M16x 1.5|15| 64|54| 18 |10|10|14|14 |12|12 | 47 |10/28|28|0.64]0.009|0.05
40 (3w 450 8| 8.6| 7|19{17.2| 70 |Rcl/4|9 [01/8/14 |MI16x2 |M20x 1.5/20| 65|55| 22 |10|10(16|16 |12|12 | 52 |10|27|27|0.85/0.011/0.10
50 [38150(]12|10.8| 8|24|21.5| 80 |Rcl/4| 11 [01/4]17.5 |M20x 2.5 |M24x 15|24| 71|60| 28 {10|14|19/13.5/13|18.5| 58 |11|28|28|1.28/0.015/0.18
63 481600012130 | 9|30|215| 94 |Rcl/4| 14 [J1/4/20 |M27x3 |M30x 15/33| 80|67| 36 |10|16]|24|20 |13|17 | 69 |13|30|30(2.00|0.021|0.40
80 |60180[]12|15.2|14|41|21.5 | 114 |Rc3/8| 16 [11/4]23 |M30x 35 |M39x 1.5/36| 95|78 45 |15|19|25/24 |18|18 | 86 |17/35|36|3.72|0.031]0.76
100 |751950012|17.5|22(50 | 25.5 | 138 |Rc3/8| 18 [13/8) 26 |M39x 4 |M48x 15|45|122|96| 56 [15|18|26|26 |28|28 | 106 |26|42|42|7.03|0.046|1.50

gooooooooooooobooADdbOO bOoOOoobOoOoobOoOoboOObOnOboOooboOoOoboOoOobOOOoOOobooobooOOd
ooooo0oboooooOoobooOobon0O OOCBY1406SD32N10TOL  A0QI TO AI40
DDDDDDDDDDDEPLDDD?EADDDDDDAUD Mmooooo
goooooooooobATOOOOOO

gbooboooboowbboobo

000000CBY14-0LD oooooon i
O0OO00OOO0CBY14L-0LD koo _A_W \ %%@EEE
_.c |
99\\ n‘ \\/ Z
st o “
Ei\ | L e Q0000DDOD* O
L = ooooooo” 00
0ooo0ooooon
oooooooooo

FP _PJOOOOO0O _PK
I f

oooo
KKO O O KL SSERRERNRARER 00000000000
T T 0oooooooooo
© ‘ ] 000
& - i = - || eD0D100000000C
I T : & am iﬁi 0os3ooooooo
| | Dooo/| |7 i
40¢ SBO c
W, SU |l LLOooogg SU
x§|_ssooooon || sy
ZzB0 O 0O0O0O0O
00| A |[C|D| E | EE [EH|FP KULF| LH  [LL|MM) N [PJ|PKISB|SS|ST|SU| SY | TS [US |W| XS | ZB [poca[f0000)g o o
0oooo|ooooo ooo [iohoolnooo
32[281400) 7]14| 62 |Rc1/4] 66 |48]M12x 1.75|M16x 151594 |35+ 0.15 |54 18 [10[14]32] 9| 74/16]20] 10| 79| 94]10[20 [104]1.73 [0.009] 0.05
40|30 45T} 7|19| 70 |Rc1/4| 725/47|M16x 2 |M20x 15/20(95 |37.5+ 0.15|55| 22 |10|16]32|11| 7520|120 10| 90|108|10(20 |105|2.27 0.011/0.10

7
7

50 |38 500] 8|24| 80 |Rc1/4| 85 |53|M20x 2.5 |M24x 15/24/110|45+ 0.15 |60| 28 |10|19|38|14| 85/24|25[12.5/104|126|11|23.5/ 121 |3.71 |0.015/0.18

63 |48 600 9|30| 94 |Rcl/4| 97 |55|M27x 3 |M30x 1.5/33|117|50+ 0.15 |67| 36 |10|24|38|16| 92/30|25/12.5121|146|13|25.5| 130 |5.30 |0.021| 0.40

80 |60Q) 80C114|41| 114 |Rc3/8|117 |65|M30x 35 |M39x 1.5/36/138|60+ 0.25 |78| 45 |15|25|48|18|108/35|30| 15/144|172|17|32 |1559.58 |0.0310.76

100 | 751 950122|50| 138 |Rc3/8[140 |77\M39x 4  |M48x 1.5/45/166|71+ 0.25 |96| 56 |15|26|63|22|131/43|35(17.5]174 208 |26|43.5/ 192 |17.02|0.046| 1.50

ooooooooooboooooboooboo0 boooboooboooboOOoomoooboooboo* oboobo” ooobooboooo
gooooooooooboooooooooobooo

664 cBy14000opoooooonog



googoon

gboobouobobobOrFAODOOOODOOO
OobO0oO000cBY14-0OFA ooooon

DO0OO0OEE
00000 OCBY14L- OFA A W
KKO O
c
[N !
gt 1 [ 4 / b’g
s Q f
ooob

e JOOODODOO" ODODDO
oooo” oooooooo
ooooooooooood

Y, PJOCooon PL

. H%J: T ooooo
Wl o e [dO10000000ODODOOS3
n 4MO0 D0OOO0O0O00
KKODDKR Fl.LL000000
KK 0 Okg
oo| A |C|D| E | EE |F|FB|FE KLILL| M [MM|N[PJ|PL| R | TF| TV |[UF |W|Y [gogo 00000000
Ooodoo|ooooo i %rEmDDDDa o

32 |2814000 7|14| 62 |Rcl/4|15| 6.6 | 62|M12x 1.75|M16x 1.5 15|54 |M6x 1 18 |10|14|12| 40| 80| 47 | 95|10|28| 1.26|0.009| 0.05
40 |3@ 4500 7|19| 70 |Rcl/4|20| 11 | 70|M16x 2 |M20x 1.5{20|55 M8x 1.25 | 22 |10|16|12| 46| 96| 52 |118|10|27| 2.01|0.011] 0.10
50 361500 8|24| 80 |Rc1/4|20| 14 | 85/M20x 2.5 |M24x 1.5/24|60|M10x 1.5 | 28 |10|19|13| 58|108| 58 |135|11|28| 2.88|0.015| 0.18
63 |451600] 9|30| 94 |Rc1/4|20| 14 | 98|/M27x 3 |M30x 1.5/33|67 |M12x 1.75| 36 |10|24|13| 65|124| 69 |150|13|30| 4.02|0.021| 0.40
80 |6Q) 80[114|41| 114 |Rc3/8|25| 18 |118|M30x 3.5 |M39x 1.5(36|78 M14x 2 | 45 |15|25|18| 87|154| 86 |185|17|35| 7.49/0.031 0.76
100 | 78] 950122|50| 138 |Rc3/8|30| 22 |150|M39x 4 | M48x 1.5{45|96 M16x 2 | 56 |15]|26|28|109|190| 106 | 230 |26|42|14.26|0.046| 1.50

goooooooooooooooooOo0ono OooooboooOo0oOO0O0b0mOoooOo0oooOoOoooO* 000 ooooo
gooobooooooobooobooooooooboooo

gbooboobooborBOOOOOODOOO
000000CBY14- OFB

000000CBY14L- O FB pooooo ODOO00EE —
A WF ]
KKO O = N
[oe) KN
=/ 2 e -
=
= @
000D B
OE v |piomooo| [P e D0OODOOOO* OO
oTv KKO O 0KL 0o oooOo” oooo
L L 4IMO O . .
ENCYHEEE N T i Hooooooooon
WL? NN o Doooooooooo 00
w Jlahy s s 0010000000000
X \S) 2 00
=1 030000000 00
O == O 000D
SAZENEA AN 0 14
TF c 00
A FBU, UF WF Lwoooooo | E 00
O O
oo| A |c|p| E | EE |F|FB|FE KLLL| ™M |MM|N|PJ|PL| R |TE| TV | UF|WF| Y [0g0fomnafo o o
0o00O0|0oooo 2 ol E
32 [2614000) 7]14] 62 |Rcl/4[15] 6.6 | 62|M12x 1.75]M16x 1.5]15|54|M6éx L | 18 |10|14]12] 40| 80] 47 | 95]10]28] 1.26]0.009] 0.05
40 [3w450 7]19] 70 |Rc1/4[20| 11 | 70|M16x 2 |M20x 1.5]20(55|Mm8x 1.25 | 22 |10[16]12| 46| 96| 52 | 118]10|27] 2.010.011]0.10
50 |35 5000 8(24| 80 |Rc1/4|20] 14 | 85|M20x 2.5 |M24x 1.5[24|60(M10x 15 | 28 [10[19]13] 58/108| 58 |135|11[28| 2.88[0.015]0.18
63 [451600) 9|30 94 |Rc1/4{20| 14 | 98|M27x 3 |M30x 1.5]33]67|M12x 1.75] 36 |10|24| 13| 65[124| 69 | 150|13|30] 4.02|0.021] 0.40
80 |61 800114 41| 114 |Rc3/8| 25| 18 |118|M30x 35 |M39x 1.5/36|78|M14x 2 | 45 |15|25|18| 87(154| 86 | 185|17/35| 7.490.031] 0.76
100 | 780 95022]50| 138 |Rc3/8]30] 22 [150[M39x 4 |M48x 15[45]96|M16x 2 | 56 |15|26]28]109]190] 106 | 2302642]14.26 [0.046] 1.50

oooooooooooooboooboo0 boooooooboobOoobooOOoomoboooboOooobobOOoo*boor bogoo
goooooooooobooboooooooooobooboo

cByl14000oooooooonono 665



gbooobgoboooosbobood

000000CBY14N- 0 SD 0ooooo UOOO00EE ooooeoOoOn
000000CBYI4ALN- OSD A WF pp—
KkOO | L L.C TN T DE FF
©_ W Y A };’"L TL—‘
st 1 Z T/ ‘ 4 w M
=1 I . Ze ? <
®poobp 7 r
Y _PJO 000 Y, «0000VODOODOO0OO0O

2x 409 FBO
¢ FGOOOOBT

© oooooo

vod s e JO000O0O0O0O0* 0000
%& ooootbooooobooo

oobooooooobooooo

S - ooo

= = e Jgl1o0000O0O0OOOO3

LLOD0000 WFOOGQD0 ooooooo

KKO O OKL

KK N | PJ Y O0kg
00| A |AE|BT|C|D|DE| E | EE |FB|FF | FG KL| LL MM~ TV WF——joo0o[E020010 0 0
00000 |ooooo o6 |of |06 (ot 65 ot | ooo |gihgn 0000

32 |2514000 8| 65| 7|14/17.2 | 62 |Rcl/4] 6.6 [01/8] 11 |MI12x 1.75|M16x 1.5/15| 72|18 |10|10/16{16| 47 |10|28/28|1.01|0.011] 0.10
40 |3@450) 8| 8.6| 719|172 | 70 |Rcl/4|9 [01/8/14 |MI16x2 |M20x 1.5/20| 72|22 |10|10|18|18| 52 |10|27|27|1.30|0.014| 0.20
50 |38]500012|10.8| 8|24|21.5 | 80 |Rcl/4| 11 |[J1/4] 17.5 |M20x 25 |M24x 1.5/24| 75| 28 |10|14/19(19| 58 |11|28|28|1.90/0.020| 0.36
63 |451600012|13 | 9]30/21.5 | 94 |Rcl/4| 14 [01/4/20 |M27x3 |M30x 1.5/33| 82|36 |10|16/22|22| 69 |13]30/30/2.89/0.029| 0.80
80 |60 800]12|15.2|14|41| 21.5 | 114 |Rc3/8| 16 [J1/4| 23 |M30x 3.5 |M39 1.5/36| 95|45 |15|19|25(23| 86 |17|35/36|5.36|0.043| 1.52
100 | 78] 950]12|17.5/22|50| 25.5 | 138 |Rc3/8| 18 |[13/8/ 26 |M39x 4 |M48x 1.5/45/108| 56 |15|18|24|24| 106 |26|42|42|9.83|0.065| 3.00
goooooooooooboooboOoADOCOOOCOOOCOOOOOO0OOO00OMDObOOObOOOOOOOCOOOGODOOOOOO
ooooo0ooobo0ooooooo0obooO0ob0ooAdObOOOOOObOOO0OOO0O0OOO0OOO0ODOObODOOOOOODODOO
ooooooooooooobooobon0 0O0CBY140006SD32N10TIL A0OO TO  AT40
0000000000000 000BADOODOOOAD MOO0000
gooooooobooooATOOOOOO

gobooboooooowbooogn
000000CBY140-0LD

00000 0CBY14LN- 0 LD oooooo ODOOOOEE
A_W
KKO O c T
® \ B \ ‘ KKO O O KL
=l o ——" \V>A N’
st N & -
s s 0D0OODOOD
£2000 S 00D00000”
FP _PJOCOOC_ FP vooooood
‘ ‘ ooooooooon
T i 2| DOO0ODOOODO
g— ooooooooo
zL - 5 ooooo
S = Fr
Suoo/l I a8 e 010000000
C c oooo30000
w [ [su| Lzoooooo _|syloooogoo ooo
XS] svoooooo xsoooopo
‘ zzOOODOOOx?2 \
KK 0 Okg
00| A |C|D| E | EE |EH|FP KL|LG| LH [LZ|MM N|PJISB|ST|SU| SV | TS |US|W|XS | zZ [ngonooooo|g o o
0000000000 0 0 0peeet IuoD
32 (2514000 7|14| 62 |Rcl/4| 66 |48|M12x 1.75\M16x 1.5/15112(35+ 0.15 | 72|18|10|16| 9|16/20| 92| 79| 94|10/20 |132| 2.1 |0.011| 0.10
40 (300 450) 7|19| 70 |Rel/4| 725[47|M16x 2 |M20x 1.5/20|112|375+ 0.15| 72|22 |10|18|11]20(20| 92| 90|108|10{20 |132| 2.72 | 0.014 | 0.20
50 [351500) 8[24| 80 |Rcl/4| 85 |53|M20x 2.5 |M24x 1.5/24|125(45+ 0.15 | 75|28 |10|19|14|24|25/100|104 |126|1123.5/147 | 4.33 | 0.020 | 0.36
63 |451 600) 9(30| 94 |Rcl/4| 97 |55|M27x 3 |M30x 15|33|132|50+ 0.15 | 82|36 |10|22|16|30|25|107|121|146|13|25.5/158 | 6.19 | 0.029 | 0.80

80 |6Q 800]14 41| 114 |Rc3/8|117 |65|M30x 3.5 |M39x 1.5/36|155/60+ 0.15 | 95|45 |15|25/18|35|30|125|144|172|17|32 |189|11.22 | 0.043 | 1.52
100 78] 95(122/50| 138 |Rc3/8/1400 |77|M39x 4  |M48x 1.5/45(178 |71+ 0.15 |108|56 |15|24|22|43|35143|174|20826|43.5/230 | 19.82 | 0.065 | 3.00

goooooooooooboooooooOo0Ob0 oooooOoooooooOoboOomooooOooooOo* oo oobooooo
goooooooobooobooooooobobooon

666 cBy14000opoooooonog



googoon

ooooboooooborAOOODOOOoooon
000000CBY140-0FA
000000CBY14LN- O FA oooooo — 00000EE
A VI WD -
KKO O C
© B _ \75 KKO O O KL
- P4 N D' 4
2 o E
S
[RERERE®)
OE |y, PIOCOOOL Y, | s 00000000 OO
TV ”
= KKO O 0 KL P oooooor 0ooo
= o = 0oooooooooon
© s oooooo0o0000
g e 001000000000
s 0030000000
goadb,
I.C c
W rF LLOOOO0O0 WFIZI DDDDQ
KK O00kg
oo| A |C|D| E | EE |F|FB|FE KL|LL| M |MM|N|PJ| R |TF| TV |UF |WWF Y [qopg[eooonfoog
00000 (00000 00 0|g8bo (0000
32 [2614000 7|14| 62 |Rc1/4|15] 6.6 | 62|M12x 175/ M16x 15(15| 72|M6x 1 | 18 [10|16| 40| 80| 47 | 95|10/10|28| 1.63]0.011]0.10
40 [3W4500 7|19 70 |Rcl/4[20 11 | 70|M16x 2 |M20x 15/20| 72|M8x 1.25 | 22 |10|18| 46| 96| 52 |118|10|10|27| 2.46|0.014|0.20
50 [3615000 8/24| 80 |Rcl/4|20| 14 | 85|M20x 2.5 |M24x 15|24| 75|M10x 1.5 | 28 10|19 58|108| 58 |135|11|11|28| 3.50|0.020|0.36
63 |451600 9/30| 94 |Rc1/4/20| 14 | 98|M27x 3 |M30x 15/33| 82|M12x 1.75| 36 10|22 65|124| 69 |150|13|13|30| 4.91|0.029|0.80
80 |601800114 /41| 114 |Rc3/8|25| 18 |118|M30x 3.5 |M39x 1.5(36| 95|M14x 2 | 45 [15|25| 87|154| 86 |185|17/17|35| 9.13|0.043|152
100 |78 95(022|50| 138 |Rc3/8/30| 22 |150|M39x 4 | Md8x 1.5/45|108|M16x 2 | 56 |15|24|109|190| 106 | 230|26|26|42|17.06|0.065|3.00
000000000000000000000 000000000000000000000000000* 000" 00000
000000000000 0000000000000

100000CBY14LN) |ooooooooooooo |
ooooo RV 00000000000000000.4Nm
| B
U;&\ 77777 ux2
«00100000000030000000
ooooo
oooooooooo
. . voo 000O000O02mmO
e s
T - 0000 T00 00
el mlngptigtyusd DD
UX1 UXx2 DD
1.0000000000000000000 014
«J0100000000030000000 00000000000000o00oon 00
-« 000VODODDOODOOUXI0OO 2.0000000000000000000 00
0000000000000000000 00
= 000 ooomm ® 0000000 0O00mm oooog
oo UX1 UX2 0y 0ooo 000 3.0000000000000000000 0o
oo | ®Y [pomloomloomloom —= T 035 oE 0000000000000000000
32 [ 37 | 19 [ 19 | 17 | 35 32 e
4.0000000000000000UXO0
40 | 41 | 20 | 20 | 17 | 34 40 000000000000000000
50 | 46 22 22 20 35 50 |10017|200 | 408 |100 5.0000000000000000000
63 | 54 | 24 | 24 | 25 | 40 63 0OoooOooooooo
80 | 63 | 30 | 30 | 30 | 47 80
00 | 75 | 36 | 36 | 42 | 53 100 6014|200 | 609 | 100 oooooooooooooooooogn
0000000000000 000O00
0OouxX0OO0OOO0OO0OO000O00000000000o000o0o0essdn 00000000
000000000000

cByl14000oooooooonono 667



O0oooo s 000
d 3 000 | oooo d B C h
32 | LNH-16F-H | M16x 1.5 | 22 | 254 | 10
f \ 40 | LNH-20F-H | M20x 1.5 | 27 | 312 | 12
\\ J © 50 | LNH-24F-H | M24x 15 | 32 | 37.0 | 14
63 | LNH-30F-H | M30x 1.5 | 41 | 47.3 | 17
80 | LNH-39F-H | M39x 15 | 55 | 685 | 20
- o 100 | LNH-48F-H | M48x 1.5 | 70 | 80.8 | 26

gbbooooboboodan
0O0000000CBY14

e 0032

oOoooooooooceByi4al
e 0032

® @

L

® .‘
u

1

raasg

e 00400100

\DDlOODDDDDDDDDDSDDDDDDD

668

= JOO0OO00O0" e bobobooooooceBy140Lb-6
ooooooooon
oo ooooooo oooo oo 2 20 50 63 80 100
16 (00000000 |000000000 O NCHY032 | NCHYD40 | NCHYO50 | NCHYI63 | NCHYI80 | NCHYI100
17 (0000000 ooooooooo O UHRI18 UHRI22 | UHRI28A | UHRI36 UHRI45 UHRI56
18 (000000 ooooooooo O DHSI18 DHS[22 DHS[I28 DHSI36 DHSI45 DHSI56
19 |[00000o000|000000000 O GI25 GI35 GI45 GI581 00 GI75 G095
= JO0ODO0OO0O* 3 O00000DCBY140LE-3
oooooooooo
oo ooooooo oooo oo 2 20 50 63 80 100
16 (00000000 goooo O P026 PI34 Pl44 PI53 PI70 PI90
17 (0000000 goooo O UHRI18 UHRI22 | UHRI28A | UHRI36 UHRI45 UHRI56
18 (000000 goooo O DHSI18 DHSI22 DHSI28 DHSI36 DHSI45 DHSI56
19 |[D00ooooood ooooo O GI25 GI35 GI45 G581 00 GI75 GI95

goooOoooOOOHsOOO

cBy14000ooooooooon




googoon

uboobooboooodo
00000000CBYIAN

e 0032

o [J[0400 100

0000000000CcBYI4LN

e 0032

o [J[0400 100

‘\DDlOODEIDDEIEIDDEIEI3DEIEIDDEID

N

s 000000 6" OO0O0OO0O00O00O0CBY140LON-6 00
O0o000000oon O O

e Hoon Qo 32 40 50 63 80 100 OO
16 (00000000 |000000000 | O | NCHYI32 | NCHYD40 | NCHYD50 | NCHYI63 | NCHYI80 | NCHYI100 O 14
17 |00O0oO0o00 0ooooooon 2 UHRD18 | UHRO22 | UHRI28A | UHRI36 | UHRI45 | UHRI56 0 O
18 |00O00O00 0oooooooo 2 DHSO18 | DHSO22 | DHSI28 | DHSI36 | DHS045 | DHSO56 0 O
19 |[D000O0o000|000D0ooo0on 2 G125 G135 G145 G5 00| GI75 G195 E E

= JO00000" 3 000000CBY140L0ON-3

ooooooooono
oo ooooooo oooo oo 2 20 50 63 80 100
16 (00000000 goooo O PI126 P34 P44 PI53 P70 P90
17 (0000000 goooo 2 UHRI18 UHRI22 | UHRI28A | UHRI36 UHRI45 UHRI56
18 (000000 goooo 2 DHSI18 DHS[I22 DHSI28 DHSI36 DHSI45 DHSI56
19 |[D0O0oOoooood ooooo 2 GI25 GI35 GI45 G581 00 GI75 GI95

goooOoooOOOHsOOO

cByl14000oooooooonono 669




670

Joogoodgboogdon

Mini Series Hydraulic Cylinders
goobooooboooboobOooooboooDOobOoobDOobOobooDobooog

gooooooooooobbooooooobooooooon

goboooooooooboooooooboooooboboooooobooboooooo

gooooo

goboooooooooooooboooOoboOOobOOOoOooooOobOOOOoOoOoOooobooboo

oooooooooo

Jsonoooo
FeNe] Fo]
| | I I
gooooo goooOoo

» JOO00O

ooooo Swi100x 00 KMODOOOx OO KWIOOOx OO
ooo 000000000000 000000000001 000000000001
O 00O O O O mm 200 250 30
O O0O0O0OO0TOOao STO LBO FAD CAO TAO TB
O O O O O O MPa 35 7
00000 O 0''MPa 5.3 105
0O 0 OO0 0O O OO MPa 5.3 105
O O O O O O MpPa 0.3 0300 °
0O 0O O 000 OO0 O 0100 0 60 0100080 0100 0 60
O 0 O O O O 300 mm/s
O 0 O O O O 10 mm/s
O0DO0Ooaoaooaonb? 300 mm

U1 0000000000000000000000000000000000000000
02 0000000000000000000000000000O00O00O000O000O0000O0
s 0000oooooooooooosmMpPaO 0000000

gooooOooooooooooOoobooOobooOobOOooboOooobooOoo

goboooooooooon




goood

000000000000 000NMm
oooo ooo
LLuoo ISHEEEE 1 20 50 100 200 500 1000 2000 5000 1000015000 o 000
| || | 1] || | 1] | || | 1]
A1 A2 | [ [
| | |
oooao MVH1 |MVH2IMVH3IMVH4 14 —
L \ \ \
1B2 | | |
DANFOSS 63 ]
o}
00o0oo w‘fg ] om0 21 672
MVHOOOOOOOOOOOOOOOOOOOOOO0000000000000000000000
ooooon
00000000000 ONm
D000 '\ ppp looo
ooooO Jsooooo 15000
1 2 5 10 20 50 100 200 500 10002000 500010000 DSAEaD 0000|000
| L L] | - L | Ll
s RN32 v | 2v |
280°0) 1V
RNOOOD i%% N33 V] 2v] 7 ool 2y 674
L \ \ \
0ooooooo jD:% S125 1V oV | 21 |210°0 1V 678
S250 vV ] 2V | 90°01 2V

goooo/00000

671



YUREN

DANFOSS U O0O0doogonnd

Low Speed High Torque Hydraulic Motors

Sauer DanfossD 000 0000000000000 O0O0COO0O0OOOOOCODOO

oo

gobibe00O0000OOOODOOOOO0OODOOOODOOOOOO0OOODOO
goboooooooooooboodoooboboooobooooooooooooon
goooooooooooboOoOoOoooobooboOoooo

m OOoQgg

gggo| Dooo |Dooooooo ooooo ooo
goooO0 (ooog MPa MPa Nm r/min

3

o/ oloo|ooo o olooolo o loo|od
OML 8 8.0 7 13 | 2000] 2500
OML 125| 125 11 20 | 1280 1600
OML 20 | 20025 |10 70 125 18 32 | 800|1000
oML 32 | 320 29 51 | 500| 625
OMM 8 8.2 11 15 | 1950 2450
OMM 125 129 100 16 23 | 1550 | 1940
OMM 20 | 19.9 | 140|175 : 14.0 25 35 | 1000|1250
oMM 32 | 316 40 57 | 630| 800
oMM 50 | 503 7.0 46 88 | 400| 500
OMPD 50 | 486 93 120 | 1230] 1540
OMPO 80 | 778 150 190 | 770| 960
OMPO 100 | 97.3 14.0 175 190 230 | 615 770
OMPO 125 | 125.0 240 200 | 480| 600
OMPO 160 | 155.7 | 175 | 20.0 300 370 | 385| 480
OMPO 200 | 194.6 115 1500 | 3000 | 380 | 310| 385
OMPO 250 | 242.3 900 | 1250 | 3000 | 4100 | 250| 310
OMPO 315 | 306.1 750 | 1000 | 3000 | 3900 | 195| 245
OMPO] 400 | 389.2 600 | 807 | 3000 | 4200 | 155/ 190
OMRO 50 | 516 140 175 100 130 | 775] 970
OMRO 80 | 803 195 220 | 750| 940
OMRO 100 | 99.8 175 20.0 240 280 | 600| 750
OMRO 125 | 125.7 300 340 | 475| 600
OMRO 160 | 159.6 | 175 | 20.0 | 1300 | 1750 | 3001 | 390 | 375| 470
OMRO 200 | 199.8 1100 | 1407 | 3000 | 3900 | 300| 375
OMRO 250 | 249.3 807 | 1100 | 3000 | 3807 | 240| 300
OMRI 315 | 315.7 700 | 1000 | 3000 | 4200 | 190| 240
OMRO 375 | 372.6 5.5 857 | 3000 | 4300 | 160| 200
OMH 200 | 201.3 175 20.0 510 580 | 370| 445
OMH 250 | 252.0 175 20.0 610 700 | 295| 350
OMH 315 | 3149 | 200 | 225 | 135 | 1551 | 590 | 6700 | 235| 285
OMH 400 | 396.8 105 | 1257 | 5900 | 7000 | 185| 225
OMH 500 | 470.6 857 | 1000 | 580" | 6807 | 155| 190
OMSCI_ 80 | 805 175 21.0 200 240 | 810] 1000
OMSO 100 | 100.0 175 21.0 250 300 | 750| 900
oMSO 125 | 125.7 175 21.0 320 380 | 600| 720
OMST 160 | 1597 | . || 150 21.0 340 480 | 450| 560
omsO 200 | 2000 | “t° |20 140 175 400 500 | 375 450
OMSO 250 | 250.0 125 155 450 540 | 300| 360
oMsO 315 | 314.9 12.0 14.0 540 630 | 240| 285
oMSsO 400 | 393.0 105 120 560 640 | 190| 230
OMTL] 160 | 1611 20.0 24.0 470 560 | 625] 780
OMTO 200 | 201.4 20.0 24.0 590 710 | 625| 750
OMTO 250 | 2518 | o\ | o | 200 24.0 730 880 | 500| 600
omTO 315 | 3263 | <10 |20 200 24.0 950 1140 | 380/ 460
OMT 400 | 410.9 18.0 210 | 1080 | 1260 | 305| 365
OMTO 500 | 523.6 16.0 180 | 1220 | 1370 | 240| 285
OMVD 315 | 3145 20.0 24.0 920 1110 | 510 630
OMVI 400 | 400.9 20.0 240 | 1180 | 1410 | 500| 600
OMVO 500 | 499.6 | 21.0 | 250 | 200 240 | 1460 | 1760 | 400| 480
OMVO 630 | 629.1 18.0 210 | 1660 | 1940 | 315| 380
omvO 800 | 801.8 16.0 180 | 1880 | 2110 | 250/ 300

pgoooooooooooooooooooboooooobooooo

672

DANFOSSO O OOOOOO0OO0OO0OO0OO0O000O0o0oooooooooooonon0oooo

Y

Jisoooon

ompPO OO

= Jogooooo

ood
OMTO WO 1600 151B3024

[DDDDDD]

ooooooogo
(cm¥rev)

ooooo
gomsoomMTOoMvO O oo
ooooooooo
ooooooooo
goooooooo

—O0Ooo0o00d

'00o0000000o0O0ODO0DoD
ooooooooooobooooo
poooooo
pooooooooooboo

DANFOSSOOOOOOOOO0OO



googoon

goooooobon

= JOggogad
oooooo..... IsovGa200046000000000000
ooooo... gooooooooooooO0o0oobooOo0o0oOoO0o0o0oboo0o0oooo0o0oobooO000o0O000000000
oooooOoooOooooOoooOoOooOoOoOoboOoOoboOOobOO0OO0OOrROObOOOCODOOOOOOn
oooooo.... oo0oooooooo

= JOO0Oooboon
OOooooooz0d40mm/sCO0o000 700000000000O00O00O0O0O0OO0OOO

ooobooboboobood

= 0JOgd
gooooooooooooooo

oooo (Doomooooooo

goo« A oooo
ooo- B ooooo
go0o0ooooooooooon
m 0JO00
000000000000 00000000000000Dooononooon
0000000000 DDOO00O0oDooOoooono Dooooooon

= JO0O00oOooOobobooooo
goooooooooboooooooooOobooOoOoooOoOobobOOoOobbOoo
pgooooooooooooooooOoOobooOoOooooOoOoooboOooBboOn0o
goooo

oooooao

= JOgOooog
gooooooooo0ooooooooOoooOo0ooooooooooOnoo Oooooo r
goooooooooooooOooooOooooooooboooooooog 0ooooo E?;ﬂ L N
jo00ooOoooOoooOoooooooooo L &=

» OO0 ilg_ﬂ Looooo
goooboooboboobobooboboobboooobooooooooo — — - [
TIRO Total Indicator Readingd 0.05 mmO 00000002 ODOOOODOO

AL X ooooo nooooo

goooooo oooooo

gobooooboboooooobooooooboooooooboboooooo
gooooooooooo y

il
= 0000 rM:]:@DDDDDDDDD
0000000000000000000000000000000 0
00000000000000000000000000000000000 noooo
(
A

W ooooo
0o00oooooooog
ODa bO00DO0DOOOODODODOOOODO
oooog 000000000000000000000000
— 00000000 D00O0On
O0cO00DO0O0O0O0DOOOODOODODOOO
— ooooog
OOa oooo
goooo W
gooooogogooooo —V{ ”W" l
3 ToYorood
K7
X
LN ‘
v ; ooooo
O0Oc

ooooo 673




YUREN

oot

Rotary Oscillating Torque Actuators

gooooooooooooooboooOoboOoOobOOOoOoboobooOoOOObOOoOOoOooboboo

goooooooooobooooooooono

RNU O OO

"RN" Series Rotary Oscillating Torque Actuators

gooooooooooooooooOooboOoOobOOooooboooOobOOOOoOooooooboo

goobooooogod

4 N\ 4 )\
| J | J
0ooooooog 0oooooo
m JO0O0
oooo
0000 |goooooo D00 ) Ord \qppg| 0000 |gooooo
oooolboooo |oooo0 0oooo K
ooooo 0000 \gpooooao oooolo o o oOoono Ooooano g
oooo 0007 MPald
MPa |0000000 5 amiragl  MPR em/min MPa |[O0ODOO|0OO
C LTEARS O0O|ooo
RN 3201VvI0 SKI10 280° 150 31 0.35 . 9.6 9.1
RN 3202V10 SKI10 . 0oooo 100° 110 62 0.2 ) 9.8 9.3
RN 3401V1 0 SK040 ooooo 280° 300 62 0.35 5 128 | 123
RN 34012V10 SKI40 100° 220 124 0.2 132 | 127
e OJO0O0O0O00O00O
RN32 01v OF S K 010
Jisbooono
oooo oooo
ogog |0B0OoO0 | 0ooo 00D DO0DO0O0DO |50 //_u_l_u
RN32 |VODOOOD |(FOODOO 10
ooo 0oo
soooo KOooooo N
o000 |[Loooo L

ooooooooooooooooOboboOObOOOObOObObOOOODODbODOOBOBDO
oooooooboOooboOoooooooOooooooooooooooon
orIDO0OO0OO0OO0O0O000000

674

RNOOOOOOOOO



googoon

= JOooooooon

1000

B RN34-2V
700
500 B
RN32-2v
400 |- —— RN34-1V
300
]
O 200 /]
] - RN32-1V
o = / /
o 150
0 - /
O -
100 /
Nm - //
70 /
50 /
30 /
20
0 1 2 3 4 5 6 7
gooooooOo MPa
= oooooo e 000D0DODDOOOOODO
0000000000000 0000000000000000000 T Lo0O Soooooo
0000000000000 0000000000000000000 ooo
ooo | 0oo oooa
000000000 0D0O0000On
0000000000000 00000000000000oonoonn 3 5 8 12
oooooo
ooooooo
50
30 \
20l \
o1 - \
0 S:DDDDDD;\\ \\\x< TRy
0 b - N o~ T~
3 m~DDDﬂ' N\
D “foomoomo | N[ [ T —
[ T RN34-1V
RN32-2V
oomoomao
5 777777777777777777777777 _— -
i
3 *ELD,D ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, > RN34-2V
2
0 1 2 3 4 5 6 7

0oooOoooo0 MPa

RNOOOOOOOOO 675



ooooooo gooOoono
49 10.50
D ©24000
oooooo c 64
Rctel 00O PTHD ‘ 3 108
C 115 52.6
50 - : 44.6, &
e HI \ T
q i ‘ e
@ B ‘ o] °
< 8 o T p—-— —~ 8
oo N x | I S —
S 1% - -8 | | o | <
< Te]
- , i m \ m HEL
® N N
oooe A = L L
—— K K
Rctel 000 PTEO 23.9
ooor B 0000000000000 0000000000
RcfBl 0 00O PTHO e

Rchel 0 0 0 PTHD

D oooon
E 52.6 158 DoooOoOoo0o0o
8 8 66.7 _ _ 66.7 oooooo
38
[ 2 1 :
™ ! 7 S 1
1B 1 Bles o
o \ M o1 88 g
, So ©
B e 1 e oA 18
BN > a3
] \
; 41050
0000 100% 1°
goooOoOoooo
0000 280% 1°
0000000000
ooooooooooog
ooooo c D E F H J K L N
RN 32 82.6 166.2 52.8 75036 33 %086 105.4 52.8 408 28.8
RN 34 133.4 217 78.2 8,00 | 345,50 130.8 78.2 66.2 54.2

RNOOOOOOOOO




googoon

= JOooooooboooo

RN32/RN34
9 f ®
]
//; | ' /1:/ Bl
<1 4
B | 4 .
|
|
L] |
i if |
T
\@ G
S0 SOEEEEE goooooooooooo gooooood
RN32 RN34 ogoodooo|oooooo
8 oooooono R24010R40173 2 2
9 oooooo R24010R40178 R24020R40183 1 2
10 oooooo R24010R40179 R24020R40184 1 2
11 gooooooooooo R24010R40181 R24020R40186 2 4
12 OOooooooooooo R24010R40180 R24020R40185 2 4
15 ooagdno R24010R40172 2 2
16 ooagno AS568003000 NBR, Hs 7000 2 2
17 oogono AS56802190 NBR, Hs 7000 2 2
18 oogono AS56800320 NBR, Hs 7000 2 2
19 oogdno AS56802110 NBR, Hs 700 2 2
20 Oo0ooooooo R24010RK41005401 2 2
21 goooooooo R24010R40174 2 2

RNOOOOOOOOO 677




Joodogdg

Midget Series Rotary Oscillating Torque Actuators

goooooooooooboOoOooooooboOobOoooo
oooooooooooboobooooooooOOooooboobDboooo

= OJOodad
0000 oooooooooo podu Orad0 OO 0000 0o
00000 0000 ooo oood ooood 0000 0ooo
oooo oooo s kg
MPa ooooooo om® cm®/rad MPa
S12501Vv021 270° 127 2.7 0.35 0.34
S12502v021 90° 8.5 5.4 0.3 0.38
2.1 Ooooooooo
$25001V122 270° 63.0 13.4 0.35 1.04
$25002V122 90° 41.8 26.8 0.3 113
» JOO0O0O0Oooa
S125 01v 021 Jstuooto
oooooo ooooo oooooo
S125 voooooooo 21
S250 2vooooooo 22
000000000000000000000000
0000000000000000000000
0000000000000000000000
O00O0FROOO0OOO0O0000000
S125
S250
E
2 C C F H N oogot A ooof B”
i oooo 3 K P R¢D X, X R¢ b
DDDDDDDDDDDD ooo L ~ OO0OOO0OPT b” OO0O0OoPT b"0O
| F 5 &9
O| 0 ‘ < \b
= ) =l > \ ’ >¢
o 9# [ "9%7 ''''' e \J 9# & 1 I
oo | A
\ =
0000 90% 1° ‘ L e
49d0 \ oooooooon <
0000 270% 1° %,
Q; ®
oo00oooooooo
goooo|c | D | E [FIH|J|K|L|[N|P|Q| s T |U|V|W|X|Y|Z| a |[b|d]| e
S125 [25.4|21.45| 81 |27.4/48.8/22.1|10.7|15|4.8|3.5| 2 | 3055%019,55%%%) 11 [50.8/ 9.5 |10.7|15.5| 4 [1153%2| Big | 55| M55 °
S250 |38.1/31.75(133.3|38.7|87.4/28.7| 16 | 20|7.2|5.2| 3 | 450055 | 1653%6117.5(76.2|15.7|15.9|22.2| 5 | 18555 | 14| 6.6 | M5 ©

678

ooboooooooooon




googoon

= JOooooooon

60.0
50.0

40.0

300 25

20.0

15.0

- / 5250'&\1

: /
10.0 //
7.0 / ///, //géﬁg,
5.0 y
4.0 // ///
3.0 7 / S’\_’L"OA‘\J
2.0 | //
15 |

1.0

OooooogoQg

=z

3

T
AN

0.7

og b1 ¢ by b )
0 0.5 1.0 15 20 21

ooooooond MPa

n JOO0O0O0O0 e JOUODOOOODOOOOO
00000000000000000000000000000000 Joooo
000000000000000000000000000000000 ooo
0000000000000000
000000000000000000000000000000000 3 5 8 12
ooooo

ooooooo
ooo ooo oooo

gooooooo

50 \
40

S
0S.
i \ 250.1 <
20

S,
15 | 250.
Cooooooo v

10 Iy

oooooodg
T
(]
O
(]
O

0 0.5 1.0 15 20 21
OoooooooO0 MPa

goboooooooooon 679



= JO0O00go

S 125
S 250

goooooooooooo

oooooooo

Joeeenn SH25 S 250 oo0o0o0o0o0|0o0oooo
S O O R24140R40036 R24150R40050 2 2
6 O O R24140R40037 R24150R40047 1 2
7 O O R24140R40038 R24150R40090 1 2
8 O O R24140R40039 R24150R40049 1 1
9 O O JIS B 240101A0P11.2 | AS568-118] NBR,Hs700] 2 2

ooboooooooooon




